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2013 291,366 147,539 143,827 114,364 2.5
2012 292,217 147,922 144,295 112,907 2.6
2011 292,750 148,115 144,635 111,921 2.6
2010 293,488 148,455 145,033 110,613 2.7
2009 293,546 148,462 145,084 107.985 27
2008 295,133 149,242 145,891 106,931 28
2007 295,439 149,304 146,135 104,984 28
2006 297,489 150, 153 147,336 103,626 2.9
2005 301,389 152,088 149,301 102,450 2.9
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2014 3,559 2,379 1,180 11.3
2013 3,199 2,008 1,191 6.7
2012 2,998 1,813 1,185 7.5
2011 2,788 1,712 1,076 16.7
2010 2,390 1,430 960 11.7
2009 2,140 1,328 812 4.6
2008 2,045 1,240 805 16.4
2007 1,757 1,066 691 31.5
2006 1,336 829 507 33.3
2005 1,002 566 436 248
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3,357 e— 75~79 )| 5,122
5,188 me— 70~74 M 6,593
6,882 65~69M| 7,231
8,770 60~64M| 8,524
11,547 55~594| 11,341
12,924 50~54A| 12,274
12,683 45~49M| 11,498
12,434 40~44M| 11,213
10,195 35~394 9,320
10,035 30~34M| 8,876
8,439 25~29M 6,718
10,694 20~24M| 8,815
10,688 15~19KM 9,678
8,319 10~14KM| 7,540
6,471 5~9M| 6,186
6,395 0~aM| 6,098
14,000 12,000 10,000 8,000 6,000 4,000 2,000 2,000 4,000 6,000 8,000 10,000 12,000 14,000
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0~4Al 12,493 6,395 6,098 4.3
5~9Al 12,657 6,471 6,186 4.4
10~14 Al 15,859 8,319 7,540 5.5
15~19 Al 20,366 10,688 9,678 7.0
20~24 K| 19,509 10,694 8,815 6.7
25~29 15,157 8,439 6,718 5.2
30~34Al 18,911 10,035 8,876 6.5
35~39Al 19,515 10,195 9,320 6.7
40~44. Al 23,647 12,434 11,213 8.1
45~49Al 24,181 12,683 11,498 8.3
50~54 Al 25,198 12,924 12,274 8.7
55~59Al 22,888 11,547 11,341 7.9
60~64 Al 17,294 8,770 8,524 5.9
65~69 Al 14,113 6,882 7,231 4.9
70~74 Al 11,781 5,188 6,593 4.0
75~79 Al 8,479 3,357 5,122 2.9
80~84Al 5,245 1,593 3,652 1.8
85KI01 & 3,607 732 2,875 1.2
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T = EL A SAE Y| IEETT (OB
2014 40.8 19.8 20.9 105.4
2013 40.6 20.6 20.0 96.8
2012 40.4 21.3 19.1 89.4
2011 40.2 22.1 18.1 82.1
2010 40.4 22.9 17.5 76.5
2009 41 .1 24.0 17.1 71.1
2008 41.8 25.1 16.6 66.2
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2014 2,300 1,195 1,105  108.1 8.0 1,869 1,009 860 6.5 431 1.5
2013 2,424 1,264 1,160 | 109.0 8.4 1,867 1,054 813 6.4 557 1.9
2012 2,572 ¢ 1,264 i 1,308 9.6 8.9 1,980 ¢ 1,093 887 6.8 592 2.0
2011 2,658 : 1,310 : 1,348 97.2 9.1 1,782 + 1,025 757 6.1 876 3.0
2010 2,554 1,345 ¢ 1,209 111.2 8.7 1,797 979 818 6.1 757 2.6
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.+ 2014 OffA|o] MU 44,052HO| 1 MEL 45020

- JEEo HEH H

- HYOM HES

-500

A2 4,763
i 20144

=715t a

[e170IS]

g3 HE2 41978 37t
#0|52 -968F 0|1, MHEO| H|SjM= 5660 S7tgt

SA| AIRIZSAT H3OM

-1,000 -968
-1,101
B -1,429
1,500 1613 -1,534
-2,000
-2,500 -2,491
-3,000
-3,095
-3,500
2008 2009 2010 2011 2012 2013 2014
20|15 (%)
[E 1-7] 230l ol o)
ENE
= =
o = ASLOIE INEESEIE=S AEZLHO|S
SHL SNE =0l A2t —-AlZ232t ANEZ2HNE N2 E
-AlZ232U _
ol HE
2014 44,052 45,020 -968 30,608 4,040 4,689 9,404 9,723
2013 39,289 40,823 -1,534 26,110 3,756 4,690 9,423 10,023
2012 37,349 38,450 -1,101 23,676 3,831 4,087 9,842 10,487
2011 43,806 45,419 -1,613 29,615 4,080 5,059 10,111 10,745
2010 44,396 47,491 -3,095 31,100 3,736 4,875 9,560 11,516
2009 44,087 46,578 2,491 29,944 3,932 4,876 10,211 11,758
2008 48,923 50,352 -1,429 34,109 4,113 4,545 10,701 11,698
2007 45,221 48,648 -3,427 29,937 4,184 5,163 11,100 13,548
2006 45,626 50,432 -4,806 31,077 4,181 5,294 10,368 14,061
2005 50,449 55,208 4,759 35,770 4,404 5,708 10,275 13,730
% =25 @ SHE, 2UUR0SE
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=B MBI B0t z2
2014 431 -968 -537
2013 557 -1,534 -977
2012 592 -1,101 -509
2011 876 -1,613 =737
2010 757 -3,095 -2338
2009 673 -2,491 -1818
2008 682 -1,429 =747
2007 995 -3,427 2432
2006 714 -4,806 -4092
2005 660 -4,759 -4099
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DI”U% 17.3%, 710 0|0, 3.9% 0|2

- 200t KA ALO['OfA TIAIZE Of&b, CHSFAIZHS 37.2%, 302~1A[Zt O|2H 2 314% M10£~30
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o
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eI N
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e g o
AT QI HE ALO] I- 27.7 51.1
83.6
0% 20%  40%  60%  80%  100%
7HE 3t A2 ot 7p=3at et &1 x| et m 105 O]9 W105~305 O]9 W 3058 ~1A| ZF O]9k = 14| ZF O] A
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2H47tF 19,0 66.1%= 7t =A LiEtGD 23,0 26.7%, "3H,0| 6.0%, 49F,0
1% &9 2 LEtL
SEEES F'='7-|7f—’F—O| QICH, = B=E2 '50-59A|'7t 52.8%2 7t =1 40-49M| 7}
31.3%2 C}20|
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=Ll 100.0 33.5 100.0 67.0 22.6 8.7 1.6 66.5
M =P\ 100.0 28.3 100.0 65.3 28.3 5.2 1.3 71.7
= O Xt 100.0 28.8 100.0 68.8 22.0 8.6 0.7 71.2
15 - 29A| 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
30 - 39Al 100.0 10.5 100.0 87.3 5.3 0.0 7.3 89.5
ol 40 - 49Kl 100.0 31.3 100.0 72.3 23.2 4.5 0.0 68.7
50 - 59Al 100.0 52.8 100.0 56.4 35.0 7.6 0.9 47 .2
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60Al O & 2.1 1.2 1.9 3.0 5.6 0.7 0.0
65K O A 2.3 0.5 2.0 2.9 5.0 0.4 0.0

¥ EXM 20158 Ol==Al At=l XAt
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12 - 24 ¥ ®(

NE &0 99 5 HOOHs Z2IEe
rAZWANZMO, SR S) &0is It IR =0}
- TSR, X S) Hou= 262%2 7Y =0t

- CHOR TRHUEAL 7E 7.5% TORSLIR Of% 77| ARl 85, 49%, TFRIAM ME Z2I3,
41% =2 2 LIEIL

- QLM AFOOL =OrE+E THOSC O HE0| HAdte des 2. 15M-29M'=
|..

FEHO{BHCH, 7} 61.0%0|X| Bt ‘65M| O]A'2 28.5%2 20| Xto|7}
- o 15-29M'= TAHRS ARV CHE AL HSH =5

[AIE 20 EEH]

60 53.2
50
40
30 26.2
ig 4.9 4.1 7> 2.9 12
0
F7b7] FURKAEY  KASAE BESHS E ADHHE 2B EA
ARIZS Z20
Eofgtct S{CECI N
2=LCt
[E 12-24] AIE &0 e (9l : %)
A& Z0f Sl
2t=38H
T = Z OBt St T HAsE | AIBIRICH ;%.“czﬂlc;_}'“ Eoler
==t J| _'f_"Ei A& S A 22 s =7S) JIEt [ 118
ARI2S oz )
=0
e 2015 46.8 4.9 4.1 7.5 2.9 1.2 26.2 0.1 53.2
CT S5 50.4 5.2 4.4 8.7 3.5 1.3 27.2 0.1 49.6
SH=2 32.1 3.8 2.5 2.4 0.5 0.8 22.1 0.0 67.9
e =P 48.0 6.4 3.4 7.5 2.3 1.8 26.6 0.1 52.0
O At 45.6 3.4 4.8 7.4 3.5 0.6 25.8 0.1 54.4
15 - 29A| 61.0 5.8 2.4 15.5 3.8 0.7 32.9 0.0 39.0
30 - 39Al 49.8 5.8 4.0 5.3 3.0 1.5 29.8 0.4 50.2
o121 40 - 49AMI 46.1 3.3 4.5 7.6 4.0 1.6 25.2 0.0 53.9
50 - 59AI 47.8 7.7 5.7 5.8 3.3 1.2 24.4 0.3 52.2
60A O] 4t 32.4 2.8 4.0 3.3 0.8 1.2 20.2 0.0 67.6
65K 0] 4 28.5 1.6 2.9 3.4 0.6 0.8 19.1 0.0 71.5
¥ EX 20159 O==Al AFSIEAL
¥ =3
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== 20151 O{RA| ARUZIAT HTIN

12 - 25 551 384 B9 25%a fg 24K
USSul 3% 2IXE= TO=Al 20 1SSl Jt =0t

- TOiSAIAT) DESE 7t 802%2 JHY Ho| WS

- Loz YR 085, 71 7.5% "ME 47(XY 1SS, 7t 58% TeMAILK 1SS, 33%
EFXY 25t 32%=2 oAl &% nsstuo Bgf 02 HUS

- GO APV HO0LEST MHHAS2 TolA|AX A5t of Tl = dgE 20[2 U4
M2, Z7IKY nEstm, 2 Nt RIS 303947 I BN

El

[E&tw 3stE XHEHS NSstn s AKX ]

100

80.2 80.2
80
60
40
20 42 33 58 7.5 36 32 6.0 5.8
0 — — — — —
Of = Al 2 TH =AY HEEUW ISEL EFX Y n5stn M2, E7(XY
nESS i g kS
20134 m 20154
[E 12-25] =stw 38t XHHQl nsSstn Xst AXHX (2 %)
st 38t XHC NSstn &S AKX
2 =2 la=AIATH =& Al AT el 23X Ag, FIIXS et
nsstn nsstn ni=t-5m} nsstn ni=t-3m}
2015 80.2 3.3 7.5 3.2 5.8 0.0
=} 2013 80.2 4.2 5.8 3.6 6.0 0.3
2011 74 .8 5.4 8.5 3.9 7.1 0.4
= 79.1 2.9 8.0 3.6 6.4 0.0
e
S0 84.8 4.9 5.2 1.7 3.5 0.0
=P\ 78.7 4.0 8.4 3.5 5.4 0.0
o4
O Xt 81.9 2.5 6.4 2.9 6.4 0.0
15 — 29A 76.5 2.8 7.7 5.3 7.6 0.0
30 - 39A 73.4 5.1 10.2 3.0 8.3 0.0
o124 40 - 49A 74 .1 3.8 12.3 4.1 5.7 0.0
50 - 59Al 80.9 2.9 6.6 2.6 6.9 0.0
60Al Of & 91.7 2.5 2.6 1.2 2.1 0.0
65A1 O] & 92.9 2.3 2.1 1.1 1.6 0.0

¥ EXM 0 20158 Ol==Al At2l XA
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- 26 4 A2 % ¥ 0g
OI$AIT 10HS 9HS Tt Alms ZY0l U0

- X At ZFE 6F7F "UACH 7t 91.9% Wi =A| LIEHE
- AQEolA B8 s TRUCE7H 96.6%Lf EIYD ‘SRRE 66.1%2 2 A0|7}
- AL OR0lE B 25,0 591%E HCE AX(SIGln CHge2 Middsts, 168%,
"OiXS Bt 104% A4Sl 2T, 87% o2 LIEH
ALHN SRE 328 23%L 4322 HUYL0 182%2 § W2 FAAU
ﬁ o

Cbgez A9 2747 122%2 & HMZ =043

L}
D

J

[XIH ARS 2™ 012 [XtH At S 0IR]
70 59.1
60
aict 50
8.1 40
30 16.8
20 g7 104
10 2.6 2.4
ALt 0
91.9 3ng M¥sy w3 AEe o5 HEO
58S suts St
AHZHO|
2101
[2 12-26] T ARS ZE 02 ¥ ADS 0IR (&9 : %)
IH ALS 28 o 2 ALS 01
o ETnTE
T = ACH BRR | g | EUE | TGS MIs | Ysol et
BEsty N0 7 stey SHLIH
AN A
oce | 2015 91.9 59. 1 16.8 2.6 8.7 10.4 2.4 8.1
qew | ST 9.6 58.2 18.2 2.5 8.2 10.8 2.1 3.4
goig 66. 1 66.7 5.6 3.3 12.2 7.3 4.9 33.9
m G Xt 93.7 58.5 16.8 2.5 9.1 10.6 2.5 6.3
Of Xt 81.3 63.9 16.7 2.9 5.8 8.6 2.1 18.7
15 - 29K 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30 - 39Al 95.3 36.3 20.3 1.2 11.0 18.8 2.3 4.7
oz | 40~ 4O 92.4 65.2 16.0 0.0 7.7 8.0 3.0 7.6
<7 | 50 - 59 91.0 69. 1 16.5 0.0 10.0 4.4 0.0 9.0
60Kl Ol 4t 55.5 70.2 0.0 0.0 0.0 29.8 0.0 44.5
65K Ol At 50.0 100.0 0.0 0.0 0.0 0.0 0.0 50.0
% B 1 20159 OZAl AFGIZAf
% Kb 1E( 14, 8. 24, ~ ° 15. 8. 23.)
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12-27 987 NESH X

mS

O

x

g 2

ol
!

‘,_.__'3 20152 %ipA| AIZIZEAL 31N

r20~40TH, 9| Atusdl XI=01 JHS &0

- AET AugH| X|E UM T20~40TH 2 273%E 7} =A| LtERE

- T20~400t%), C}2OF T40~600+ | 234%, 202+l O]t
r60~802+S, 10.4%, T1002tYl O|Al, 8.6%

A
=

OS2 LtEfd

18.5%, 80~100%t3; 11.7%,

- '2013H'0fli= T20~402FR, 31.2%, "40~600tHal, 18.7%, "60~80TFR, 16.2%, 208k DO|2H, 154%
#=O&F 20154 't XIO|E =2

- Rloy

M 'SF'=

F20~408t2l 0| 26.8% 7}% =X|

td =0t X0|§ EY

35
30
25
20
15
10

[BEZ AuSH XE SH

20~408H2]

40~602+2

[a—

60~802+&

2013H m20154

80~1002t2

8.6
53

1008+2] O] 4}

OF 'SHE'= 2082 OJ2H 0] 45%2

[E 12-27] 282 ANLKH UE 2% (B9 ¢ %)
2EZ MusHl NE SH
S
208t 012t 20~408H3 40~602+H3 60~802+H& 80~1002t& | 1002+ Ol &t
2015 18.5 27.3 23.4 10.4 mn.7 8.6
AT d¥ 2013 15.4 31.2 18.7 16.2 13.2 5.3
2011 19.2 32.6 25.5 12.0 6.7 4.0
e S5 15.3 26.8 24.9 1.1 12.9 9.1
s9F 45.0 31.6 10.8 5.1 2.5 5.0
o =Py 18.7 25.6 25.8 10.7 12.3 7.0
oT 01 At 17.3 39.4 6.4 8.9 7.9 20.1
15 - 29A 0.0 0.0 0.0 0.0 0.0 0.0
30 - 39Al 32.5 271 26.2 4.6 6.3 3.3
o124 40 - 49A| 12.9 27.8 19.6 14.2 16.5 9.0
50 — 59Al 20.0 19.6 39.4 3.9 0.0 17.2
604l Ol & 23.4 76.6 0.0 0.0 0.0 0.0
6541 0] & 48.5 51.5 0.0 0.0 0.0 0.0
¥ EX 0 2015H Od==Al Ab2I AL
 Ad 18 14, 8. 24, ~ 15, 8. 28))
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‘;'.__E.' 20152 %ipA| AIZIZEAL 31N

. %)

1-1] o249 A+ (&9l -
Z01249 A2
S
Eoln K TH =
X QIR 01Xt QI
2014 290,900 147,346 143,554 116, 100 2.5
2013 291,366 147,539 143,827 114,364 2.5
2012 292,217 147,922 144,295 112,907 2.6
2011 292,750 148,115 144,635 111,921 2.6
2010 293,488 148,455 145,033 110,613 2.7
2009 293,546 148,462 145,084 107,985 2.7
2008 295,133 149,242 145,891 106,931 2.8
2007 295,439 149,304 146,135 104,984 2.8
2006 297,489 150, 153 147,336 103,626 2.9
2005 301,389 152,088 149,301 102,450 2.9
® BX  AZNAL
% 220l H e
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I 1-2] =90l o el g %)
Q=ol ol
I B
=20l =Pl
o X} of X+
2014 3,559 2,379 1,180 11.3
2013 3,199 2,008 1,191 6.7
2012 2,998 1,813 1,185 7.5
2011 2,788 1,712 1,076 16.7
2010 2,390 1,430 960 11.7
2009 2,140 1,328 812 4.6
2008 2,045 1,240 805 16.4
2007 1,757 1,066 691 31.5
2006 1,336 829 507 33.3
2005 1,002 566 436 24.8
L EFERES
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I 1-3] g & 49 o (&2 &, %)
ol o Ay ol
-
p.| A
X} Of Xt

20144 290,900 147,346 143,554 100.0
0~4Al 12,493 6,395 6,098 4.3
5~9Al 12,657 6,471 6.186 4.4
10~14Al 15,859 8,319 7,540 5.5
15~19Al 20,366 10,688 9,678 7.0
20~24 Ml 19,509 10,694 8,815 6.7
25~29 Ml 15,157 8,439 6,718 5.2
30~34All 18,911 10,035 8,876 6.5
35~39All 19,515 10,195 9,320 6.7
40~44 M| 23,647 12,434 11,213 8.1
45~49 K| 24,181 12,683 11,498 8.3
50~54 Al 25,198 12,924 12,274 8.7
55~59 Al 22,888 11,547 11,341 7.9
60~64 Al 17,294 8,770 8,524 5.9
65~69 Al 14,113 6,882 7,231 4.9
70~74Al 11,781 5,188 6,593 4.0
75~79Al 8,479 3,357 5,122 2.9
80~84 Al 5,245 1,593 3,652 1.8
854101 &t 3,607 732 2,875 1.2

% 22X 0 BHELXE
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D %)

(et

<+

ol
50
A

ok

&

0}
0

ok

iy

o0
I+

L= NES

105.4

96.8

89.4

82.1

76.5

71

66.2

|

20.9

20.0

19.1

18.1

17.5

171

16.6

19.8

20.6

21.3

221

22.9

24.0

25.1

s

o0
g
K0

40.8

40.6

40.4

40.2

40.4

41

41.8

IH

2014

2013

2012

2011

2010

2009

2008

FHI=(0~14Al 215/15~16Al 21) X100
FHI=(65A1 Ol&H 2171/15-64A1 ©151) x100

FXI2==(65A1 014 2172/0~14A 215) X100

<4

o___” o0

o IF 20

o0 M I o
IF 4 ™ w0

—_ o~ o~ o~
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[E 1-5] 24 2 A (Et9] 2, %)
542 A2
2 8
~ TEME 0F o A ENLE | [ASIH | HASIIE
e SR oI X 249 | (aag) | ME2S o\ of Xt (HEg) 2= (Mg e)
2014 2,300 : 1,195 1,105 108.1 8.0 1,869 1,009 860 6.5 431 1.5
2013 2,424 . 1,264 1,160 i 109.0 8.4 1,867 1,054 813 6.4 557 1.9
2012 2,572 1,264 1,308 9.6 8.9 1,980 : 1,093 887 6.8 592 2.0
2011 2,658 1,310 0 1,348 97.2 9.1 1,782 1,025 757 6.1 876 3.0
2010 2,554 1,345 1,209 111.2 8.7 1,797 979 818 6.1 757 2.6
2009 2,437 1,231 1,206 . 102.1 8.3 1,764 997 767 6.0 673 2.3
2008 2,532 1,275 1,257 ¢ 101.4 8.6 1,850 1,030 820 6.3 682 2.3
2007 2,728 1,381 1,347 102.5 9.2 1,733 967 766 5.8 995 3.4
2006 2,501 1,266 : 1,235 102.5 8.4 1,787 990 797 6.0 714 2.4
2005 2,520 1,315 1,205 109.1 8.3 1,860 1,033 827 6.1 660 2.2
¥ EX 0 SHE, UAASEXZA
1) 2844 @ =S4 Al (X 1008 X SM2A>
2) ZEME = SHORZHO 1EH2 SMOI-E HALQIFRZ L= 1000ZH]
3) ZMLE = SFARFES 1H2 ALXSE ALFZ L= 10002 ]
4) NHHASIHE = SHD AFZSl XH0l0 28 MHHEBIHES AP Z Lh= 10008
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0

ok

o)

e

00
fall
K

O
[

Ki

2.3

2.1

2.2

2.3

2.3

2.2

2.1

2.3

2.5

2.7

666

609

632

656

667

650

622

692

748

808

6.1

6.2

5.8

6.1

6.2

5.3

5.8

5.7

5.4

5.2

1,755

1,797

1,684

1,773

1,820

1,567

1,720

1,689

1,629

1,575

IH

2014

2013

2012

2011

2010

2009

2008

2007

2006

2005

-2 L= 100024l

o)

<2 L= 100024l

ol

o0
3]

un
<+
i

)

-

~J
J

ol

.

aJ

KD

oJ

RO
ur

un
)

KA
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[E 1-7] 2130l1= (ets @ o)
o10|S
s = NS NESEOES
BE B - ANEHOlS _
=gl EME =0|= -ANZ23 2+ -Alz232t ANE2HE Q! ANE2E=
Al _
&g dE
2014 44,052 1 45,020 -968 30,608 4,040 4,689 9,404 9,723
2013 39,280 40,823 -1,534 26,110 3,756 4,690 9,423 10,023
2012 37,349 38,450  -1,101 23,676 3,831 4,287 9,842 10,487
2011 43,806 45,419  -1,613 29,615 4,080 5059 10,111 10,745
2010 44,396 47,491  -3,095 31,100 3,736 4,875 9,560 . 11,516
2009 44,087 46,578  -2,491 29,944 3,032 4,876 10,211 11,758
2008 48,923 50,352  -1,429 34,109 4,113 4,545 10,701 11,698
2007 45,221 48,648 3,427 29,937 4,184 5163 11,100 13,548
2006 45,626 50,432  -4,806 31,077 4,181 5204 10,368 14,061
2005 50,449 55,208  -4,759 35,770 4,404 5708 10,275 13,730
% =4 SAH, ZHAR0SEN
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&0

Ok
0J

-

20

oJ

-

Kio

-537

=977

-509

-737

-2338

-1818

—747

—2432

-4092

-4099

NCIES =P,

-968

-1,534

1,101

-1,613

-3,095

-2,491

-1,429

-3,427

-4,806

-4,759

aul=pJ;

431

557

592

876

757

673

682

995

714

660

K

2014
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2011

2010

2009

2008

2007

2006

2005
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[E 2-1] DI 2F UigtAlE (&2 : %)
SIED 8 &1 UL =t
S22 A0l CHSEAIZE S
= A
T = A 102 | 102~302 | 302~1A12F | 1AI2F | _ 4
e ol al= oK
Digt e Dlgt 014t
et
201544 100.0  88.6 100.0 2.6 1.5 8.4  33.8 B8 114
s = 100.0  89.6 100.0 2.6 2.4 8.0 33.1 339 104
g 100.0 842 100.0 2.5 7.2 200  37.0 333 15.8
<ge>
X 100.0  92.1  100.0 2.5 0.9 7.8  34.0 3.8 7.9
o X 100.0 8.0 100.0 2.8 2.1 9.0 33.6 2.6  15.0
<orzE>
15~20 A 100.0 9.1 100.0 0.4 0.2 04 85 9.5 1.9
30~39Al 100.0  93.3 100.0 2.5 9.7 8.7 41.4 27 8 6.7
40~49H 100.0  90.9 100.0 5.5 7.3 296 335 4.1 9.1
50~59Al 100.0 8.5 100.0 3.0 211 238 446 75 115
60KI0] 4} 100.0  75.7  100.0 2.2 1.6 233 475 53 243
65K10] 4t 100.0 713  100.0 2.0 2.3 203 47.1 8.3 28.7
<stzE>
=Z0/5 100.0 8.9 1000 1.7 10.4 6.5  30.8 206  18.1
2 = 100.0 922  100.0 3.1 2.0 8.2 357 30.9 7.8
EIT 100.0 922 100.0 3.0 1.9 206 347 29.8 7.8
<ERE>
X ol & 100.0  81.1  100.0 4.0 6.0 224 461 116  18.9
M 100.0  68.8 100.0 1.4 12.7 227 498 3.5  31.2
2H L oA | 1000 641 1000 2.6 1.4 254 355 251  35.9
<xejw>
me/ 2 100.0  93.6 100.0 4.6 3.5 215 4.0 16.4 6.4
A 2 100.0  95.4 100.0 1.4 1.4 7.7 307 38.8 4.6
HEIA/BON | 1000 87.6 100.0 3.0 1.4 219 397 240 124
= 2012 100.0  85.8 100.0 3.4 2.0 3.1 424 9.0 4.2
JNS/AH | 1000 912 1000 3.5 6.0 219 342 24.4 8.8
CaLo 100.0  78.5 100.0 3.6 8.4 8.7 32.1 272 215
= g 100.0  95.7 100.0 3.5 16.4 236  49.2 7.4 4.3
s M 100.0  99.7 100.0 0.0 0.5 0.0 0.0 99.5 0.3
2 100.0  70.9  100.0 1.2 5.7 0.4 277 53.0  29.1
<ASE>
502k 01BF | 100.0  19.5  100.0 0.0 10.4 2.1 5.3 262 805
50~1002% | 100.0  56.8 100.0 2.9 2.6 6.6  37.7 202  43.2
100~2008t8 | 1000  73.3  100.0 1.2 5.7 222 401 207 2.7
200~3002+8 | 100.0  86.3 100.0 5.5 1.9 211 443 7.2 137
300~4002k2 | 100.0  89.3  100.0 3.7 0.5 283  49.9 75 10.7
400~6002HR1 | 100.0  97.4  100.0 4.3 20.3 233 406 1.5 2.6
6008k 014 | 100.0  91.3  100.0 1.9 20.3 9.1 50.3 8.5 8.7

¥ OEX 20158 Oi==Al At2l XA
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[E 2-1-1] JIE 2t TistAI2H (S+S] : %)
JIED S A&D UCH pIET
=09t RHE AFOIS CHBHAIZ S
= gz 2 )
102 | 102~302 | 30=2~1AI2t | 1AI2
A seeis | UK
oj et o) et 0l et 0l At
OJ-El.
20154 100.0  88.6  100.0 4.3 18.6 29 271 27.0 11.4
£ = 100.0  89.6  100.0 4.3 19.2 240  27.9 4.6 10.4
sue 100.0  84.2  100.0 4.2 16.2 18.3  23.7 37.6 15.8
<ge>
TR\ 100.0  92.1  100.0 5.5 21.8 09 232 26.6 7.9
of Xt 100.0  85.0  100.0 2.9 15.1 23.0 315 7.5 15.0
EEN
15~29Al 100.0  98.1  100.0 5.2 04.7 31.0  35.3 3.9 1.9
30~39Al 100.0  93.3  100.0 7.2 19.1 202  45.8 7.8 6.7
40~A49A 100.0  90.9  100.0 3.7 23.3 30.4  30.8 11.9 9.1
50~59Al 100.0  88.5  100.0 3.5 13.3 20.6 17.7 44.9 11.5
B0 014t 100.0  75.7  100.0 2.4 11.9 11.2 9.2 65.2 24.3
65101 At 100.0  71.3  100.0 28 13.0 10.0 7.9 66.2 28.7
=N
==0|5 100.0  81.9  100.0 4.0 18.3 19.5 16.1 421 18. 1
o= 100.0  92.2  100.0 3.3 17.9 242 315 23. 1 7.8
CHE 0l & 100.0  92.2  100.0 5.8 19.8 252  33.9 15.3 7.8
<EQHEE>
X ol & 100.0  81.1  100.0 2.9 17.0 19.9  20.9 39.4 18.9
2O 100.0  68.8  100.0 0.0 14.9 2.7  33.0 054 31.2
SN L 24| 1000  64.1  100.0 9.6 17.3 215  29.3 9.3 35.9
<X|%-Ité=l>
ze/ae 100.0  93.6  100.0 3.7 26.3 18.4  30.8 20.8 6.4
A8 100.0  95.4  100.0 6.1 19.2 30. 1 34.5 10.1 4.6
A HIA/EHOH 100.0  87.6  100.0 2.6 17.2 2%6.9 285 24.9 12.4
s 100.0  85.8  100.0 5.6 11.6 11.8 11.3 59.7 14.2
IS/ 100.0  91.2  100.0 7.6 16.5 257 299 20.3 8.8
ChaLg 100.0  78.5  100.0 4.0 20.6 217  21.4 32.1 21.5
= g 100.0  95.7  100.0 2.1 11.3 7.0  28.7 41.0 4.3
s A 100.0  99.7  100.0 4.7 29.0 32.3  29.1 5.0 0.3
2 100.0  70.9  100.0 5.1 19.4 20.8  21.5 33.2 29. 1
<AEHE>
509+ 08 | 100.0 19.5  100.0 3.0 8.0 9.8 5.4 73.8 80.5
50~1008+® | 100.0  56.8  100.0 2.4 10.6 5.3 4.7 77.0 43.2
100~2008t” | 100.0  73.3  100.0 3.0 8.7 16.8 15.2 56.3 6.7
200~3008” | 100.0  86.3  100.0 4.3 23.7 218  21.7 28.6 13.7
300~4002t8 | 100.0  89.3  100.0 4.3 13.8 246  33.6 23.8 10.7
400~6008H” | 100.0  97.4  100.0 5.9 1.4 243  33.9 14.5 2.6
6008H OlAF | 100.0  91.3  100.0 4.9 19.8 3.2  28.9 16.1 8.7
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[E 2-1-1] JI5 2t TistAI2E (2 %)
=1 B &1 UCH b=
SRIKHON AFOIS CHEHAIRH =y
2 = p A
102 | 10=2-302 302~ 1AI2
= olgt ol ot 1AI2t DIt 0|IM i | R
- - = &L
2015 100.0  88.6 100.0 2.3 4.0 3.3 5.1 85.3 11.4
s = 100.0 89.6  100.0 2.8 3.7 3.1 5.3 85.1 10.4
gHe 100.0  84.2  100.0 0.2 5.3 4.2 4.0 86.3 15.8
<dg>
g4 X 100.0  92.1  100.0 2.5 5.2 3.9 4.4 84.0 7.9
o X 100.0  85.0  100.0 2.7 2.6 2.8 5.8 86.7 15.0
EEEN
15~29Al 100.0  98.1  100.0 8.1 11.9 11.6 17.2 51.3 1.9
30~39Al 100.0  93.3  100.0 1.6 4.4 1.6 25 89.9 6.7
40~49H| 100.0  90.9  100.0 0.0 0.8 1.2 1.8 96.1 9.1
50~59Al 100.0  88.5 100.0 0.3 1.0 0.0 0.6 98.2 11.5
RS, 100.0  75.7  100.0 0.3 0.3 0.2 0.3 98.9 24.3
65K 0] At 100.0  71.3  100.0 0.0 0.5 0.3 0.0 99.2 8.7
<stEg>
==0l5t 100.0  81.9  100.0 4.8 4.5 4.6 4.8 81.4 18.1
o == 100.0  92.2  100.0 0.6 3.1 2.6 5.2 88.5 7.8
EPY; 100.0  92.2  100.0 1.8 4.5 2.9 5.2 85.6 7.8
<EQHE>
oA 100.0  81.1  100.0 0.2 0.8 0.6 0.9 97.5 18.9
A 100.0 68.8  100.0 0.0 0.0 0.0 0.0 100.0 31.2
M L 2a 100.0  64.1  100.0 0.0 0.5 1.5 0.8 97.2 35.9
<E >
He/2e 100.0  93.6  100.0 4.0 1.9 1.8 1.2 91.0 6.4
A2 100.0  95.4  100.0 1.7 6.1 1.2 8.1 82.8 4.6
A HIA /B 100.0  87.6  100.0 0.8 0.8 25 2.6 93.3 12.4
s20e 100.0  85.8  100.0 0.0 0.0 0.0 0.0 100.0 14.2
2s/2120 100.0  91.2  100.0 0.0 3.3 1.8 4.3 90.6 8.8
a9 100.0 785  100.0 0.0 4.1 2.4 3.4 90.1 215
= g 100.0  95.7  100.0 0.2 0.0 0.2 0.6 98.9 4.3
s M 100.0  99.7  100.0 13.0 15.7 15.8 18.6 36.9 0.3
2 = 100.0  70.9  100.0 0.0 4.7 2.7 6.0 86.7 29.1
<AEHE>
508+l O|gt 100.0  19.5  100.0 0.0 0.0 0.0 0.0 100.0 80.5
50~1008+ 100.0  56.8 100.0 0.0 0.0 0.0 0.0 100.0 43.2
100~2008+2 100.0  73.3  100.0 0.0 1.2 0.0 1.0 97.8 26.7
200~30082+2 |  100.0  86.3  100.0 0.0 1.4 0.4 0.7 97.5 13.7
300~4002+2 | 100.0  89.3  100.0 0.9 0.0 1.0 1.1 97.0 10.7
400~6008t2 |  100.0  97.4  100.0 0.0 0.8 1.6 1.3 96.2 2.6
6002 014 |  100.0  91.3  100.0 0.0 0.0 2.2 0.0 97.8 8.7
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[E 2-2] EXHOtE 0] (Er9l : %, &)
+ = o ULt 8iCt
3 eS| 1% 2y 3% | 4ol
20154 100.0 28.5 1.4 100.0 66.1 26.7 6.0 1.1 71.5
= £ 100.0 27.0 1.4 100.0 65.8 28.1 5.1 0.9 73.0
g8 s 100.0 33.5 1.5 100.0 67.0 22.6 8.7 1.6 66.5
<gde>
¢ X 100.0  28.3 1.4 1000 653 283 5.2 13 717
o X 100.0 28.8 1.4 100.0 68.8 22.0 8.6 0.7 7.2
<olge>
15~29Al 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
30~39Al 100.0 10.5 1.3 100.0 87.3 5.3 0.0 7.3 89.5
40~49A 100.0  31.3 13 100.0 723  23.2 4.5 0.0 687
50~59Al 100.0 52.8 1.5 100.0 56.4 35.0 7.6 0.9 47.2
60AI0]1 & 100.0 19.4 1.4 100.0 72.9 19.8 6.1 1.2 80.6
651014 100.0 14.1 1.4 100.0 76.9 13.2 7.5 2.3 5.8
<staig>
SZ0/ot 100.0 21.4 1.4 100.0 69.2 22.5 7.2 1.1 78.6
1 E 100.0 32.9 1.4 100.0 65.3 29.5 4.5 0.6 67.1
=014 100.0 31.3 1.5 100.0 64.8 26.3 71 1.8 68.7
<HSHH>
Xl 100.0  31.3 1.4 100.0 665  27. 5.4 1.0 687
o Al 100.0 23.7 1.1 100.0 89.0 8.0 3.0 0.0 76.3
A % 2 100.0 22.8 1.5 100.0 59.3 2.8 9.0 1.8 7.2
<zeig>
HE2/2el 100.0 40.4 1.5 100.0 62.3 29.2 6.3 2.2 59.6
At 2 100.0 26.7 1.1 100.0 85.4 14.6 0.0 0.0 73.3
A HIA/EOH 100.0 33.5 1.4 100.0 68.6 23.4 7.2 0.9 66.5
SEOY 100.0 45.5 1.5 100.0 62.5 28.9 6.8 1.8 54.5
Jls/213H 100.0  28.0 1.4 1000 624  35.2 2.4 0.0 720
Sare 100.0 19.2 1.4 1000 647  27.6 7.6 0.0  80.8
= 5 100.0 32.3 1.3 100.0 74.7 17.9 7.4 0.0 67.7
st 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5 2| 100.0 13.3 1.5 100.0 67.1 20.1 9.8 3.0 86.7
<AEE>
502+@ 0lgk | 100.0 14.9 1.4 1000 672  21.8 10.9 0.0 851
50~1008+ 100.0 21.3 1.5 100.0 61.7 25,8 9.4 3.0 78.7
100~2008+& 100.0 25.2 1.4 100.0 73.0 18.5 6.9 1.7 74.8
200~3008t8l | 100.0  26.5 1.3 100.0 725 237 3.8 0.0 735
300~4008+A 100.0 32.5 1.5 100.0 61.1 28.2 8.2 2.4 67.5
400~6002H& 100.0 37.8 1.4 100.0 67.6 29.7 18 0.8 62.2
6002+ 0l 100.0 47.9 1.5 100.0 53.2 38.8 78 0.0 52.1
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[E 2-3-1] 2HIIE 8& EEEA!
HH < Xt
2= HE X
p TW AR EtAIE 29|
20154 100.0 48.6 451 6.3
s =2 100.0 49.5 42.5 8.0
soe 100.0 45.1 54.9 0.0
<He>
94 X 100.0 52.9 47 1 0.0
o X 100.0 46.9 44.2 8.9
EEES
15~29A 0.0 0.0 0.0 0.0
30~39Al 100.0 20.3 59.8 19.9
40~49A| 100.0 55.2 38.3 6.5
50~59Al 100.0 37.4 62.6 0.0
B0AI 0 A 100.0 81.2 18.8 0.0
65A1 014t 100.0 80.2 19.8 0.0
<t >
==0l5t 100.0 76.9 15.8 7.3
o = 100.0 40.7 55.5 3.8
VEIPS 100.0 43.1 48.9 8.0
<HESHED>
Xt o A 100.0 47.3 46.8 5.9
M 100.0 38.8 61.2 0.0
A4 L 2 100.0 53.5 37.9 8.6
<z=e>
2/ 100.0 34.8 59.5 5.7
N2 100.0 0.0 100.0 0.0
A HIA/EHOH 100.0 61.4 28.4 10.3
=20/ 100.0 37.3 62.7 0.0
Jls/I13 100.0 78.3 21.7 0.0
L 100.0 61.3 38.7 0.0
= g 100.0 47.4 38.2 14.4
s M 0.0 0.0 0.0 0.0
£ = 100.0 51.7 48.3 0.0
<ASEHE>
500H2l 0] gt 100.0 100.0 0.0 0.0
50~1002tR 100.0 86.6 13.4 0.0
100~2008+2 100.0 51.8 48.2 0.0
200~3008+2! 100.0 50.9 49.1 0.0
300~4002+2l 100.0 38.7 54.3 7.0
400~6008+! 100.0 55.4 38.6 6.0
6002+ 0] At 100.0 0.0 69.8 30.2
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[E 2-3-2] EHII5 88 (&2 : %)
i < Xt
2 = HZF0|5=
_ = 2t 2HA
H Al =18 _ Ad W= = J|EF
=3} ol

20154 100.0 76.4 6.6 10.0 4.3 2.7 0.0 0.0
s g 100.0 82.5 6.7 6.6 4.1 0.0 0.0 0.0
= 4 2 100.0 52.9 6.3 22.7 5.1 13.0 0.0 0.0
<8gE>
= X 100.0 61.9 0.0 23.4 5.4 9.3 0.0 0.0
o X 100.0 82.3 9.3 4.5 3.9 0.0 0.0 0.0
<Hg 4>
15~29 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 100.0 82.1 12.8 0.0 5.0 0.0 0.0 0.0
40~49A 100.0 93.5 6.5 0.0 0.0 0.0 0.0 0.0
50~59Al 100.0 62.5 7.0 24.7 0.0 5.8 0.0 0.0
604l 0] & 100.0 60.0 0.0 18.0 15.9 6.0 0.0 0.0
65KI0] A 100.0 33.2 0.0 35.4 15.9 0.0 0.0 0.0
<staEdE>
=Z0|5t 100.0 58.0 0.0 19.4 22.7 0.0 0.0 0.0
n = 100.0 84.3 3.5 8.2 0.0 4.0 0.0 0.0
CH=0l 4 100.0 77.7 12.1 7.5 0.0 2.8 0.0 0.0

<H7EH>
|

Ao & 100.0 72.6 8.9 8.5 O8R5 4.5 0.0 0.0
o Al 100.0 61.2 16.3 22.5 0.0 0.0 0.0 0.0
2N & 24 100.0 87.2 0.0 9.6 3.3 0.0 0.0 0.0
<A YE>
dE2/2el 100.0 80.5 14.5 5.0 0.0 0.0 0.0 0.0
At ? 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
A HIA /RO 100.0 84.6 4.8 6.7 3.9 0.0 0.0 0.0
SEHY 100.0 22.2 0.0 37.2 0.0 40.6 0.0 0.0
IS/OIA 100.0 62.0 0.0 21.7 16.4 0.0 0.0 0.0
Hel R 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
= 2 100.0 88.0 12.0 0.0 0.0 0.0 0.0 0.0
st = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 = 100.0 48.3 0.0 30.4 21.3 0.0 0.0 0.0
<ASE>
502t 0|8t 100.0 51.3 0.0 0.0 48.7 0.0 0.0 0.0
50~1002H2 100.0 44 1 0.0 38.7 17.2 0.0 0.0 0.0
100~2008+H& 100.0 89.7 0.0 10.3 0.0 0.0 0.0 0.0
200~3002H& 100.0 81.6 6.7 6.7 5.1 0.0 0.0 0.0
300~4008& 100.0 74.5 9.0 9.0 0.0 7.4 0.0 0.0
400~6002H 100.0 71.0 14.8 8.9 0.0 5.3 0.0 0.0
6002H2 0l& 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
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[E 2-3-3] EHIIE & (9] : %)
i 2 X+
H3 D2t
T E 6—-12J12
Al 6ol 0]8t olo 1-24 0Jg | 2-34 0|2 | 3-54 0|8+ 54 0o]at
20154 100.0 21.7 9.6 29.7 10.9 9.1 19.0
s = 100.0 16.9 8.5 37.4 8.5 11.5 17.2
S -e 100.0 40.2 13.6 0.0 20.2 0.0 26.0
<g49>
o Xt 100.0 31.9 5.1 23.1 11.3 0.0 28.6
Xt 100.0 17.5 1.4 32.3 10.8 12.9 15.1
<HgdE>
15~29A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39A 100.0 40.0 13.2 6.6 6.6 18.3 15.3
40~49A 100.0 6.9 10.6 53.3 9.3 6.7 13.3
50~59A 100.0 13.9 12.8 14.1 11.8 12.1 35.2
60AI 0] & 100.0 36.7 0.0 34.5 16.9 0.0 11.9
65MI0] At 100.0 27.2 0.0 16.3 33.2 0.0 23.3
<sAEYE>
=Z0|5t 100.0 50.7 0.0 18.3 12.7 0.0 18.3
= 100.0 17.1 17.2 36.8 2.8 8.4 17.6
1 EPN; 100.0 13.0 7.2 28.5 17.0 13.7 20.5
<BSFEE>
X ol & 100.0 23.7 5.5 37.1 16.7 2.3 14.6
H A 100.0 30.6 0.0 0.0 0.0 30.6 38.8
2N L A 100.0 15.8 19.4 23.3 2.8 16.4 22.3
<A AYE>
e/ 100.0 20.1 7.4 14.8 23.3 9.1 25.4
A 2 100.0 0.0 0.0 75.2 0.0 24.8 0.0
A HIA /2y 100.0 19.1 23.3 20.3 0.0 5.7 31.6
S20/Y 100.0 59.5 22.2 0.0 0.0 0.0 18.3
JIs/21A 100.0 55.4 0.0 22.9 0.0 0.0 21.7
Gl 100.0 0.0 0.0 61.3 0.0 38.7 0.0
= = 100.0 16.2 0.0 55.4 12.0 16.4 0.0
s M 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ = 100.0 0.0 0.0 43.7 43.3 0.0 12.9
<ASH>
508t 0]t 100.0 0.0 0.0 100.0 0.0 0.0 0.0
50~1008t2 100.0 31.1 0.0 19.7 13.4 0.0 35.7
100~2008H 100.0 34.6 0.0 13.0 17.3 13.0 22.0
200~3009+< 100.0 17.2 6.5 40.5 13.4 1.7 10.6
300~4008+< 100.0 12.3 7.4 29.2 9.0 7.8 34.3
400~6008t<! 100.0 37.7 15.2 9.4 13.2 15.5 9.0
6008t 0] At 100.0 0.0 27.3 55.1 0.0 0.0 17.7
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[E 2-3-4] 2HIIE & (9] : %)
IN{E|
s HE XS
Al SWl AIZF EIAI &= =2
20154 100.0 6.7 70.7 2.6
s g 100.0 05.7 72.3 2.0
gog 100.0 29.3 66.4 4.3
<8gE>
° X 100.0 25.5 72.8 1.7
Xt 100.0 32.4 60.3 7.3
<HZE>
15~29Al 0.0 0.0 0.0 0.0
30~39Al 100.0 47 1 52.9 0.0
40~49 K| 100.0 35.2 64.8 0.0
50~59Al 100.0 05.2 73.2 1.5
60AlI 0 &t 100.0 19.6 72.4 8.0
B65A1 014t 100.0 10.0 79.1 10.9
<stsEdg>
==0l5t 100.0 4.6 69.4 6.0
o = 100.0 7.6 70.2 2.2
ELPN; 100.0 7.2 72.4 0.4
<EB@SKEEE>
DI 100.0 05.8 71.4 2.8
2 OA 100.0 16.6 83.4 0.0
A4 L 2 100.0 31.2 66.3 2.5
<AEHgY>
H2/2e 100.0 31.9 68. 1 0.0
N2 100.0 26.8 73.2 0.0
AHIA /B 100.0 30.2 68.8 1.0
=20y 100.0 24.8 70.0 5.1
JIs/21H 100.0 22.7 77.3 0.0
LD 100.0 32.0 68.0 0.0
= = 100.0 2.8 77.2 0.0
s M 0.0 0.0 0.0 0.0
2 = 100.0 13.0 71.6 15.4
<ASE>
500H2l 0] gt 100.0 9.8 72.0 18.2
50~1002+R 100.0 23.9 76.1 0.0
100~2008+& 100.0 30.0 67.7 2.3
200~3002+2l 100.0 32.3 61.4 6.3
300~4008+2! 100.0 7.6 72.4 0.0
400~6008+2! 100.0 23.8 76.2 0.0
6002+l 0] At 100.0 7.7 72.3 0.0
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(&2 : %)

INIE]
HE0I8
2 =
_ s 2+ 24
AH EAlEA st _ pUIERIMES] = CH J|Et
=5} ol

20154 100.0 43.3 46.7 2.4 0.5 0.0 6.6 0.4

=1 == 100.0 38.3 53.4 1.5 0.5 0.0 5.8 0.5

= 4 2 100.0 56.5 29.0 5.0 0.7 0.0 8.8 0.0

<Hd4>

=N 100.0 39.7 49.2 2.4 0.6 0.0 7.5 0.4

o X 100.0 60.7 34.6 2.4 0.0 0.0 2.3

<Hge>

15~29Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

30~39Al 100.0 25.8 74.2 0.0 0.0 0.0 0.0 0.0

40~49A| 100.0 16.7 71.8 0.0 0.0 0.0 11.5 0.0

50~59Al 100.0 38.4 48.7 4.2 0.7 0.0 7.3 0.7

60MI0] & 100.0 82.5 14.8 1.0 0.8 0.0 0.9 0.0

65M10] & 100.0 91.5 7.0 0.0 1.5 0.0 0.0 0.0

<stsEY>

=Z0I5t 100.0 76.0 13.5 5.8 2. 0.0 2.6 0.0

) = 100.0 37.8 53.8 1.2 0.0 0.0 6.4 0.9

CHEO0| & 100.0 23.3 65.0 1.3 0.0 0.0 10.3 0.0
<BSEH>

A D & 100.0 47.9 46.0 1.3 0.7 0.0 4.2 0.0

o | 100.0 34.9 50.1 5.6 0.0 0.0 9.3 0.0
2N L 24 100.0 29.5 48.6 5.8 0.0 0.0 14.4 6

<HIE>

HE2/2e 100.0 23.3 65.0 2.4 0.0 0.0 9.3 0.0

Ak = 100.0 31.1 63.2 0.0 0.0 0.0 5.7 0.0
A H| A /EHOY 100.0 54.2 41.8 0.0 2.0 0.0 2.0 0.0

s8ody 100.0 60.6 27.7 1.6 0.0 0.0 10.1 0.0

Jls/I1AH 100.0 18.9 73.8 0.0 0.0 0.0 7.3 0.0

S=rF 100.0 66.3 28.7 0.0 0.0 0.0 4.9 0.0

> g 100.0 43.7 43.5 0.0 0.0 0.0 12.7 0.0

& = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

£ = 100.0 69.6 6.3 15.3 1.8 0.0 3.5 .5

<ASE>
5083 0|2k 100.0 55.4 3.0 26.4 3.0 0.0 6.1 6.1
50~1002+& 100.0 74.7 19.5 5.8 0.0 0.0 0.0 0.0
100~20082+& 100.0 67.6 26.0 0.0 2.3 0.0 4.1 0.0
200~3009+A 100.0 41.5 47.8 1.4 0.0 0.0 9.3 0.0
300~4008+& 100.0 35.6 56.5 0.0 0.0 0.0 7.9 0.0
400~6009+A 100.0 24 .1 64.8 0.0 0.0 0.0 11.2 0.0
6002t O] At 100.0 23.4 73.7 0.0 0.0 0.0 2.9 0.0
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[E 2-3-6] &

HE

ra
Ol

NIE
_ HE D2
= 6-120H2
y| 6 Dot oot -2 0|9 | 2-31 0| | 3-54 O|BF | 54 0l
20154 100.0 7.8 16.1 23.3 11.6 16.1 25.1
= 2 100.0 8.0 17.0 25.1 11.3 17.2 21.4
see 100.0 7.2 13.7 18.5 12.5 13.3 34.8
<He>
=t A 100.0 6.5 15.3 23.7 11.7 16.6 26.2
(0 Xt 100.0 13.8 20.0 21.6 11.1 14.0 19.5
EETEN
15~29Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 100.0 15.1 0.0 10.7 11.4 31.4 31.4
40~49Al 100.0 14.7 27.5 33.4 8.0 13.0 SRS
50~59Al 100.0 5.8 14.9 25.9 15.3 20.7 17.4
60K 0] At 100.0 4.5 8.9 8.5 6.9 7.3 63.9
65AHI 0] & 100.0 6.3 7.9 5.6 3.8 2.4 74.0
<stsEd>
==0|ot 100.0 8.0 6.7 14 .4 14.4 10.9 45 .6
i = 100.0 8.9 17.0 22.7 11.2 21.1 19.1
VESNPS 100.0 6.0 22 7 317 9.9 13.9 15.8
<HIHE>
A D & 100.0 7.7 15.6 19.8 10.8 18.9 27.3
| Al 100.0 29.7 10.2 9.7 16.3 9.4 24.7
24 & 24 100.0 4.4 18.8 & .S 13.7 8.1 17.8
<=oE>
dHE/22] 100.0 2.9 27 .1 19.1 14.4 15.2 21.3
A= 100.0 9.5 16.4 28.7 5.9 28.8 10.6
AN HIA/THOH 100.0 9.6 11.5 24.6 19.0 17.7 17.6
=20 100.0 12.2 8.3 23.2 7.6 12.6 36.2
JIs/I1 A 100.0 8.6 20.5 28.5 11.5 17.9 12.9
= 100.0 0.0 4.9 33.5 10.9 20.7 30.0
= £ 100.0 22.8 19.3 12.7 10.4 30.2 4.6
st A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
== = 100.0 5.8 14.2 12.4 4.4 0.0 63.8
<AEHE>
508H (O] Gt 100.0 12.2 17.4 12.1 0.0 0.0 58.2
50~1008+ 100.0 0.0 6.8 15.4 14.7 1.1 51.9
100~2008+ 100.0 7.8 6.8 21.6 9.7 15.1 39.0
200~300¢2+& 100.0 17.1 13.2 31.1 11.3 8.9 18.4
300~4008+ 100.0 5.4 13.9 23.9 13.9 28.0 14.9
400~6008+t= 100.0 7.6 27.0 26.7 12.2 18.6 8.0
6009+ 04 100.0 1.7 25.8 19.9 13.4 19.6 19.6
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(S : %)

UER
= NnE N4
Al SW AIZF EtAIE =2
20154 100.0 28.5 68.6 2.8
= £ 100.0 26.7 70.9 2.4
g 8 8 100.0 33.5 62.3 4.2
<gd8>
g X 100.0 26.7 71.3 2.0
o X 100.0 38.5 54.3 7.3
<Hge>
15~29A 0.0 0.0 0.0 0.0
30~39A 100.0 22.9 771 0.0
40~49A 100.0 36.9 63.1 0.0
50~59A 100.0 28.0 69.6 2.4
60AI0|2f 100.0 20.7 71.9 7.4
65AKI012af 100.0 9.9 79.5 10.6
<sgEE>
SZ0lot 100.0 29.6 65.3 5.1
1 = 100.0 27.0 69.8 3.1
CHE 0] & 100.0 29.6 69.8 0.6
<EFEE>
Ao 3 100.0 28.5 68.8 2.7
| I 100.0 19.9 80.1 0.0
2N & 2o 100.0 30.4 65.5 4.1
<AHHE>
/22l 100.0 29.6 70.4 0.0
At £ 100.0 29.3 70.7 0.0
AN H|A/THOR 100.0 29.8 68.6 1.6
SEOY 100.0 28.7 67.4 4.0
IIs/21A 100.0 29.5 70.5 0.0
He=l R 100.0 30.0 70.0 0.0
= = 100.0 28.7 71.3 0.0
st A 0.0 0.0 0.0 0.0
£ | 100.0 14.3 65.3 20.4
<ASHE>
508+ 0|2t 100.0 14.8 64.7 20.5
50~1002+2 100.0 21.4 78.6 0.0
100~2008H 100.0 32.6 64.2 3.3
200~3008+HA 100.0 35.2 59.4 5.4
300~4008H 100.0 271 72.9 0.0
400~6002H& 100.0 19.9 80.1 0.0
6002H2 0l& 100.0 38.5 61.5 0.0
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[H 2-3-8] EHIIE & (&2 : %)
INIER
HFO0IR
2 =
_ = 2t 2HA
H Al =18 _ Ad W= = J|EF
=3} ol

20154 100.0 452 447 2.2 0.8 0.0 6.6 0.5

s g 100.0 41.8 50.6 0.7 0.7 0.0 5.4 0.7

sS4 100.0 54.6 28.2 6.4 1.0 0.0 9.8 0.0

<g49>

= X 100.0 41.6 47.8 1.9 0.9 0.0 7.1 0.6

o X 100.0 64.7 27.8 3.9 0.0 0.0 3.7 0.0
<Hg 4>

15~29 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

30~39Al 100.0 37.6 62.4 0.0 0.0 0.0 0.0 0.0

40~49Al 100.0 16.5 71.8 0.0 0.0 0.0 11.7 0.0

50~59Al 100.0 443 42 .6 3.7 1.0 0.0 7.3 1.1

60AHI 0] & 100.0 79.5 17.8 1.5 1.2 0.0 0.0 0.0

65K 0] A 100.0 89.5 8.1 0.0 2.3 0.0 0.0 0.0
<stEdE>

=Z0|5t 100.0 74.8 14.9 4.6 3.0 0.0 2.7 0.0

n = 100.0 40.1 50.8 1.7 0.0 0.0 6.2 1.3

CH=0| 4 100.0 27.9 60.8 1.0 0.0 0.0 10.4 0.0
<BSKEEH>

X o & 100.0 48.4 448 1.4 1.0 0.0 4.4 0.0

b Al 100.0 37.3 43.0 7.3 0.0 0.0 12.3 0.0
M Y 2 100.0 34.4 44.8 4.1 0.0 0.0 13.9 2.7
<HgdE>

HE2/=e 100.0 27.5 58.7 1.8 0.0 0.0 12.0 0.0

A 2 100.0 41.6 58.4 0.0 0.0 0.0 0.0 0.0
AN HIA/ELHOY 100.0 50.6 43.2 0.0 3.0 0.0 3.1 0.0

SEE0Y 100.0 59.7 26.3 2.3 0.0 0.0 11.6 0.0
JIs/I21A 100.0 26.7 68.7 0.0 0.0 0.0 4.7 0.0

G2 100.0 74.5 25.5 0.0 0.0 0.0 0.0 0.0

= g 100.0 42 1 41.8 0.0 0.0 0.0 16.1 0.0

st M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

e = 100.0 65.4 7.3 13.2 2.8 0.0 5.6 5.6
<ASE>
5083 0|2k 100.0 51.2 4.5 21.4 4.5 0.0 9.1 9.1
50~1009+3 100.0 71.4 22.2 6.4 0.0 0.0 0.0 0.0
100~20082+H& 100.0 67.0 25.9 0.0 3.2 0.0 3.9 0.0
200~3008+= 100.0 46.4 42.7 1.8 0.0 0.0 9.1 0.0
300~4008t< 100.0 36.2 51.8 0.0 0.0 0.0 12.0 0.0
400~60082+< 100.0 29.7 62.4 0.0 0.0 0.0 7.9 0.0
60022 0| A 100.0 27.7 72.3 0.0 0.0 0.0 0.0 0.0
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[¥ 2-3-9] 2XHot= &

‘;__E.' 20152 %ipA| AIZIZEAL 31N

(&2 : %)

X
2 = F I
- 6-1248
2 6HE ol | T T | 1-26 Dlek | 2-34 Dt | 3-5u Olet | 5 ofat
20154 100.0 8.5 17.6 23.3 9.0 18.0 23.6
= = 100.0 9.6 18.7 24.9 8.8 18.2 19.8
&85 100.0 5.7 14.7 18.6 8.7 17.4 33.9
<sg>
¢ X 100.0 7.5 17.2 22.8 9.5 18.7 24.4
o X 100.0 14.4 20.2 25.8 6.6 13.9 19.2
N:EER
16~29A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 100.0 22.0 0.0 15.6 16.7 22.9 22.9
40~49A 100.0 17.6 27.6 30.6 4.6 16.3 3.3
50~59A 100.0 5.7 17.6 26.0 13.2 22.7 14.9
60014 100.0 3.7 8.5 9.8 3.8 9.0 65.3
65KI01 & 100.0 3.5 9.3 8.5 0.0 3.7 74.9
<shEg>
SZ0Iat 100.0 8.3 8.9 14.9 10.7 11.6 45.7
il E 100.0 9.8 15.1 24.6 8.2 25.3 16.9
HE 0l 4t 100.0 7.1 28.1 28.2 8.8 28 14.5
<HKREE>
XA 100.0 7.5 17.4 20.4 9.0 21.1 24.6
sl Al 100.0 35.7 12.3 0.0 19.7 1.4 21.0
M 2 2 100.0 6.1 19.8 39.9 6.6 7.5 20.1
<zglg>
d2/2e 100.0 0.0 31.8 17.2 16.9 14.2 20.0
At = 100.0 7.5 13.0 36.4 0.0 36.4 6.7
K12/ 2o 100.0 1.5 9.9 25.9 12.6 20.2 19.9
SEOY 100.0 13.1 8.7 21.3 3.9 18.7 34.3
J1s/913 100.0 12.1 23.3 26.7 1.1 16.2 10.5
E=L 2 100.0 0.0 6.8 31.1 ON 22.9 30.3
5= 5 100.0 28.7 24.4 16.1 0.0 25.0 5.7
e A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
& & 100.0 4.2 19,8 14.1 0.0 0.0 61.8
<AFE>
509+® Ojer 100.0 6.9 26.2 9.1 0.0 0.0 57.8
50~1008+& 100.0 0.0 5.4 23.3 7.7 158 47.7
100~2008+ 2 100.0 1.0 7.6 17.8 8.1 16.3 39.2
200~3002+3 100.0 8.8 8.0 31.4 13.5 8.2 19.0
300~4008+& 100.0 3.7 16.7 31.1 5.8 32.1 10.5
400~6002+3 100.0 8.5 33.6 20.7 8.7 22.6 9.1
6002t 0l& 100.0 0.0 29.4 16.5 17.3 20.4 16.3
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[E 2-3-10] 2105 8% (22 %)
A2
2 = HE X
p’| U AIZT EFAIE =29l
20154 100.0 23.6 73.9 25
s = 100.0 24.6 74.0 1.4
s 100.0 20.7 73.7 5.6
<qe>
g X 100.0 24.4 74.7 1.0
o X 100.0 20.0 70.4 9.6
N=EER
15~20Al 0.0 0.0 0.0 0.0
30~39A 100.0 100.0 0.0 0.0
40~49H 100.0 32.3 67.7 0.0
50~59Al 100.0 19.6 80.4 0.0
6001 4 100.0 22.3 65.9 11.9
65101 4¢ 100.0 14.3 69.1 16.5
s>
=Z0l5t 100.0 14.2 75.8 10.0
2 2 100.0 31.6 68.4 0.0
VESIPN, 100.0 20.0 80.0 0.0
<BSEEH>
X ol & 100.0 21.0 75.4 3.5
B3 OA 100.0 0.0 100.0 0.0
AN L 24 100.0 31.9 68.1 0.0
<Ze>
He/2el 100.0 37.3 62.7 0.0
IV 100.0 17.2 82.8 0.0
ABIA /B0 100.0 30.7 69.3 0.0
520/ 100.0 19.8 71.4 8.8
215/2120 100.0 6.2 93.8 0.0
SaLg 100.0 375 62.5 0.0
= = 100.0 0.0 100.0 0.0
s M 0.0 0.0 0.0 0.0
2 = 100.0 15.8 73.7 10.5
<ASE>
509t 0|gt 100.0 0.0 81.8 18.2
50~1008+ 100.0 30.3 69.7 0.0
100~2008t 2 100.0 27.2 72.8 0.0
200~3009+ 100.0 24.0 66.2 9.8
300~4002+ 100.0 28.7 71.3 0.0
400~6008+ & 100.0 31.8 68.2 0.0
6008+ 0l4 100.0 5.3 94.7 0.0
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[ 2-3-11] 2HII=F & (S %)
X4 2
2 = HZF0|5=
) = 2t H2AA
H Al =18 _ 4 s = JIEt
=3} 01
20154 100.0 39.1 51.7 2.1 0.0 0.0 7.1 0.0
s =g 100.0 30.8 60.0 1.8 0.0 0.0 7.5 0.0
SH e 100.0 62.2 29.0 2.9 0.0 0.0 5.9 0.0
<He>
S 100.0 34.4 54.5 2.5 0.0 0.0 8.6 0.0
o X 100.0 61.1 38.9 0.0 0.0 0.0 0.0 0.0
<Hg 4>
15~29A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39A 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
40~49A 100.0 18.7 69.6 0.0 0.0 0.0 1.7 0.0
50~59A 100.0 28.8 59.4 3.5 0.0 0.0 8.2 0.0
60AI 0] &t 100.0 89.1 10.9 0.0 0.0 0.0 0.0 0.0
65M10] At 100.0 93.0 7.0 0.0 0.0 0.0 0.0 0.0
<stag>
Z=Z0|ot 100.0 83.4 11.3 5.3 0.0 0.0 0.0 0.0
n = 100.0 32.8 59.6 0.0 0.0 0.0 7.5 0.0
=0l 4t 100.0 13.3 72.4 2.4 0.0 0.0 11.9 0.0
<HEREE>
X ol & 100.0 459 49.9 1.1 0.0 0.0 3.1 0.0
A 100.0 15.9 84.1 0.0 0.0 0.0 0.0 0.0
N L A 100.0 23.9 52.8 4.9 0.0 0.0 18.3 0.0
<EE>
/e 100.0 14.1 76.7 4.2 0.0 0.0 5.0 0.0
A 2 100.0 0.0 77.3 0.0 0.0 0.0 22.7 0.0
A HIA /2 100.0 68.8 31.2 0.0 0.0 0.0 0.0 0.0
=209 100.0 60.6 35.6 0.0 0.0 0.0 3.7 0.0
JIs/21A 100.0 0.0 86.2 0.0 0.0 0.0 13.8 0.0
Sl 100.0 44.2 37.5 0.0 0.0 0.0 18.3 0.0
= = 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
s M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 = 100.0 79.2 6.8 14.0 0.0 0.0 0.0 0.0
<ASHE>
508+ O] ot 100.0 75.8 0.0 24.2 0.0 0.0 0.0 0.0
50~1008+= 100.0 78.9 14.7 6.4 0.0 0.0 0.0 0.0
100~2008+ 100.0 72.5 27.5 0.0 0.0 0.0 0.0 0.0
200~3009t2 100.0 22.4 67.3 0.0 0.0 0.0 10.3 0.0
300~4008t2! 100.0 43.1 56.9 0.0 0.0 0.0 0.0 0.0
400~6008+& 100.0 14.4 67.1 0.0 0.0 0.0 18.6 0.0
6008t 0] At 100.0 14.6 76.5 0.0 0.0 0.0 9.0 0.0
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[E 2-3-12] 2Hot= &8

RHH2
2 = F I
- 6-1248
2 6HE ol | T T | 1-26 Dlek | 2-34 Dt | 3-5u Olet | 5 ofat
20154 100.0 8.2 13.5 23.6 17.5 13.0 27.2
= = 100.0 3.2 14.7 26.9 15.6 15.2 24.3
gae 100.0 10.5 10.3 14.7 22.7 6.8 35.1
<yg>
g X 100.0 3.4 1.4 26.4 17.5 1.7 29.6
o X 100.0 13.4 23.2 10.7 17.7 18.6 16.4
N:EER
15~29A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 100.0 0.0 0.0 0.0 0.0 0.0 100.0
40~49H 100.0 3.4 29.5 40.6 19.7 3.4 3.4
50~59Al 100.0 4.8 10.4 25.7 17.4 19.2 22.6
60014 100.0 8.2 8.7 3.7 17.0 5.1 57.4
65MI10] & 100.0 16.5 7.4 0.0 15.8 0.0 60.3
<stetg>
SZ0Iot 100.0 9.5 3.0 6.2 28.2 12.2 40.8
il £ 100.0 6.3 23.1 18.1 16.4 12.8 23.4
HE ol 4t 100.0 0.0 8.5 45.4 10.5 13.8 21.7
<EKEE>
XA 100.0 7.2 12.2 20.1 13.6 15.8 31.0
fal I 100.0 0.0 0.0 72.9 0.0 0.0 271
M 2 24 100.0 0.0 17.9 29.4 292 6.2 17.3
<zgg>
ae/zel 100.0 0.0 17.8 27.5 11.8 14.1 28.8
A2 100.0 17.2 29.1 0.0 28.4 0.0 25.3
MBI 2 /2O 100.0 7.1 14.4 21.3 29.7 14.9 12.7
SEOY 100.0 1.9 9.0 26.9 17.4 0.0 34.8
J1s/91 100.0 0.0 13.8 32.8 12.5 21.9 18.9
=2 100.0 0.0 0.0 39.9 158 14.7 20.8
3= 5 100.0 0.0 0.0 0.0 0.0 100.0 0.0
& = 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= z| 100.0 10.5 6.8 0.0 17.4 0.0 65.3
<ASE>
508t 0|8t 100.0 30.5 0.0 0.0 0.0 0.0 69.5
50~1008+2 100.0 0.0 1.5 0.0 32.2 5.5 50.7
100~2008+ 2 100.0 0.0 6.1 27.5 18.0 16.1 32.3
200~3002+& 100.0 8.9 26.3 31.6 4.2 1119 17.3
300~4002+& 100.0 0.0 10.9 12.7 291 18.3 291
400~6002+2 100.0 6.2 12.4 41.7 21.9 1.6 6.2
6002t 04 100.0 5.3 18.2 26.9 5.3 17.9 26.4
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[E 2-3-13] 2HII=E &8 (S : %)
YVIEK!
od
2 S AZT EFAIE =29
2015 100.0 18.8 81.2 0.0
s = 100.0 14.9 85. 1 0.0
soe 100.0 23.3 76.7 0.0
<He>
4 X 100.0 12.3 87.7 0.0
o X 100.0 30.3 69.7 0.0
EELEPS
15~29A 0.0 0.0 0.0 0.0
30~39Al 100.0 100.0 0.0 0.0
40~49A 100.0 0.0 100.0 0.0
50~59Al 100.0 22 2 77.8 0.0
B0 014t 100.0 0.0 100.0 0.0
65101 At 100.0 0.0 100.0 0.0
<state>
=Z0|5 100.0 18.4 81.6 0.0
Wl e 100.0 0.0 100.0 0.0
VEIPN, 100.0 34.6 65.4 0.0
<ESSE>
X ol & 100.0 10.7 89.3 0.0
2O 100.0 0.0 100.0 0.0
2N L 2a 100.0 34.7 65.3 0.0
<EQiE>
/e 100.0 31.1 68.9 0.0
A2 0.0 0.0 0.0 0.0
AN HIA/EHOH 100.0 31.6 68.4 0.0
S 100.0 0.0 100.0 0.0
IS /212 0.0 0.0 0.0 0.0
=] 0.0 0.0 0.0 0.0
= = 100.0 0.0 100.0 0.0
st M 0.0 0.0 0.0 0.0
2 = 100.0 0.0 100.0 0.0
<ASE>
509+l O] et 100.0 0.0 100.0 0.0
50~1002+! 100.0 24.2 75.8 0.0
100~2008+H8 100.0 12.8 87.2 0.0
200~3008H2! 100.0 0.0 100.0 0.0
300~4008+2! 100.0 27 .4 72.6 0.0
400~6008HS 100.0 30.5 69.5 0.0
6000HR 0] A 0.0 0.0 0.0 0.0
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o 2-3- o = =n_:> CH2| @ %
[E 2-3-14] 2HIIE 8 & (S : %)
IIEK]
2 = HF0IR
_ s 2t 24
AH EAlER =L _ yUIERETES] = CH J|Et
23 0l
20154 100.0 36.8 49.5 8.6 0.0 0.0 5.1 0.0
= g 100.0 22.7 61.2 16.1 0.0 0.0 0.0 0.0
= 4 2 100.0 52.8 36.4 0.0 0.0 0.0 10.8 0.0
<Hd4>
= X 100.0 39.6 39.1 13.4 0.0 0.0 7.9 0.0
(0] At 100.0 31.9 68.1 0.0 0.0 0.0 0.0 0.0
<HggE>
15~29Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
A0~49Al 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
50~59Al 100.0 16.9 65.6 17.4 0.0 0.0 0.0 0.0
60 M 0] & 100.0 84.9 0.0 0.0 0.0 0.0 15.1 0.0
65AI0] & 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
<staEe>
=Z0Iot 100.0 56.7 10.5 20.6 0.0 0.0 12.2 0.0
1 = 100.0 31.4 68.6 0.0 0.0 0.0 0.0 0.0
H=0| &k 100.0 15.7 84.3 0.0 0.0 0.0 0.0 0.0

<H7EH>
|

Ao & 100.0 46.5 45.3 0.0 0.0 0.0 8.3 0.0
d Al 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
2N & 24 100.0 14.4 61.4 24.2 0.0 0.0 0.0 0.0
<A YE>
dE2/2el 100.0 20.0 80.0 0.0 0.0 0.0 0.0 0.0
At £ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A HIA /RO 100.0 15.8 84.2 0.0 0.0 0.0 0.0 0.0
SEHY 100.0 72.3 0.0 0.0 0.0 0.0 27.7 0.0
IS/OIA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Hel R 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= 2 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
st = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ e 100.0 64.0 0.0 36.0 0.0 0.0 0.0 0.0
<ASE>
502t 0|8t 100.0 27.6 0.0 72.4 0.0 0.0 0.0 0.0
50~1002H2 100.0 75.8 24.2 0.0 0.0 0.0 0.0 0.0
100~2008+H& 100.0 58.0 221 0.0 0.0 0.0 19.9 0.0
200~3002H& 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
300~4008& 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
400~6002H 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
6002H2 0l& 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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(&2 : %)

JEE
a2 e = )2t
= 6-12H8
p| 6IHE 0O1pt ol 1-21 0|9 | 2-34 0|9t | 3-5 O|gt | 5 O]A
20154 100.0 12.4 8.3 23.6 16.0 7.9 31.8
s = 100.0 16.1 0.0 16.1 30.2 14.9 22.7
S 8 5 100.0 8.1 17.8 32.1 0.0 0.0 42.0
<He>
4 X 100.0 13.4 7.9 21.3 13.4 12.3 31.7
(0 Xt 100.0 10.6 9.1 27.8 20.7 0.0 31.9
EEN
15~29Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 100.0 0.0 0.0 0.0 0.0 100.0 0.0
40~49Al 100.0 40.4 0.0 59.6 0.0 0.0 0.0
50~59Al 100.0 17.4 6.7 26.3 32.6 0.0 16.9
B0 0] At 100.0 0.0 15.1 15.1 0.0 0.0 69.8
65HI 0] & 100.0 0.0 0.0 0.0 0.0 0.0 100.0
<shEg>
=Z0|of 100.0 0.0 0.0 43.3 0.0 0.0 56.7
i = 100.0 14.5 0.0 21.5 32.6 0.0 31.4
CHE Ol A 100.0 6.5 25.9 0.0 23.1 245 0.0
<EHSE>
Xt oA 100.0 13.9 5.3 8.3 26.0 0.0 46.5
S| | 100.0 0.0 0.0 0.0 0.0 0.0 100.0
24 & 24 100.0 10.8 14.4 52.5 0.0 22.3 0.0
<EIH>
dE/&2 100.0 48.8 20.0 0.0 0.0 31.1 0.0
A £ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A HIA/EHOH 100.0 0.0 15.8 271 41.3 0.0 15.8
SENY 100.0 0.0 0.0 27.7 0.0 0.0 72.3
IS/ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
C=2 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= £ 100.0 0.0 0.0 0.0 100.0 0.0 0.0
st A4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ =l 100.0 0.0 0.0 36.0 0.0 0.0 64.0
<ASE>
508k 0] Bt 100.0 0.0 0.0 72.4 0.0 0.0 7.6
50~1008+& 100.0 0.0 0.0 24.2 0.0 0.0 75.8
100~2009+ 100.0 0.0 0.0 42.0 0.0 0.0 58.0
200~3008+ 100.0 0.0 100.0 0.0 0.0 0.0 0.0
300~4008t= 100.0 42 .9 0.0 0.0 29.7 27.4 0.0
400~6002+ 100.0 0.0 30.5 0.0 69.5 0.0 0.0
6008+ O] Ak 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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[E 2-3-16] EHII= & & (S : %)
X4
2 = HE X
p| S AR EtAIE 29
2015 100.0 0.0 100.0 0.0
s = 100.0 0.0 100.0 0.0
soe 0.0 0.0 0.0 0.0
<He>
4 I 100.0 0.0 100.0 0.0
of Xt 0.0 0.0 0.0 0.0
EEN
15~29Al 0.0 0.0 0.0 0.0
30~39Al 0.0 0.0 0.0 0.0
40~49A 0.0 0.0 0.0 0.0
50~59Al 0.0 0.0 0.0 0.0
B0 0] At 100.0 0.0 100.0 0.0
65101 At 100.0 0.0 100.0 0.0
<shE >
=Z0|5 100.0 0.0 100.0 0.0
o= 0.0 0.0 0.0 0.0
CHE Ol A 0.0 0.0 0.0 0.0
<HBSKEEE>
Xt oA 100.0 0.0 100.0 0.0
& | 0.0 0.0 0.0 0.0
= -I=PX 0.0 0.0 0.0 0.0
<EIE>
/e 0.0 0.0 0.0 0.0
A2 0.0 0.0 0.0 0.0
AN HIA/EHOH 0.0 0.0 0.0 0.0
S0 Y 0.0 0.0 0.0 0.0
IS/ 0.0 0.0 0.0 0.0
ChaLg 0.0 0.0 0.0 0.0
= = 0.0 0.0 0.0 0.0
s A 0.0 0.0 0.0 0.0
2 = 100.0 0.0 100.0 0.0
<AEHE>
508H2l O] Bt 0.0 0.0 0.0 0.0
50~1008+2l 100.0 0.0 100.0 0.0
100~2009+ 0.0 0.0 0.0 0.0
200~3008+< 0.0 0.0 0.0 0.0
300~4008+S 0.0 0.0 0.0 0.0
400~6008+H 0.0 0.0 0.0 0.0
6002+l 0] A 0.0 0.0 0.0 0.0
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[ 2-3-17] 2HJI= & (S %)
X4
- o HFEOIR
_ IE 2t 2HA
H Al =18 _ Ad W= = J|EF
=3} 01
20154 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
s = 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
5 8 5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<8gE>
= X 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
o X 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<Hg 4>
15~29 A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40~49AM 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~59Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
604l 0] & 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
65KI0] A 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
<shatg>
=Z0|5t 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
n = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
CH=0l 4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<HEREE>
X o] & 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
b Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2N L 24 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<A AYE>
&E2/2el 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN HIA/ELDY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SE0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JIs/213 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
G2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
<ASHE>
508+ 0| Gt 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~1009+3 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
100~2000+< 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
200~30082t2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
300~40082t2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
400~6002+4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
6008+ 0] A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
% B 0 201589 Al AFEI X AF

— 203 —



== 201651 C1A| AIZIZSAL M

[E 2-3-18] 2HIt= &%

X4
a2 e = )2t
= 6-12H8
p| 6IHE 0O1pt ol 1-21 0|9 | 2-34 O|QF | 3-5 O|gt | 5 O]A
20154 100.0 0.0 0.0 0.0 0.0 0.0 100.0
s = 100.0 0.0 0.0 0.0 0.0 0.0 100.0
soe 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<ge>
=\ 100.0 0.0 0.0 0.0 0.0 0.0 100.0
(0 I\ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EEN
15~29Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40~49A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~59Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B0 0] At 100.0 0.0 0.0 0.0 0.0 0.0 100.0
65K 0] A 100.0 0.0 0.0 0.0 0.0 0.0 100.0
=N
=Z0|ot 100.0 0.0 0.0 0.0 0.0 0.0 100.0
i = 0.0 0.0 0.0 0.0 0.0 0.0 0.0
CHE Ol & 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<ESHE>
Xt oA 100.0 0.0 0.0 0.0 0.0 0.0 100.0
o | 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2H & 24 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<EIE>
e/ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A2 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN HIA/THOH 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SENY 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IS/ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=L 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= g 0.0 0.0 0.0 0.0 0.0 0.0 0.0
st A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ eS| 100.0 0.0 0.0 0.0 0.0 0.0 100.0
<AEHE>
508t 0|8t 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~1008+Rl 100.0 0.0 0.0 0.0 0.0 0.0 100.0
100~2009+ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
200~3008+ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
300~4008+ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
400~6008t= 0.0 0.0 0.0 0.0 0.0 0.0 0.0
6008+ 0] 4k 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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20154 0.0 0.0 0.0 0.0

s = 0.0 0.0 0.0 0.0

=R 0.0 0.0 0.0 0.0

<8gE>

4 X 0.0 0.0 0.0 0.0

o X 0.0 0.0 0.0 0.0

EER

15~29A 0.0 0.0 0.0 0.0

30~39Al 0.0 0.0 0.0 0.0

40~49H 0.0 0.0 0.0 0.0

50~59A 0.0 0.0 0.0 0.0

604l 0|2 0.0 0.0 0.0 0.0

65AKI10] & 0.0 0.0 0.0 0.0

<stzE>

SE0I5t 0.0 0.0 0.0 0.0

) £ 0.0 0.0 0.0 0.0

CHE0| 4t 0.0 0.0 0.0 0.0
<ERE>

A Ol & 0.0 0.0 0.0 0.0

o Al 0.0 0.0 0.0 0.0
2N ¥ 24 0.0 0.0 0.0 0.0

<zE>

HE2/2E 0.0 0.0 0.0 0.0

At ? 0.0 0.0 0.0 0.0
M2 /oY 0.0 0.0 0.0 0.0

s80dY 0.0 0.0 0.0 0.0
As/I1A 0.0 0.0 0.0 0.0

HG=F 0.0 0.0 0.0 0.0

=5 2 0.0 0.0 0.0 0.0

g A 0.0 0.0 0.0 0.0

2 2 0.0 0.0 0.0 0.0
<ASE>
502+ D)8t 0.0 0.0 0.0 0.0
50~1002+2 0.0 0.0 0.0 0.0
100~2008+H& 0.0 0.0 0.0 0.0
200~3002H 0.0 0.0 0.0 0.0
300~4008+l 0.0 0.0 0.0 0.0
400~6002+R 0.0 0.0 0.0 0.0
6008+ 0|4t 0.0 0.0 0.0 0.0
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[E 2-3-20] 2HJI=5 8 & (&2l @ %)
XHH5
2 = HZF0|5=
_ = 2t 2HA
H Al st _ Ad W= = J|EF
=3} ol
20154 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s g 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5 8 5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<8gE>
=B\ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o X 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<Hg 4>
15~29A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40~49A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~59Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
60AI0] & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
65MI10] A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<staEdE>
SE0l5t 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
n = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
CHE0) & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<HEREE>
X ol A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
& Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
M Y 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<A AYE>
&E2/2el 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A g2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AN HIA/ELDY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s80HdY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
JIs/I1AH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=L 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= g 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
st M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<ASEHY>
5083 0|2k 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~1009+3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
100~2008+< 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
200~3008t=! 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
300~4008t=! 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
400~6008H 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
60022 0| A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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A5
- F oI
= 6-1212
W | enm o | O PN 1-2u Die | 231 D1 | 35 02 | 5 Ol
20154 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= 5 0.0 0.0 0.0 0.0 0.0 0.0 0.0
S8R 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<g#>
g X 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o X 0.0 0.0 0.0 0.0 0.0 0.0 0.0
NCEER
15~29Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30~39Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
40~49H 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~59Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
60014 0.0 0.0 0.0 0.0 0.0 0.0 0.0
65KI01 & 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<>
SZ0|ot 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1 £ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
CE 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<HR¥H>
Aol E 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2N & 2o 0.0 0.0 0.0 0.0 0.0 0.0 0.0
x>
se/ze 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 5 0.0 0.0 0.0 0.0 0.0 0.0 0.0
NHIA/EOH 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SEOY 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IS/I1A 0.0 0.0 0.0 0.0 0.0 0.0 0.0
S@HEr P 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= 5 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8t 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5 | 0.0 0.0 0.0 0.0 0.0 0.0 0.0
<ASE>
508+ 0|2t 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~1008+ 0.0 0.0 0.0 0.0 0.0 0.0 0.0
100~2008H& 0.0 0.0 0.0 0.0 0.0 0.0 0.0
200~3002H& 0.0 0.0 0.0 0.0 0.0 0.0 0.0
300~4002& 0.0 0.0 0.0 0.0 0.0 0.0 0.0
400~6002H& 0.0 0.0 0.0 0.0 0.0 0.0 0.0
6002t2 0|4 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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[E 2-4] OlAAQI X% (] @ o, %)
WPETIRpERS
o o B ots g
= (o) 5 o o o o e 59 | @ma) | @m@2)
20154 2.5 100.0 1.3 6.4 52.1 24.0 13.4 2.8 1.2 1.3
s = 2.5 100.0 1.4 7.0 54.9 22.5 12.2 2.1 1.1 1.3
= d8H 82 2.8 100.0 1.1 3.9 40.8 30.3 18.3 5.7 1.3 1.5
<d4>
=\ 2.5 100.0 1.5 5.1 56.5 23.3 11.2 2.4 1.2 1.3
(0 Xt 2.6 100.0 1.2 7.7 47.6 24.8 15.6 3.2 1.2 1.4
<HZEE>
15~29Al 2.0 100.0 2.8 15.2 64.7 12.0 4.7 0.7 0.9 1.1
30~39All 2.3 100.0 1.5 6.4 60.9 20.6 10.6 0.0 1.1 1.3
40~49Al 2.5 100.0 1.4 3.8 58.5 28.3 12.2 0.8 1.2 1.3
50~59All 2.5 100.0 0.8 4.9 53.8 26.4 12.5 1.7 1.2 1.3
60AHI 0] & 3.1 100.0 0.4 1.6 33.6 31.5 24.2 8.6 1.5 1.6
65HI0] & 3.2 100.0 0.0 2.0 28.8 30.7 27.2 11.3 1.6 1.7
<sEYE>
==0|of 2.7 100.0 1.1 6.2 43.8 24.5 18.6 5.8 1.3 1.4
i = 2.4 100.0 1.6 6.9 541 24.4 11.3 1.7 1.1 1.3
CH=0] 4k 2.3 100.0 1.2 5.9 60.1 22.9 9.5 0.4 1.1 1.2
<HSKEEI>
A Ol & 2.8 100.0 0.9 3.0 46.8 28.1 16.1 5.1 1.3 1.4
S| Al 2.4 100.0 0.0 14.6 52.2 14.5 16.5 2.2 1.1 1.3
2Hd & 24 2.4 100.0 1.6 4.2 60.5 21.7 9.9 2.2 1.2 1.3
<E QY>>
& E/2e 2.4 100.0 1.1 5.8 55.0 27.5 10.8 0.4 1.2 1.3
A £ 2.3 100.0 0.5 9.8 60.0 21 .1 8.6 0.0 1.1 1.2
Al H|A/EHH 2.5 100.0 0.8 4.4 59.6 18.6 15.6 1.0 1.2 1.3
S 3.2 100.0 1.0 2.0 30.2 33.1 21.5 12.2 1.6 1.6
JIS/I1A 2.5 100.0 1.1 4.2 55.4 25.3 10.9 3.0 1.2 1.3
=22 2.4 100.0 3.4 3.3 54.0 29.9 8.9 0.6 1.2 1.2
= 2 2.7 100.0 0.6 4.7 45.6 30.4 16.8 1.9 1.2 N5
st A 2.0 100.0 1.1 17.3 67.0 10.1 4.2 0.3 0.9 1.1
£ eS| 2.8 100.0 2.8 5.6 42 .4 24 1 18.2 7.0 1.3 1.5
<ASE>
508+ 0|8t 3.2 100.0 0.0 4.1 37.5 23.9 17.0 17.6 1.5 1.8
50~1008H 3.0 100.0 1.5 3.0 33.5 30.0 24.8 7.1 1.4 1.5
100~2008+ 2.5 100.0 0.5 3.8 55.0 26.0 12.9 1.9 1.2 1.3
200~3008+ 2.5 100.0 3.4 3.6 54.8 24.6 10.7 3.0 1.2 1.3
300~4008+ 2.4 100.0 0.0 6.5 58.2 25.4 9.4 0.5 1.2 1.2
400~6002+ 2.7 100.0 0.0 2.9 52.4 23.6 19.3 1.8 1.3 1.4
6009+ 04+ 2.3 100.0 0.0 54 62.9 25.2 6.5 0.0 1.0 1.3
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ESETTT EVYET!
=i S0t o1l SOEE | ____ | 2808 | 2SAE | 52 % | S4EY
bl HSDSH| iliif A ;r"ij; A& HHA | =SAE | 297 JIE
EET = A3 x| LEEA =3 =4
253 Wkl
20154 100.0 39.1 11.2 12.7 7.5 11.1 6.9 7.7 8.5 0.4
=1 £ 100.0 38.1 11.6 13.1 8.0 10.4 6.6 8.1 3.7 0.4
= 4 g2 100.0 43.0 9.5 11.0 5.6 14.0 7.7 6.1 2.8 0.1
<Hd4>
=S\’ 100.0 39.8 9.9 13.6 7.6 11.3 6.5 7.2 3.8 0.3
o X 100.0 38.4 12.4 11.7 7.4 10.9 7.2 8.2 3.2 0.4
<y g>
15~29A 100.0 36.5 9.7 18.4 8.1 8.4 5.8 9.8 3.4 0.0
30~39Al 100.0 44 1 9.5 14.9 7.6 9.7 5.6 5.8 1.9 0.9
A0~49 A 100.0 36.8 10.3 11.2 8.2 11.6 6.5 10.2 4.4 1.0
50~59A 100.0 37.6 12.7 9.9 7.9 13.1 7.6 6.9 4.1 0.2
60AI0] A 100.0 41.3 12.9 9.6 6.2 12.3 8.2 5.9 3.5 0.0
65AHI10] & 100.0 41.8 12.8 8.8 5.7 11.8 8.8 6.3 4.0 0.1
<staE >
SE0lol 100.0 39.4 11.3 11.6 7.4 12.0 8.6 6.4 3.1 0.1
) = 100.0 38.6 11.7 12.6 6.9 10.1 6.8 8.8 4.4 0.1
Z0| 4t 100.0 39.4 10.2 14.0 8.5 11.3 4.8 8.0 2.9 0.9
<BSEH>
A ol & 100.0 40.3 11.5 10.4 7.5 12.3 7.8 6.4 3.5 0.3
b Al 100.0 36.7 13.3 10.2 8.4 11.8 6.5 10.9 2.3 0.0
M L 24 | 100.0 40.7 9.6 11.3 7.6 11.5 8.4 7.3 3.3 0.4
<HgY>
& Z2/2el 100.0 37.5 10.9 11.9 8.9 13.0 5.3 7.8 4.5 0.2
Ak £ 100.0 36.9 10.5 15.1 8.6 11.5 5.0 8.8 3.1 0.6
AN HIA/ELOY 100.0 37.9 11.6 10.9 8.0 12.3 8.7 7.1 2.9 0.6
S0 100.0 44.0 8.3 10.8 3.2 18.9 7.9 5.2 1.7 0.0
Js/I1AH 100.0 40.5 12.9 11.5 7.2 8.8 5.8 9.1 3.5 0.6
S=r2 100.0 38.5 12.0 16.2 7.0 9.7 9.2 6.6 0.8 0.1
> = 100.0 41.3 12.4 9.5 6.4 10.2 7.3 8.0 4.2 0.7
st A 100.0 30.7 9.8 21.8 10.2 7.8 5.9 10.3 3.4 0.0
2 = 100.0 43.2 10.3 10.6 7.3 11.2 6.4 6.1 4.8 0.1
<ASEE>
5083 0|2k 100.0 45.2 12.8 8.0 71 9.4 9.3 6.2 1.8 0.2
50~1008+& | 100.0 42 1 11.8 9.8 6.2 12.2 9.3 5.0 3.6 0.0
100~2002+= || 100.0 36.2 9.5 9.3 71 15.2 10.4 7.5 4.2 0.6
200~3008+= | 100.0 36.3 12.8 15.3 7.9 9.9 6.3 7.8 3.6 0.0
300~4008H= | 100.0 41.4 11.9 9.2 7.6 10.6 10.4 5.3 3.6 0.0
400~6008H= | 100.0 44.5 9.0 10.1 8.8 12.4 3.7 7.6 3.1 0.9
6008t Ol4F || 100.0 39.1 8.7 8.9 7.6 17.2 5.6 9.6 3.3 0.0
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[E 2-5-2] &4 SHO g oA

=F U = A0}
2 =2 S0t apemy | TR ooy | ERRS | 2SN | RE 2 | sS4z
A 2SS DSH| ?usastcu A ";‘J A& HHIA | AR | 297 JIE
A= = 43 =h AZEA =3 =4
2a3 ]

20154 100.0 48.8 9.3 11.8 6.8 9.4 5.1 5.5 2.7 0.4

= g 100.0 47 .4 10.0 12.5 7.3 8.7 5.0 5.8 2.8 0.5

= 4 g2 100.0 54.7 6.7 9.1 4.7 12.3 5.9 4.3 2.2 0.1

<Hd4>

= X 100.0 49.5 7.8 13.1 7.0 9.6 4.7 5.0 3.0 0.3

(0;] N 100.0 48.2 10.9 10.6 6.6 9.3 5.6 6.0 2.8 0.6

<oHge>

15~29Al 100.0 447 7.8 18.9 7.4 7.6 4.3 7.5 1.9 0.0

30~39All 100.0 55.0 6.9 14.0 6.9 8.4 3.1 2.8 1.7 1.1

40~49A 100.0 46.2 8.8 10.0 7.2 9.8 4.4 8.4 4.2 1.2

50~59Al 100.0 46.8 11.5 9.2 7.7 10.9 6.4 3.9 SRS 0.3

60AI0] & 100.0 52.3 11.0 7.8 5.8 10.3 6.7 4.4 2.2 0.0

65HI0] & 100.0 53.0 10.4 7.0 5.1 9.3 7.6 4.7 2.8 0.0

<stsAg>

=Z0|6} 100.0 49.2 9.2 10.0 6.7 10.9 7.4 4.6 1.8 0.2

1 = 100.0 48.1 10.5 12.1 5.9 8.2 4.7 6.8 3.5 0.1

tH=0| 4k 100.0 49.2 8.0 13.8 8.0 9.2 2.9 5.0 2.6 1.1
<BREH>

X ol & 100.0 50.3 10.0 9.2 6.8 10.3 5.9 4.5 2.8 0.3

bS] Al 100.0 447 12.4 8.1 8.0 13.5 4.5 8.7 0.0 0.0
24 & 24 | 100.0 51.2 7.0 10.3 6.6 9.6 7.8 4.8 2.4 0.3

<HgY>

HZ2/2e 100.0 47.9 8.5 11.3 9.3 10.8 1.8 5.5 4.5 0.3

Ak £ 100.0 45.5 10.0 14.3 8.6 10.3 3.1 4.7 2.8 0.7
MBI A /Tl 100.0 46.9 8.3 10.0 8.0 11.7 7.5 4.7 2.2 0.7

S 100.0 56.5 3.1 9.4 2.0 19.6 5.8 2.8 0.9 0.0

Jls/IA 100.0 50.7 12.0 10.3 6.2 6.4 3.8 7.3 2.7 0.7

= 100.0 46.9 1.7 16.1 6.1 6.1 8.4 4.8 0.0 0.0

= £ 100.0 52.7 11.5 8.5 4.8 7.8 5.0 5.3 SRS 1.0

st A 100.0 36.2 8.5 22.8 9.7 8.0 5.1 8.2 1.8 0.0

== = 100.0 54.2 7.9 8.7 6.3 8.7 5.8 5.0 3.9 0.0

<ASEE>
5083 0|2k 100.0 56.7 9.9 4.8 6.4 7.8 9.0 4.8 0.7 0.0
50~1009+3 100.0 53.0 9.5 10.4 4.7 10.3 7.3 2.4 2.3 0.0
100~2002H& | 100.0 449 7.3 6.9 6.5 141 10.1 5.5 3.8 0.8
200~3002+& || 100.0 44 .3 13.1 16.1 6.5 8.1 3.8 5.7 2.3 0.0
300~4008+& || 100.0 51.4 8.7 7.7 9.2 7.3 9.8 B 2.6 0.0
400~6008+& || 100.0 56.8 6.8 7.3 7.8 10.7 1.4 6.0 2.1 0.9
6002t OJAF || 100.0 49.6 8.0 8.8 5.9 17.0 2.0 5.6 3.1 0.0
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[E 2-5-3] H&& SHO

8t 92

—

= 2015

O1RA| AIZIZSAF EHTIM

(&2 : %)

amy | 2SN | B4

7B ggok | o SOHER | _ o o o 4 BN 2 | 2oz

W | msasy | 2UES ) g | FESTH | ESAS L L0 | csam | =0 JIEH
s | £ A& @xi .
EET &4 3t say | TEE =3 =4
o .k

20154 100.0 9.9 16.7 15.2 9.6 16.0 12.0 14.4 6.1 0.1

= £ 100.0 10.4 16.3 14.8 9.9 15.2 1.7 15.0 6.5 0.1

S 100.0 8.0 18.0 16.6 8.4 19.2 13.4 11.8 4.6 0.1

<de>

2 X 100.0 10.7 16.2 15.2 9.4 16.4 11.9 13.7 6.2 0.2

6 X 100.0 9.1 17.1 15.1 9.9 15.6 12.1 15.1 6.0 0.0

<HEe>

15~29A 100.0 11.8 15.4 16.8 10.2 10.9 10.4 16.6 7.9 0.0

30~39Al 100.0 11.7 17.1 17.3 9.8 13.8 13.2 14.6 2.5 0.0

40~49AM 100.0 8.7 15.0 14.7 11.1 16.9 12.8 15.6 4.8 0.3

50~59A 100.0 10.0 16.5 12.0 8.4 19.7 11.1 15.8 6.5 0.1

600 & 100.0 8.1 18.8 15.2 8.8 18.3 12.9 10.4 7.4 0.1

65A(0] 4t 100.0 8.1 20.1 13.9 7.7 19.1 12.2 111 7.6 0.2

<stE">

=ZE0I5t 100.0 9.8 17.9 16.5 9.4 15.3 12.3 12.0 6.8 0.0

1 ES 100.0 10.0 15.4 141 9.6 15.6 13.0 14.8 7.4 0.2

CHE0| & 100.0 10.0 16.8 14.8 9.9 17.3 10.4 17.0 3.7 0.2
<EREH>

NI S| 100.0 10.3 16.0 14.0 9.3 18.5 13.7 12.3 589 0.1

o Al 100.0 12.6 16.1 16.2 9.5 6.8 12.4 17.3 9.1 0.0
M 2 24 | 100.0 9.2 17.4 141 10.6 17.3 10.3 14.5 6.1 0.5

<HHE>

dZ/2e 100.0 6.2 18.0 13.8 7.7 19.6 15.8 14.6 4.2 0.0

At 2 100.0 11.3 11.8 17.5 8.6 15.0 10.6 20.9 41 0.0
MNHIA/EOH 100.0 111 21.5 13.6 8.1 141 12.3 14.2 5.0 0.0

SEHY 100.0 6.5 241 15.0 6.9 16.8 141 12.3 4.3 0.0
Jls/I1A 100.0 10.0 15.7 14.9 10.2 16.1 11.9 14.5 6.1 0.6

S 100.0 13.3 12.8 16.5 9.8 20.4 11.6 12.0 3.2 0.3

= £ 100.0 71 15.0 12.5 11.0 17.5 14.2 15.9 6.9 0.0

Sh e 100.0 14.2 13.4 18.8 11.7 6.9 8.3 16.9 9.8 0.0

£ =l 100.0 10.1 17.7 16.3 10.2 18.7 9.8 9.3 7.7 0.2
<ASE>
508t 0|2t | 100.0 10.8 21.6 17.6 9.4 14.2 10.4 10.3 4.9 0.8
50~1008+& | 100.0 9.2 18.8 7.9 10.8 17.8 15.4 12.9 7.2 0.0
100~2008+H& | 100.0 9.9 16.0 16.5 8.8 18.5 11.5 13.5 5.4 0.0
200~3002t&l | 100.0 12.1 11.9 13.1 12.0 15.3 13.9 14.2 7.4 0.0
300~4002t& | 100.0 11.3 21.5 13.8 3.0 20.6 12.0 11.4 6.4 0.0
400~60092tRl | 100.0 7.7 15.3 18.3 11.7 17.4 10.4 12.3 6.0 0.9
6002t 0|4F | 100.0 7.7 10.9 9.3 12.4 17.9 16.4 21.5 3.8 0.0
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[ 3-1] 282 )i A5 (91 1 %)
500+ 50~100 100~200 | 200~300 | 300~400 | 400~500 | 500~600 | 600~700 7002+
> =2 A S grel Bl gHel gl arel arel BHel o
ol o4
ol ol ol olet nIgt nie niet
20154 100.0 10.6 12.8 17.7 22.0 14.7 10.0 5.5 3.1 3.6
= 2 100.0 9.0 10.3 16.8 21.1 16.5 11.7 6.5 3.6 4.5
s 82 100.0 16.0 21.7 21.1 251 8.6 4.0 2.0 1.4 0.3
<HE>
=2 X 100.0 4.5 9.8 16.9 24.8 17.9 1.2 7.1 3.2 4.5
o X 100.0 28.7 21.9 20.0 13.5 5.2 6.3 0.5 2.9 1.0
<HEeE>
15~29Al 100.0 7.6 0.0 42.7 49.7 0.0 0.0 0.0 0.0 0.0
30~39A 100.0 0.9 0.6 7.7 35.9 24.0 14.4 6.8 5.7 4.0
40~49A 100.0 1.2 4.9 1.7 25.3 24.4 14.6 9.0 3.9 5.0
50~59A 100.0 5.7 7.4 17.1 18.8 18.3 12.8 8.5 4.8 6.6
60AI0| & 100.0 24.8 28.3 24.7 13.7 2.8 3.8 0.8 0.5 0.6
65AKI10] & 100.0 31.3 34.0 21.2 10.2 1.7 1.2 0.0 0.3 0.0
<&HE>
SZ0I5t 100.0 25.7 28.7 22.4 14.1 3.0 3.4 2.0 0.7 0.0
i ES 100.0 3.9 6.4 20.8 30.7 18.8 9.5 4.6 3.4 1.9
CHE0l & 100.0 1.3 2.4 8.4 20.5 23.4 18.2 10.7 5.5 9.8
<HREH>
Aol & 100.0 9.2 13.3 16.4 20.2 16.3 1.1 5.6 3.8 4.1
o Al 100.0 7.7 7.0 25.2 22.9 13.3 14.2 3.1 4.8 1.7
M 2 2 100.0 14.5 12.9 19.0 26.1 11.2 6.3 5.9 1.2 2.8
<A HdE>
HE2/2E 100.0 0.0 2.0 6.5 21.4 21.3 19.9 9.7 8.3 10.9
At 2 100.0 0.0 0.0 10.7 17.5 21.7 23.4 16.4 5.1 5.2
N H|A/THOR 100.0 0.3 6.3 21.1 29.7 20.3 11.6 3.2 3.8 3.7
SEOUY 100.0 11.9 27.7 26.0 21.0 6.4 3.8 2.4 0.8 0.0
s/21A 100.0 0.3 2.1 13.7 31.7 21.2 12.9 9.4 3.9 4.8
H= R 100.0 5.4 18.0 32.5 23.4 13.0 4.1 3.6 0.0 0.0
=5 2 100.0 27.4 14.8 16.6 17.5 11.3 9.5 0.0 2.9 0.0
E e 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ = 100.0 37.5 29.9 17.8 9.2 2.9 0.3 0.5 0.5 1.3
<ASHE>
508+ D] 2t 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
50~100EH 100.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
100~2008+& 100.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
200~3008t& 100.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0
300~4008+& 100.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0
400~6002H2 100.0 0.0 0.0 0.0 0.0 0.0 64.5 35.5 0.0 0.0
6008+ 0| & 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 46.7 53.3
¥ B 1 20158 O==Al ALSIZAL
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[E 3-2] )7 AS9| 58 49

2245 ¢ X E= &= Massox, HPEX T
T = A ArRAS X BHA= S), NR=S RS oIE
A3, o3, 92
20154 100.0 75.4 8.0 8.3 8.0 0.3
s 7 100.0 76.4 7.7 8.1 7.4 0.4
g8 s 100.0 7.7 8.9 9.1 10.3 0.0
<d8>
g X 100.0 82.4 4.0 8.2 5.0 0.4
o I 100.0 54.2 19.7 8.8 17.3 0.0
<HgE>
15~29A 100.0 92.4 7.6 0.0 0.0 0.0
30~39Al 100.0 96.4 0.0 2.6 1.0 0.0
40~49H 100.0 93.1 0.8 2.3 2.6 1.2
50~59Al 100.0 87.8 4.1 2.6 5.4 0.0
6001 & 100.0 441 19.1 19.5 17.3 0.0
65AI01 & 100.0 31.3 24.6 21.4 22.6 0.0
<stEE>
SZ0lot 100.0 49.3 19.6 12.2 18.9 0.0
2 = 100.0 86.4 3.4 6.5 3.2 0.4
HE0l & 100.0 92.1 0.0 6.1 1.4 0.4
<B=EE>
ol & 100.0 74.7 8.1 10.8 6.5 0.0
sl Al 100.0 82.4 2.8 7.7 5.0 2.2
M 2 24 100.0 75.5 8.9 2.6 12.6 0.5
<HYE>
dZ/2el 100.0 100.0 0.0 0.0 0.0 0.0
AR 100.0 100.0 0.0 0.0 0.0 0.0
A Bl A2 100.0 94.9 0.7 3.6 0.0 0.8
SO 100.0 84.0 3.2 7.9 4.9 0.0
S/ 100.0 98.4 0.0 0.9 0.7 0.0
= F 100.0 94.6 2.8 1.7 0.8 0.0
= 7 100.0 46.8 22.8 7.9 22.6 0.0
s 4 0.0 0.0 0.0 0.0 0.0 0.0
2 A 100.0 6.2 30.7 31.2 31.2 0.7
<ASE>
508t& 0/t 100.0 8.4 241 13.3 54.2 0.0
50~1008+& 100.0 41.3 31.3 13.3 14.1 0.0
100~2002+& 100.0 77.5 6.0 13.5 2.2 0.8
200~30082+3 100.0 89.8 1.6 8.0 0.6 0.0
300~4002+3 100.0 95.3 0.0 3.8 0.0 0.9
400~6008+& 100.0 98.3 0.0 1.7 0.0 0.0
6002t 014 100.0 96.6 0.0 3.4 0.0 0.0
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[E 3-3] 2P It AH| (&S] : %)
- 508 50~100 100~200 200~300 300~400 400~500 5008t
? == A 0] gk gt ol &t oLl 0] 2t oLl 0|2k oF 0]g oLl DBk o] &
20154 100.0 16.1 20.7 28.1 171 11.7 4.8 1.5
= 2 100.0 13.1 19.5 27.3 18.9 13.6 5.7 1.9
=5 8 5 100.0 26.8 25.1 30.7 10.9 5.1 1.4 0.0
=
=t X 100.0 9.1 18.1 31.0 20.1 14.2 55 2.0
(0 I\ 100.0 37.2 28.7 19.1 8.2 4.2 2.5 0.0
EEN
15~29Al 100.0 7.6 35.2 43.2 141 0.0 0.0 0.0
30~39Al 100.0 2.0 15.4 9.7 27.6 11.4 6.3 1.5
40~49Al 100.0 3.5 11.3 28.1 27.2 21.2 6.8 1.9
50~59All 100.0 10.5 17.2 27.0 17.9 17.4 7.5 2.6
60AI 0] & 100.0 35.6 30.9 24.4 5.3 2.2 1.1 0.6
65K 0] & 100.0 44.7 30.8 19.9 2.7 1.6 0.3 0.0
<sAYE>
=Z0|of 100.0 37.3 30.6 22.5 5.1 2.9 1.7 0.0
i = 100.0 71 18.9 375 21.4 11.9 2.8 0.3
tH=0| 4k 100.0 2.7 11.7 23.0 25.7 21.7 10.6 4.6
<HSREE>
A D A 100.0 14.7 19.2 28.5 17.6 12.6 5.7 1.7
o Al 100.0 11.1 19.7 34.8 17.6 14.8 2.0 0.0
AN & A 100.0 20.9 24.6 25.4 15.8 8.8 3.2 1.3
<EHgg>
HE2/22 100.0 0.6 9.1 21.2 27.6 26.2 9.6 5.6
Ak £ 100.0 0.8 12.9 31.2 21.2 17.7 16.3 0.0
AN HIA/THOH 100.0 4.2 21.7 33.7 19.6 13.8 6.0 0.9
SEE0Y 100.0 28.8 25.2 31.4 6.5 5.0 3.0 0.0
JIs/I1 A 100.0 1.4 14.3 34.9 25.9 16.7 4.0 2.8
= 100.0 14.5 29.2 39.0 11.0 5.0 1.2 0.0
= £ 100.0 33.7 17.0 21.5 18.4 71 2.4 0.0
st A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
== = 100.0 46.3 30.6 15.1 6.3 1.2 0.0 0.5
<AEHE>
508+ 0| Gt 100.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
50~1008H 100.0 35.7 64.3 0.0 0.0 0.0 0.0 0.0
100~2002+& 100.0 3.6 41.3 551 0.0 0.0 0.0 0.0
200~3008+ 100.0 1.7 19.5 55.8 23.5 0.0 0.0 0.0
300~4008t= 100.0 0.0 4.4 29.4 451 21.1 0.0 0.0
400~6008+ 100.0 0.0 0.8 11.1 271 40.4 18.2 2.3
6008+ O] Ak 100.0 0.0 1.7 1.5 16.5 34.8 28.7 16.9
% B 201589 Al AFSIEZAF
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[E 34-1] 2= MEH &= (&2 @ %)
T = bl ABEH | =3H | mEH o M =2 gt e saHl | =AM | JIE
o= T - SZH| " azH | Q2| =
20154 100.0 27.4 14.5 4.8 6.4 1.1 16.1 15.5 1.1 5.1 7.5 0.4
= £ 100.0 27.8 15:8 4.2 6.9 1.8 14.0 17.7 0.9 4.8 6.8 0.3
S 95 100.0 25.9 11.5 6.9 4.7 0.7 23.8 7.7 1.7 6.0 10.2 0.9
<HgE>
= A 100.0 28.0 13.7 5.3 6.6 0.6 13.1 18.1 1.2 5.4 7.4 0.5
o X 100.0 25.8 16.8 SRS 5.9 2.6 25.2 7.8 0.5 4.1 7.7 0.2
<HEE>
15~29Al 100.0 23.6 38.4 2.4 10.5 0.0 10.0 0.0 3.7 5.7 5.7 0.0
30~39All 100.0 32.3 21.8 6.5 6.2 1.3 2.7 20.5 2.5 4.7 1.4 0.2
40~49A 100.0 25.3 14.8 4.3 5.4 1.9 2.6 34.4 0.6 6.5 3.5 0.6
50~59Al 100.0 28.2 15.3 6.5 7.3 1.0 9.2 15.1 1.1 7.0 9.1 0.2
60Al0| A 100.0 26.6 8.5 3.4 6.2 0.7 36.7 1.9 0.5 2.9 12.0 0.5
65MI0] & 100.0 26.2 7.6 2.3 5.2 0.7 43.5 1.0 0.5 2.1 10.2 0.7
<sAEY>
SZ0|ot 100.0 26.8 10.3 41 6.4 0.8 33.7 3.8 0.5 3.6 9.4 0.6
) = 100.0 26.4 18.8 5.0 7.0 1.2 10.2 17.0 0.9 5.9 7.1 0.5
HE 0| & 100.0 29.6 13.8 5.3 5.6 1.4 B0 27.2 1.9 5.8 5.9 0.1
<HESEED>
Aol & 100.0 26.5 9.6 4.3 6.5 0.5 20.6 16.6 0.8 4.8 9.1 0.6
o Al 100.0 39.4 9.9 2.4 7.2 2.0 9.3 13.1 0.5 9.2 7.1 0.0
SN L 24 [ 100.0 26.9 27.3 6.5 6.0 2.4 7.1 13.6 1.7 4.9 3.7 0.0
<HgE>
HZ2/2te 100.0 32.0 15.9 BN 7.6 0.4 3.8 24.3 2.3 4.0 5.2 0.9
Ak £ 100.0 30.1 12.3 3.6 4.2 1.2 2.5 32.9 1.4 9.1 2.8 0.0
AN HIA/EHDY 100.0 27.3 17.3 4.3 8.6 3.0 7.1 15.9 2.0 4.2 9.7 0.5
80 100.0 22.0 7.8 6.2 5.9 1.3 28.0 7.9 0.3 7.0 11.8 1.8
Jls/I1A 100.0 24.9 17.3 6.6 5.6 0.6 6.3 26.0 0.4 6.5 5.7 0.2
=2 100.0 27.5 11.3 8.6 7.7 1.4 18.1 7.3 1.3 6.1 10.7 0.0
= g 100.0 31.0 13.6 2.1 7.6 0.0 24.0 9.7 0.0 5.8 6.2 0.0
st A4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 = 100.0 27.6 13.9 2.7 4.5 0.6 37.9 2.1 0.4 2.4 7.7 0.1
<ASE>
508+ DI2+ || 100.0 23.8 15.9 3.2 5.0 0.0 39.2 0.9 0.8 3.3 7.7 0.2
50~1009+3 100.0 26.2 12.5 3.6 5.8 1.7 39.6 0.9 0.0 2.4 7.6 0.0
100~2002H& || 100.0 26.6 12.6 6.7 6.7 1.5 21.6 6.2 0.0 5.4 11.7 0.9
200~3008H& || 100.0 27.2 20.7 5.8 8.3 1.5 9.6 14.1 1.5 5.2 6.6 0.0
300~4002t= | 100.0 30.9 15:8 5.1 7.5 1.2 2.4 22.2 1.0 8.0 5.5 1.1
400~6002t& | 100.0 28.1 10.1 5.1 6.0 0.6 2.4 31.9 2.2 5.9 7.6 0.2
6002H& 0J&F || 100.0 29.5 8.7 1.8 2.6 0.5 4.3 42 .9 2.3 3.6 3.4 0.5
% X 201589 Al AFSIZ AL
* J=0 S, XY 139 14, 8. 24. ~ * 15, 8. 23))
¥ JIEEI(1=9=3%, 2=2=1%)
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[E 3-4-2] 2= MEH &= (&2 @ %)
129
T = bl ABEH | =4 | D= o S =2 g e saHl | =AM | JIE
o=e T - SZH| " ozH | Q2| =
20154 100.0 26.8 16.0 3.6 5.4 0.8 18.1 18.2 0.9 2.8 6.9 0.3
= g 100.0 27.0 17.0 3.0 6.1 1.0 15.6 20.7 0.7 2.4 6.3 0.2
S H 5 100.0 25.9 12.6 5.7 3.1 0.3 271 9.4 1.7 41 9.1 0.8
<de>
= A 100.0 28.3 14.7 3.9 5.7 0.2 14.3 21.2 1.1 3.1 7.0 0.4
(0: N 100.0 22.2 20.1 2.5 4.5 2.7 29.7 9.1 0.5 1.9 6.7 0.0
<HEdE>
15~29Al 100.0 22.7 48.1 0.0 7.6 0.0 9.2 0.0 4.9 0.0 7.6 0.0
30~39Al 100.0 &8, 1 23.8 4.7 5.6 0.6 3.0 28,5 2.4 2.4 0.8 0.0
40~49A 100.0 24.0 16.6 2.2 4.5 1.7 2.7 40.9 0.6 oD 2.6 0.6
50~59Al 100.0 30.4 16.4 5.5 6.4 0.4 9.2 17.8 0.6 4.6 8.7 0.0
60Al 0| & 100.0 23.7 9.5 3.0 5.2 0.7 42.3 2.0 0.5 1.3 11.3 0.5
65AI0| & 100.0 21.0 8.6 2.1 3.9 0.7 50.8 0.8 0.7 1.0 9.7 0.7
<&sHEY>
=Z0|6} 100.0 23.4 11.9 4.3 5.1 0.7 39.0 4.4 0.4 1.5 8.8 0.5
) = 100.0 27.4 211 3.3 6.2 0.7 10.9 19.7 0.8 3.2 6.3 0.4
H= 0l 4 100.0 29.9 14.6 3.1 4.9 1.2 2.9 32.3 1.7 3.8 5.6 0.0
<BEFEEH>
X ol & 100.0 25.6 10.2 oD 5.4 0.2 28,8 19.8 0.6 2.5 8.4 0.5
bS] | 100.0 44 .0 9.3 0.0 7.1 1.7 10.1 15.7 0.0 6.0 6.1 0.0
24 ¥ 24 | 100.0 25.4 31.6 5.1 5.0 2.1 7.7 14.9 1.9 2.6 3.8 0.0
<Ze>
dHE2/2e 100.0 34.3 17.8 1.1 6.6 0.0 4.6 26.3 1.9 1.1 5.1 1.1
Ak £ 100.0 31.9 11.0 1.8 3.2 1.1 1.9 41.5 1.5 6.3 0.0 0.0
A HIA/EL0Y 100.0 27.8 19.3 4.3 8.5 2.3 6.8 18.7 1.9 0.3 10.1 0.0
s8ody 100.0 23.4 8.2 6.0 3.9 1.7 31.7 8.8 0.0 4.4 9.7 2.0
JIs/I21A 100.0 24.1 19.0 4.8 4.7 0.0 6.3 31.1 0.0 4.7 5.3 0.0
S=rF 100.0 26.8 13.2 8.6 6.8 1.3 19.9 8.4 1.7 4.6 8.7 0.0
= £ 100.0 27.6 16.3 0.0 5D 0.0 28.9 10.9 0.0 5.2 5.6 0.0
&t A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ &l 100.0 23.2 16.2 1.5 3.2 0.4 44 A 2.6 0.4 0.5 8.0 0.0
<ASE>
508+ 0|8t 100.0 17.8 18.4 2.6 2.9 0.0 46.2 1.2 0.8 1.6 8.6 0.0
50~1008+& 100.0 22.1 15.2 3.1 4.7 1.2 46.1 1.3 0.0 1.1 5.1 0.0
100~2002t& || 100.0 28.0 12.9 6.0 5.8 2.0 24.7 7.1 0.0 2.1 10.8 1.0
200~3008H& || 100.0 27.3 23.5 3.0 71 1.0 9.6 17.0 1.6 3.2 6.8 0.0
300~4008t= | 100.0 33.1 17.5 4.2 7.5 0.7 0.9 23.8 0.8 4.8 5.7 1.0
400~6008t= | 100.0 26.9 11.2 3.7 4.8 0.0 2.6 37.5 2.5 4.5 6.2 0.0
6002t OJAF || 100.0 31.0 5.7 0.0 2.5 0.0 4.9 53.5 0.0 0.0 2.3 0.0
% =X 20159 Al AFSIZ AL
* JIRF0 S, XY 149 14, 8. 24. ~ 15, 8. 23.)
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[E 3-4-3] SEHEHE=E MEH =2 (Sl @ %)
229
T+ = JEAF w2 oo
2 amsd | Fdu | psu | S| wmd | O | mse | | s | 3zaw | e
20154 100.0 29.4 9.7 8.5 9.4 2.0 10.1 7.5 1.4 12.1 9.3 0.6
=1 g 100.0 30.3 10.1 8.0 9.3 2.1 9.2 8.7 1.3 12.2 8.2 0.5
S H 5 100.0 25.9 8.1 10.5 9.5 1.7 13.7 2.7 1.7 11.8 13.3 1.1
<8gE>
=t X 100.0 26.9 10.6 9.5 9.1 1.9 9.6 8.7 1.8 12.6 8.7 0.6
(0: N 100.0 36.8 7.1 5.4 10.1 2.4 11.6 3.9 0.3 10.7 11.0 0.7
<HZEE>
15~29Al 100.0 26.5 9.2 9.8 19.4 0.0 12.5 0.0 0.0 22.7 0.0 0.0
30~39Al 100.0 29.6 15.9 1.7 7.9 3.6 1.7 11.3 2.6 11.3 oD 0.9
40~49A 100.0 29.0 9.3 10.7 8.2 2.4 2.4 14.9 0.6 155 6.5 0.6
50~59Al 100.0 21.7 12.1 9.5 10.1 2.7 9.0 6.9 2.7 14.2 10.3 0.8
60Al0| & 100.0 35.2 5.6 4.8 9.5 0.7 19.8 1.7 0.6 7.7 13.9 0.5
65HI 0] & 100.0 41.6 4.5 3.0 9.1 1.0 21.7 1.5 0.0 5.4 11.7 0.7
<ssE4d>
=Z0|of 100.0 36.9 5.6 3.5 10.5 1.0 17.6 2.2 0.8 10.0 11.2 0.7
1 =) 100.0 23.1 12.1 10.2 9.5 2.8 8.0 8.8 1.2 14.2 9.5 0.7
= 0|4k 100.0 28.7 11.4 12.0 8.0 2.3 4.3 11.8 2.4 11.8 6.8 0.5
<EBSKEE>
XDl & 100.0 28.9 7.6 7.4 9.8 1.4 12.4 6.8 1.6 11.6 11.5 1.0
| Al 100.0 25.7 11.8 9.6 7.4 2.9 6.9 5.3 1.8 18.6 10.1 0.0
M & 24 | 100.0 31.4 14.2 10.9 8.8 3.3 5.8 9.7 0.9 11.7 3.7 0.0
<A AYE>
&E2/2e 100.0 24.9 10.3 11.3 10.4 1.5 1.6 18.3 3.6 12.6 5.4 0.0
A £ 100.0 24.9 16.3 8.9 7.3 1.6 4.2 71 1.3 17.5 111 0.0
AN HIA/EHDY 100.0 25.9 11.4 4.6 8.7 5.0 8.2 7.8 2.3 15.6 8.5 2.1
S0y 100.0 17.6 6.3 6.7 11.9 0.0 16.9 5.3 1.3 14.7 18.2 1.2
Jls/I1A 100.0 27.4 12.4 11.9 8.5 2.3 6.4 10.5 1.4 1.7 6.8 0.7
=2 100.0 29.7 5.5 8.8 10.3 1.5 12.7 4.2 0.0 10.5 16.9 0.0
= £ 100.0 41.2 55 8.4 14.0 0.0 9.2 6.1 0.0 7.4 8.2 0.0
&t A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 = 100.0 40.9 73 6.6 8.5 1.8 19.3 0.5 0.5 7.9 6.8 0.3
<ASE>
508t 0|2t 100.0 41.8 8.4 5.3 11.2 0.0 18.3 0.0 0.9 8.6 4.9 0.7
50~1009+3 100.0 38.6 4.7 5.0 6.9 3.1 20.3 0.0 0.0 6.4 15.0 0.0
100~2002t& || 100.0 22.4 11.5 8.6 111 0.3 12.2 3.6 0.0 15.4 14.3 0.6
200~3002t= | 100.0 27.0 12.3 12.4 11.8 3.2 9.6 5.1 1.2 11.4 6.1 0.0
300~4002t& | 100.0 24.3 8.5 7.6 7.5 2.4 6.8 17.4 1.7 17.7 4.6 1.3
400~6008t= | 100.0 31.7 6.8 9.3 9.5 2.3 1.7 14.8 1.2 9.9 11.9 0.9
6002t OJAF || 100.0 24.9 17.6 7.3 2.9 2.0 2.2 11.0 9.0 14.4 6.8 1.8
% B 201589 Od=Al ARSI AF
W DR ESE 2 XLt 13 14, 8. 24. ~ ' 15, 8. 23))
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[E 3-5] gL+ 2y Z4 (£ : %)
g 2
£ g PIE{ A,
7 = H sﬂn - AEHD L | ESAE | AmHOE, ;ﬁm JIEt
ZOIDE | AHOHA 10 2 TVELE
20154 100.0 35.6 12.5 17.5 30.3 2.4 1.7
g = 100.0 37.9 9.2 16.9 32.5 2.6 0.8
gog 100.0 26.1 25.7 20.2 21.0 1.8 5.1
<yg>
¢ X 100.0 37.8 12.8 12.6 33.1 2.5 1.2
Xt 100.0 33.3 12.1 22.6 27.4 2.3 2.2
<Ee>
15~29Al 100.0 35.0 7.4 1.6 49.8 6.0 0.3
30~39Al 100.0 59.1 9.6 4.0 22.5 4.8 0.0
40~49A| 100.0 49.0 15.9 7.4 25.7 1.6 0.5
50~59Al 100.0 35.8 15.4 24.3 23.2 0.6 0.7
60014t 100.0 11.6 13.8 42.1 26.9 0.0 5.6
651014t 100.0 8.2 14.0 43.5 27.4 0.0 6.8
<& E>
2015 100.0 18.7 13.5 32.3 35.1 1.5 3.9
N 100.0 42.4 12.6 12.6 28.1 3.6 0.7
HEo0l4 100.0 54.4 10.9 5.4 27.1 2.2 0.1
<EREH>
X Jl 100.0 36.7 15.9 24.1 19.2 0.9 3.1
8@ M 100.0 39.6 1.7 7.4 37.4 3.8 0.0
M 2 24| 1000 35.1 1.7 13.1 37.5 1.9 0.6
<zg>
ae/ze 100.0 53.6 12.0 9.5 21.9 3.0 0.0
A 100.0 59.8 6.0 4.2 27.9 2.2 0.0
MHIA/BHY | 100.0 41.9 11.3 18.9 23.7 1.3 2.9
SR 100.0 12.7 30.3 37.6 14.6 0.0 4.8
21/ 100.0 46.3 13.1 10.3 27.4 3.0 0.0
S 100.0 24.8 16.3 20.1 37.3 1.4 0.0
= = 100.0 37.7 13.1 28.1 18.7 1.7 0.6
s M 100.0 24.6 4.9 1.0 62.5 7.0 0.0
2 = 100.0 19.5 12.7 22.7 37.7 1.9 5.4
<ASE>
502+ OB | 100.0 5.4 17.3 26.7 38.6 0.0 12.1
50~1002+& |  100.0 6.6 18.6 43.6 27.0 0.0 4.2
100~2008+& | 100.0 22.1 13.9 26.4 36.5 0.4 0.7
200~3008+& | 100.0 46.3 15.7 15.8 20.0 1.9 0.3
300~4008+= | 100.0 5515 8.7 11.8 22.6 0.0 1.4
400~6008+ | 100.0 55.4 12.9 8.6 19.6 3.6 0.0
6008t 04 | 100.0 62.8 15.6 5.9 10.3 5.3 0.0

¥ EX 20158 O==Al AtRIZAL
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[E 3-6] XSAZE 0IBET ¥ AESH (S92l @ %, ©, 23)
25 CHLIXI == 2=
=+ = A et or gz gz
=20 st &0l 2 Eol wE 0|82 | A%
20154 100.0 63.8 28.3 28.7 6.8 36.2 3.88 23.04
= £ 100.0 64.6 29.9 27.8 6.8 35.4 4.00 23.69
g8 1 100.0 60.9 21.8 32.5 6.7 39.1 3.34 20.22
<d8>
g X 100.0 53.8 21.4 26.0 6.4 46.2 3.37 22.21
o X 100.0 741 35.4 31.5 7.2 25.9 4.26 23.65
<Hge>
15~29A 100.0 25.6 8.4 12.4 4.8 74.4 2.47 9.57
30~39A 100.0 64.1 221 30.7 1.2 35.9 3.16 18.11
40~49A 100.0 76.9 30.4 36.4 10.1 23.1 3.56 19.87
50~59A 100.0 78.2 41.6 31.8 4.8 21.8 4.67 35.43
60AI0| & 100.0 76.3 37.8 33.6 4.9 23.7 4.28 22.15
6541012 100.0 73.7 35.2 32.7 5.8 26.3 4.02 16.49
<sHE>
SE0lot 100.0 60.4 29.1 27.0 4.3 39.6 4.31 21.10
) ES 100.0 67.4 33.0 28.1 6.3 32.6 4.05 26.84
CHE0l & 100.0 63.6 21.4 31.7 10.5 36.4 3.13 20.21
<BFEH>
YRS 100.0 72.8 31.4 34.4 7.0 27.2 3.78 24.08
o Al 100.0 56.0 21.6 26.6 7.8 44.0 3.31 18.44
2N ¥ 24 100.0 62.5 23.8 31.6 7.1 37.5 3.37 17.79
<HHE>
HE/2E 100.0 75.9 28.6 35.8 11.4 241 3.19 23.07
At 2 100.0 61.2 19.2 32.8 9.1 38.8 3.01 19.36
N H|A/THOR 100.0 75.0 35.4 31.7 7.9 25.0 4.36 29.62
sEOY 100.0 79.0 32.5 40.9 5.6 21.0 4.23 24.24
IIs/21A 100.0 571 22.8 285,89 8.8 42.9 3.26 20.31
Hel 2 100.0 64.6 30.6 29.8 4.2 35.4 4.34 23.14
=5 2 100.0 88.9 48.8 33.1 7.0 11.1 4.60 25.82
st 2 100.0 12.0 4.0 6.6 1.4 88.0 2.66 5.85
£ 3 100.0 54.4 21.0 27.6 5.8 45.6 3.11 15.09
<ASE>
508t 0O]et 100.0 55.4 15.1 34.3 6.0 44.6 2.90 8.69
50~1002+2 100.0 72.4 33.8 35.1 3.4 27.6 4.09 18.46
100~2008H 100.0 72.3 31.7 35.1 5.4 27.7 3.63 20.97
200~30082H 100.0 67.5 32.0 28.6 6.9 32.5 3.77 23.22
300~4008H 100.0 65.4 25.5 33.2 6.8 34.6 3.28 22.35
400~6002H 100.0 .7 30.1 31.9 9.7 28.3 4.06 27.17
6008+ 0|4t 100.0 79.5 24.9 39.0 15.6 20.5 3.25 33.11

¥ OEX 20158 Od==Al At=l XA
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(&2 %)

=8
= Ikl =4 A= aols IS HEANE 2
TOE | e e ol | e | awane | 22 | awe | 2| aa | e | e
EE o) oelc gte SAl ey | ogst
20154 100.0 19.0 31.7 9.9 6.1 12.3 1.5 5.8 5.3 1.9 6.3 0.3
= = 100.0 17.8 33.3 9.3 6.2 12.5 1.6 5.9 4.7 1.9 6.6 0.3
= 100.0 23.9 25.3 12.2 55 1.9 0.8 5.4 8.0 1.9 5.1 0.0
<Hde>
=\ 100.0 19.8 34.4 9.5 5.5 1.5 1.4 5.6 47 1.3 6.1 0.2
o Xt 100.0 18.1 29.0 10.3 6.6 13.2 1.5 6.0 6.0 25 6.4 0.4
<HZPEE>
15~29Al 100.0 17.6 27.8 9.6 1.3 11.0 1.8 6.1 5.0 2.4 7.2 0.1
30~39All 100.0 14.5 39.2 7.0 6.8 10.1 1.1 6.1 4.1 1.9 9.3 0.1
40~49A 100.0 17.3 38.1 7.3 55 9.4 1.4 5.4 3.7 2.1 8.9 0.9
50~59All 100.0 18.2 34.4 8.5 2.9 15.3 1.2 6.7 48 1.5 6.1 0.3
60AHI 0] & 100.0 24.7 23.7 14.9 3.9 14.8 1.7 5.0 7.9 1.6 1.7 0.0
B65HI0] & 100.0 26.2 20.6 15.9 3.7 15.0 1.7 5.0 8.9 1.2 1.6 0.1
<stEY>
=Z0|ot 100.0 25.5 21.3 14.4 6.4 13.2 1.8 5.4 7.7 1.8 2.4 0.1
1 =] 100.0 14.9 35.3 8.2 7.3 13.2 1.7 5.6 4.0 2.3 7.4 0.1
tH=0| 4k 100.0 15.9 40.2 6.4 4.0 10.2 0.8 6.6 4.1 1. 9.8 0.6
<EREEH>
A D & 100.0 21.7 32.0 10.9 4.1 1.5 1.5 5.5 5.6 1.5 5.5 0.2
rS| Al 100.0 17.7 39.8 6.5 1.6 1.1 0.5 7.6 3.4 0.0 1.8 0.0
SN L SA [ 1000 15.7 35.9 10.9 2.6 15.1 2.7 5.0 4.4 1.4 5.5 0.8
<AHE>
HE/2e 100.0 17.3 39.2 6.0 3.1 1.5 0.7 5.1 2.3 1.1 12.5 1.0
Al = 100.0 16.3 34.7 4.0 7.7 10.1 0.6 7.7 6.2 2.3 10.4 0.0
MNUIA/EHOH | 100.0 16.9 38.7 7.9 5.6 10.0 1.8 6.4 4.4 2.1 5.9 0.4
s20d 100.0 29.9 16.2 20.6 5.4 13.0 0.0 5.1 6.6 1.7 1.3 0.0
s/ A 100.0 18.1 443 6.7 48 8.3 1.7 5.2 3.7 1.4 5.8 0.0
=2 100.0 20.6 29.3 8.3 4.1 13.6 1.9 5.4 7.8 0.7 7.7 0.7
= = 100.0 16.1 32.2 10.8 5.7 14.9 1.2 6.0 5.2 2.4 5.1 0.3
st A 100.0 22.1 22.6 1.0 14.6 8.4 1.9 6.3 4.8 3.4 4.6 0.3
= =l 100.0 19.5 24.4 13.6 3.7 17.8 2.3 5.0 7.3 1.2 5.2 0.0
<ASE>
5083 0|2 | 100.0 27.6 20.4 13.3 2.7 19.9 3.6 3.0 6.1 1.5 1.8 0.0
50~1008+&1 | 100.0 28.1 15.7 17.6 2.0 19.9 3.6 3.7 7.6 1.3 0.4 0.0
100~2008H& | 100.0 16.4 B3 13.1 4.1 1.1 1.3 4.6 8.7 1.4 6.0 0.0
200~3008H= | 100.0 15.2 38.7 10.2 4.4 10.9 0.6 7.7 3.6 1.4 6.1 11
300~4008+= | 100.0 21.1 38.3 7.1 3.7 9.5 2.0 5.0 2.4 2.1 8.7 0.0
400~6008+H=2 | 100.0 16.1 39.5 7.2 3.4 12.2 1.1 7.1 3.4 1.1 8.7 0.0
6002HR O 4F | 100.0 21.4 48.2 3.5 3.1 1.8 0.9 5.9 4.2 0.6 9.2 1.2
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[E 3-7-2] HSAE 43 )= (B9 < %)
1=4
b amds | =x Ink =4 U= Aolgol bJE:] L | ®Eam | 2
p,| 'Eﬁ; T::;"g BHoAA Hal za ABIA jz Faw ";:'&— A=A AEto| JIE
a5 S olels gt AAl 02y | Cst
20154 100.0 21.9 36.6 9.6 5.3 1.1 1.2 4.8 4.0 1.6 3.7 0.2
= =l 100.0 20.2 38.6 9.4 5.4 1.4 1.3 4.8 3.2 1.7 3.7 0.3
s4HE 100.0 28.8 28.4 10.5 4.8 9.5 0.6 4.6 7.6 1.6 3.6 0.0
<H4Y>
= X 100.0 22.9 40.1 9.2 4.3 10.1 1.3 4.2 3.6 0.9 3.3 0.1
o X 100.0 20.9 32.9 10.0 6.4 12.1 1.1 5.4 4.5 2.4 4.1 0.4
<oHgg>
15~29Al 100.0 21.3 31.3 9.9 10.8 9.8 1.5 5.6 2.8 2.7 4.2 0.0
30~39Al 100.0 16.6 46.8 5.8 6.7 9.5 1.0 4.7 2.6 1.2 5.1 0.0
40~49A 100.0 19.4 44.7 6.8 4.1 7.8 0.9 45 2.7 1.6 6.4 1.0
50~59Al 100.0 20.9 39.8 8.3 1.3 14.8 1.0 5.3 3.7 1.2 3.4 0.3
60AHI 0] & 100.0 28.2 26.4 14.7 3.7 12.7 1.3 3.9 7.3 1.4 0.5 0.0
65K 0] A 100.0 30.3 21.8 15.7 3.5 13.0 1.3 4.4 8.3 0.9 0.7 0.0
<stsEg>
=Z0|of 100.0 30.5 23.1 14.4 5.8 10.5 1.3 4.5 6.5 1.9 1.6 0.0
1 = 100.0 16.7 41.6 7.8 6.2 12.4 1. 4.1 2.9 1.9 4.9 0.0
HE 0| A 100.0 17.7 471 5.8 3.6 10.1 0.5 6.0 2.5 1.0 4.7 0.9

<BFEH>

NI S| 100.0 25.4 36.9 10.6 3.0 9.0 1.2 4.8 4.7 1.0 3.2 0.2
bS] Al 100.0 18.3 49.4 5.5 0.0 10.2 0.0 5.3 2.0 0.0 9.3 0.0
M &L 24| 100.0 16.2 42.8 9.7 1.2 15.6 2.2 3.1 3.6 5 3.1 1.0
<AAdE>
HE2/2e 100.0 20.9 46.0 5.3 1.2 12.1 0.0 4.4 1.0 0.6 7.1 1.3
At = 100.0 18.7 38.0 4.1 7.5 9.9 0.5 8.2 5.1 1.9 6.0 0.0
ANHIA/EHOH | 100.0 20.2 46.9 6.0 4.1 8.0 2.0 47 3.7 1.3 3.1 0.0
SE0HY 100.0 36.5 15.2 18.7 4.4 11.0 0.0 5.4 6.3 1.9 0.5 0.0
ls/I1A 100.0 18.7 54.4 6.0 3.7 5.6 1.7 2.6 35 1.1 2.8 0.0
S= 2 100.0 23.1 32.7 7.3 3.3 1.2 2.0 4.4 7.4 0.0 7.9 0.9
= =l 100.0 17.6 37.9 1.5 5.5 14.1 0.7 5.0 3.3 2.2 1.9 0.3
&t A 100.0 28.2 24.2 1.9 14.8 5.8 1.0 5.5 1.9 3.6 3.2 0.0
= = 100.0 21.7 26.9 14.0 3.1 17.7 1.9 3.8 6.0 1.4 3.6 0.0
<ASE>
508 0|8t | 100.0 31.5 19.6 12.4 2.5 20.5 3.4 1.8 5.2 1.5 1.4 0.0
50~1008+2 | 100.0 33.7 17.0 16.0 1.0 19.0 3.0 2.0 6.5 1.2 0.4 0.0
100~2008+H&! | 100.0 16.4 40.6 13.5 2.3 9.7 1.2 2.8 7.8 1.0 4.8 0.0
200~30082H2 | 100.0 17.0 47.0 10.1 3.5 7.4 0.0 6.2 2.9 15 3.2 1.3
300~4008+ | 100.0 24.3 451 6.2 2.0 8.0 1.7 4.9 2.4 0.8 4.5 0.0
400~6008+H= | 100.0 18.2 46.3 5.8 2.0 1.3 1.2 6.6 1.5 0.9 6.3 0.0
6002HR 0|4t | 100.0 25.9 55.5 3.6 1.9 0.0 0.0 5.0 3.1 0.0 3.4 1.6
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‘g__ﬁ 20152 %ipA| AIZIZEAL 31N

(S : %)

2=
= InEl o selge o dENE | Z
R T I Bl P B e B I Rl (vt e
s og | IS e aA| 2y | Ogs
20154 100.0 10.2 17.1 10.8 8.3 16.2 2.4 8.9 9.1 2.6 14.0 0.4
= =l 100.0 10.5 17.3 9.3 8.4 15.5 2.6 9.2 9.1 2.6 15.1 0.5
= =] 100.0 9.0 16.3 17.0 7.6 19.0 1.4 7.6 9.2 2.9 9.8 0.0
<HdE>
= X 100.0 10.8 17.0 10.3 9.1 15.9 1.8 9.8 7.8 2.5 14.6 0.4
o Xt 100.0 9.5 17.2 1.4 7.4 16.5 3.0 8.0 10.4 2.8 13.5 0.4
<HEE>
15~29AMl 100.0 6.2 17.4 8.9 12.6 14.5 2.7 7.4 1.8 1.6 16.3 0.5
30~39Al 100.0 8.0 16.4 10.4 6.9 12.1 1.1 10.3 8.7 3.8 22.0 0.3
40~49Al 100.0 11.0 18.3 8.8 9.5 14.1 2.9 8.1 6.7 3.7 16.5 0.4
50~59All 100.0 10.1 18.3 9.2 7.8 17.0 1.8 10.7 8.1 2.6 14.0 0.5
60AHI 0] & 100.0 14.4 15.5 15.6 4.7 21.2 2.8 8.5 9.6 2.2 5.4 0.2
65HI 0] & 100.0 13.7 17.3 16.6 4. 21.0 3.2 7.0 10.6 1.9 4.4 0.2
<sEE>
=Z0|5} 100.0 10.3 16.1 14.4 8.2 21.3 3.3 8.2 1.2 1.8 4.7 0.4
i =] 100.0 9.6 16.4 9.6 10.6 15.9 2.1 10.1 7.3 3.3 14.7 0.6
tHE0| & 100.0 10.7 19.3 8.0 5.3 10.3 1.5 8.2 8.8 2.9 25.0 0.0
<EREE>
NI S| 100.0 10.5 17.4 11.8 7.6 18.8 2.2 7.7 8.4 3.2 12.2 0.2
| Al 100.0 16.0 1.1 9.5 6.4 14.1 2.0 14.4 7.5 0.0 19.0 0.0
M & 24 | 1000 14.5 15.2 14.7 6.7 13.6 4.1 10.8 6.7 1.1 12.7 0.0
<AAE>
&2/l 100.0 6.5 18.9 8.4 8.9 9.8 2.8 7.0 6.3 2.5 28.9 0.0
Al = 100.0 9.0 24.9 3.6 8.1 10.6 0.8 6.3 9.6 3.3 23.8 0.0
ANHIA/EHOH || 100.0 7.0 14.0 13.6 10.0 16.2 1.2 1.2 6.4 4.7 14.3 1.5
SN 100.0 10.1 19.2 26.6 8.3 19.2 0.0 4.2 7.4 1.2 3.8 0.0
Jls/213 100.0 16.5 14.0 9.1 8.2 16.5 1.9 12.8 4.2 2.2 14.6 0.0
St 100.0 13.2 19.0 1.3 6.5 21.0 1.8 8.3 9.0 2.6 7.3 0.0
= = 100.0 1.7 15.2 8.8 6.4 17.3 2.7 9.0 10.9 3.1 14.8 0.2
=l | 100.0 3.7 17.8 8.3 13.9 16.3 45 8.8 13.7 3.1 8.8 1.0
= = 100.0 13.0 17.0 12.5 5.4 17.9 3.6 8.6 1.4 0.6 10.0 0.0
<ASE>
508k 0|8 | 100.0 15.8 22.9 16.1 3.3 18.1 4.2 6.3 8.8 1.6 2.8 0.0
50~1008+& | 100.0 1.4 1.7 22.4 5.0 22.8 5.3 9.0 10.6 1.4 0.4 0.0
100~2008H=! || 100.0 16.5 1.6 1.9 9.5 15.3 1.7 9.7 11.3 2.7 9.6 0.0
200~3008+& | 100.0 10.0 13.7 10.5 7.4 21.2 2.4 12.4 5.8 1.1 14.9 0.7
300~4008t2 | 100.0 1.4 17.8 9.6 9.0 14.1 2.9 5.6 2.5 5.9 21.2 0.0
400~6008H& | 100.0 9.8 19.2 1.6 7.8 14.9 0.8 8.6 9.3 1.8 16.1 0.0
6002HR Ol 4At | 100.0 7.8 26.5 3.4 6.5 7.0 3.6 8.5 7.5 2.6 26.5 0.0
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[E 4-1] ZMIE O|2AEY (S : %)
golE =2 glolt BHOlE HE 9D
= (=18 Pl o
T = A Sl el e g ojste UCH AT UCH
20154 100.0 21.8 34.0 44 .2
=1 £ 100.0 24.3 35.7 40.0
= 8 5 100.0 11.6 26.9 61.5
<He>
g X 100.0 23.6 33.5 42.8
(0 Xt 100.0 19.8 34.5 45.7
EEEN
15~29Al 100.0 22.1 43.2 34.7
30~39Al 100.0 29.3 48 .4 22.3
40~49A| 100.0 292 42.6 28.2
50~59Al 100.0 22 1 281 49.8
60AI 0] & 100.0 11.1 15.3 73.7
65K 0] & 100.0 7.6 12.6 79.8
<steEd>
=Z0|ot 100.0 10.1 22.0 67.8
i = 100.0 24.7 40.2 35.1
CH=0] 4k 100.0 32.6 41.2 26.2
<HSSH>
X Il & 100.0 23 1 281 48.8
o Al 100.0 22.3 27.8 49.9
24 & 24 100.0 18.2 34.2 47 .6
<zQe>
H2/22 100.0 37.2 45.8 17.0
A2 100.0 35.4 39.8 24.8
AN HIA/THOH 100.0 23.4 40.6 36.0
SEONY 100.0 10.0 11.3 78.8
IS/ 100.0 26.6 39.0 34.5
= 100.0 21.9 29.0 49 1
= g 100.0 17.7 33.4 48.9
st A 100.0 20.8 41.9 37.3
£ = 100.0 11.4 21.2 67.4
<AEHE>
508+ 0|8t 100.0 6.1 5.8 88.1
50~1002t2l 100.0 10.6 10.2 79.2
100~2002t& 100.0 17.0 25.7 57.3
200~3008+ 100.0 21.7 39.1 39.2
300~4008+ 100.0 18.9 46.5 34.6
400~6008+ 100.0 39.4 36.6 24 .1
6008+ O] Ak 100.0 44 .9 32.3 22.8
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(2 4-2-1] 28is B

[ = Ry mit

MmE=

OB

" St
T = 2mg | =Y o 22 | on | agx | &2 plES
A 23 U 42 = 2 = = s, XHA JIEH
3s |zens | 28 | @s | 2% | AN | oy | @
S, mk=3
2015 100.0 147 33.8 9.7 87 133 119 1.0 5.2 1.7
s = 100.0  13.4 33.8 9.8 86 134 123 1.1 5.6 1.9
soe 100.0  26.3 33.8 8.8 91  11.9 8.2 0.0 2.0 0.0
<qe>
4 X 100.0 148 37.4 7.9 74 127 137 0.9 3.1 21
o Xt 100.0 145 294 119 103  13.9 9.6 1.2 7.9 1.2
<Hgd>
15~29A 100.0  24.1 278  12.6 68 131  10.1 0.0 07 29
30~39A 100.0 8.3 40.6 4.8 °1 113  16.9 15 126 1.9
40~49K| 100.0  11.9 38.0  10.1 9.6 141  11.6 0.0 4.7 0.0
50~59A 100.0 119 339  10.1 103 157 9.5 2.2 3.9 0.4
6001 A 100.0  17.3 052  10.8  19.4 114 114 25 1.0 .1
651014 100.0 149 203 123 283 92 106 0.0 21 03
<stee>
==0/5t 100.0  11.9 36.1 10.3 122 123  13.0 1.5 1.1 1.5
1 = 100.0 143 45.9 9.3 0.0 89 157 0.0 5.9 0.0
CHE 0] A 100.0  10.0 422 104 44 116 10.1 1.8 8.5 1.1
<ESE>
Xt ol & 100.0  11.9 36.1 10.3 122 123  13.0 1.5 1.1 1.5
M 100.0 143 45.9 9.3 0.0 89 157 0.0 5.9 0.0
SN L 24 | 1000  10.0 422 104 44 116 101 1.8 8.5 1.1
<=
e/ 100.0  13.9 34.5 6.9 54 195  16.0 1.1 1.6 .1
JVR=] 100.0 8.5 39.4 4.6 95 174 141 18 4.2 1.1
AHIA/EOH | 100.0 7.1 383 138 108 100 142 0.9 4.3 0.8
=20/ 100.0  13.6 233 229 48  16.0 9.5 9.8 0.0 0.0
JS/IA | 1000 126 61.6 5.0 6.6 5.3 4.6 0.0 4.3 0.0
SaLg 100.0  10.7 53.0 23 11.0 71 8.7 25 4.7 0.0
= g 100.0  14.0 173 107 105 168  10.7 08  16.3 08
s A 100.0  31.5 112 204 5.1 99 135 0.0 08 5.6
2 = 100.0  23.8 08.8 58 141 141 9.3 0.0 0.4 1.6
<ASH>
508k 0|8 | 100.0  29.1 20.5 0.0 347 0.0 0.0 157 0.0 0.0
50~1009H” | 100.0  17.2 26,0  19.2 139  13.4 5.3 5.0 0.0 0.0
100~2008t2 | 100.0  11.7 44.2 91  16.3 53  10.1 0.0 3.3 0.0
200~3008+8 | 100.0  11.9 4.0 159 40 144 5.2 2.0 4.0 1.6
300~4008+8 | 100.0 1.4 407 134 206 6.7 151 0.0 0.0 0.2
400~6008H& | 100.0  12.0 34.5 5.8 49 163 176 1.8 5.4 )
6008HR 014 | 100.0  15.1 42.2 6.1 38 112 187 0.0 08 0.0
% =8 20158 OI2=Al AFSIEAF
% OHESY , N4 1E( 14, 8. 24. ~ * 15, 8, 23.)
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[E 4-2-1] 288 BaDS CLEED
ge g D2 1
- AL
? = 2my | =y S 22 | g | amx | 22 | 2E
AW | B | zogm | = 23 g, | 2EX, | 50 e JIEH
ns | @epas | 2E s we el X =5 2
A mE=;
2015 100.0  19.4 39.3 7.6 8.7  10.4 8.4 0.5 4.2 1.6
s g 100.0  17.8 39.5 7.9 8.6  10.6 8.6 0.5 4.7 1.8
swe 100.0  33.9 37.7 5.0 9.0 8.2 6.3 0.0 0.0 0.0
<He>
g X 100.0  20.2 42.2 6.1 7.4 9.7 8.8 0.5 3.0 2.3
o X 100.0  18.6 35.7 9.4 102 112 7.9 0.5 5.5 0.9
<HZEE>
15~29 Al 100.0  33.1 27.9 9.1 6.7 43  12.2 0.0 4.3 2.4
30~39A 100.0  11.4 52.5 4.1 1.7 7.9 1.1 0.0 9.1 2.1
40~49H| 100.0  16.1 43.2 7.1 0.7 13.8 5.7 0.0 3.4 0.0
50~59Al 100.0  16.1 39.7 7.7 7.7 7.6 4.8 1.3 2.6 2.5
60MI 01 At 100.0  20.5 29.4  11.4 207 6.7 8.0 1.8 0.0 1.6
65MI101 4 100.0  15.7 253 88 270  10.2 8.8 0.0 0.0 3.2
<steig>
==0/5t 100.0  25.8 26.3  19.9 8.9 7.2 8.8 3.0 0.0 0.0
o = 100.0  18.5 41.6 3.8 12,7 7.8 9.3 0.0 4.4 1.9
VESIPS 100.0  17.8 42 1 6.5 46 4.1 7.2 0.0 5¥5 2.1
<HSHEH>
Xt ol & 100.0  15.4 43 1 6.6 11.0 129 5.8 1.5 1.7 2.2
M 100.0 24.4 245  15.9 0.0 8.3  16.8 0.0  10.1 0.0
SN L 2a| 1000 1.2 61.3 7.5 0.7 5.3 4.8 0.0 5.5 1.7
<=oE>
He/mel 100.0  18.2 39.9 7.6 3.6 207 6.6 1.7 0.0 1.6
A= 100.0 9.3 58. 1 2.4 55  12.5 7.8 0.0 2.4 2.0
AHIA/BO | 1000 10.0 6.2 105 9.4 4.9 141 0.0 3.7 1.2
=20/ 100.0 20.4 208 342 0.0 147  10.0 0.0 0.0 0.0
IS/ 100.0  17.4 68.7 0.0 5.8 4.1 2.2 0.0 1.9 0.0
S 100.0 8.9 57.7 3.1 14.7 2.2 3.8 3.3 6.3 0.0
= g 100.0  18.8 18.6 9.4 124  16.1 8.9 0.0  14.1 1.6
s A 100.0  46.6 0.0  14.8 9.0 49 148 0.0 4.9 4.9
2 = 100.0  33.0 28.2 45  16.6 9.8 5.4 0.0 0.0 2.4
cASH>
50eke OlgF | 100.0  31.2 29 1 0.0 29.9 0.0 0.0 16.8 0.0 0.0
50~1008t2 | 100.0  20.2 3.2 17.2  17.2 142 0.0 0.0 0.0 0.0
100~20082 | 100.0  13.7 527 133 145 4.3 1.5 0.0 0.0 0.0
200~3008+® | 100.0  16.2 55.7 4.9 2.6 7.8 4.4 0.0 6.0 2.4
300~4008+8 | 100.0 2.2 515  17.0  12.9 7.8 5.3 0.0 0.0 3.4
400~6008H2 | 100.0  16.3 38.2 2.4 75 155 8.3 2.0 6.4 3.4
6000HR! OJ& | 100.0  18.0 46.4 4.1 0.0 16.4  15.1 0.0 0.0 0.0
% Zx 20158 OI2Al AFSlZAF
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[E 4-2-1] HEs BMI=S (&2 : %)
e Ng D21
- AL
? = 2my | =y S 22 | g | amx | 22 | 2E
AN | @@ |29 | = 23 g, | 2EX, | 50 e JIEH
ns | @epas | 2E s we el X =5 2
A= =
mk=;
2015 100.0 5.9 239  13.5 8.8 186  18.4 2.0 7.2 1.7
s g 100.0 5.3 236  13.2 8.7 18.6  19.1 2.2 7.3 1.9
swe 100.0  11.1 26.0  16.5 9.3  19.3 119 0.0 5.9 0.0
<He>
g X 100.0 5.3 28.9  11.1 7.3 182 26 1.7 3.3 1.7
o X 100.0 6.7 173 167  10.7  19.1 13.0 25  12.3 1.7
<HZEE>
15~29 Al 100.0 9.9 °7.7 181 6.8  26.9 6.8 0.0 0.0 3.7
30~39A 100.0 0.7 18.7 5.9 29 173 275 43 19.1 1.6
40~49H| 100.0 4.2 282 157 76 146 226 0.0 7.1 0.0
50~59Al 100.0 4.0 228 147 153 121 18.5 3.9 5.5 2.3
60MI 01 At 100.0 9.9 15.5 9.5 16.3 224  19.2 3.9 3.3 0.0
65MI101 4 100.0  13.0 8.1 208  29.3 6.8  14.9 0.0 7.2 0.0
<steig>
==0/5t 100.0  11.8 9.3  17.8 6.6 32.6 8.7 2.4 4.4 6.4
o = 100.0 3.8 236  18.9 7.3 136 22.1 1.9 7.0 1.9
VESIPS 100.0 5.8 29.0 72 108 185  18.4 2.0 8.4 0.0
<HSHEH>
Xt ol & 100.0 4.3 209 185 150 11.0  29.0 1.4 0.0 0.0
M 100.0 0.0 76.2 0.0 0.0 9.7  14.2 0.0 0.0 0.0
SN L 2| 100.0 7.6 7.1 15.7 7.5 231 19.7 5.1 14.2 0.0
<=oE>
ne/ze 100.0 5.5 23.8 5 8.8 17.1 345 0.0 4.8 0.0
A= 100.0 7.4 14.0 75 148 240 227 3.1 6.6 0.0
HHIA/BO | 100.0 1.7 236 19.8 13.3 195 4.4 2.4 5.3 0.0
=20/ 100.0 0.0 28.4 0.0 145  18.8 8.6  29.8 0.0 0.0
IS/ 100.0 0.0 427  18.3 8.7 8.6  11.0 0.0  10.7 0.0
S 100.0  16.2 38.7 0.0 0.0 219  23.3 0.0 0.0 0.0
= g 100.0 5.2 5.0  13.2 7.1 7.9  14.0 22  20.4 5.1
s A 100.0  11.8 258  27.8 0.0 16.4  11.8 0.0 0.0 a5
2 = 100.0 4.3 29.9 8.6 8.9 232 175 0.0 7.6 0.0
cASH>
508k2 019k | 100.0 0.0 0.0 0.0  100.0 0.0 0.0 0.0 0.0 0.0
50~1002t2 | 100.0  10.9 5.2  23.2 7.1 120 16.4  15.2 0.0 0.0
100~2008+2 | 100.0 7.3 25.7 0.0 202 7.3 28.9 0.0 106 0.0
200~3008+8 | 100.0 3.1 1.5  38.0 6.9 27.8 6.9 5.9 0.0 0.0
300~4008+8 | 100.0 0.0 21.6 6.9 34.3 47 324 0.0 0.0 0.0
400~6008HR! | 100.0 4.0 275 2.2 0.0 17.7  35.0 0.0 3.5 0.0
6008+ 014t | 100.0 8.9 33.2 105 121 0.0 265 0.0 8.9 0.0
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[E 4-3] BMLUS 3|2 2F (Sl : %)
276 =04 Al ze THAE
2 25 AEX =
a2 g 3 Bp |2 oee | ma | Cooo | ER ) RER ol JNE
s zEDs | pEns ns s el A 23t X
DS
20154 100.0 15.8 23.8 5.2 16.8 14.5 17.7 1.5 4.1 0.6
=1 g2 100.0 14.8 24.0 5.8 17.5 15.1 17.2 1.6 3.6 0.5
S 8 5 100.0 21.8 22.9 1.9 12.7 11.1 20.4 0.8 7.2 1.2
<HEg>
= X 100.0 16.0 22.4 4.8 16.3 13.7 23.8 1.0 1.4 0.7
(0 I\ 100.0 15.6 25.3 5.8 17.4 15.4 11.1 2.0 7.0 0.4
<HZE>
15~29Al 100.0 18.7 37.0 2.9 4.4 10.3 21.8 0.0 3.6 1.3
30~39Al 100.0 12.5 23.4 5.4 12.3 17.8 18.5 1.0 9.0 0.0
40~49Al 100.0 13.3 22.3 6.2 16.7 15.1 21.2 2.1 2.9 0.2
50~59Al 100.0 16.4 16.1 5.8 26.6 17.9 12.8 2.0 1.3 1.1
60AHI 0] & 100.0 19.4 10.6 7.2 38.0 11.4 71 3.6 2.8 0.0
65K 0] & 100.0 17.3 11.7 9.6 44.5 8.0 4.3 2.3 2.3 0.0
<S>
=Z0|of 100.0 21.2 17.2 4.9 21.3 9.8 17.3 1.8 4.0 2.5
) = 100.0 13.0 28.6 4.6 16.7 15.0 16.7 1.5 3.9 0.0
CH=0] 4k 100.0 15.9 22.1 6.1 14.6 16.6 19.0 1.3 4.3 0.1
<HSEE>
A O & 100.0 14.0 19.3 5.9 23.1 15.6 18.5 2.1 1.2 0.4
bS] Al 100.0 13.6 15.8 0.0 20.0 17.8 19.0 0.0 13.8 0.0
24 & R4 100.0 15.2 22.4 3.9 19.6 12.4 20.6 3.2 2.1 0.4
<AHY>
HE2/22 100.0 17.3 17.3 5D 19.1 23.2 16.4 0.5 0.4 0.4
A 2 100.0 14.2 21.3 2.9 9.3 21.7 24 .1 2.1 4.5 0.0
A HIA/EHOH 100.0 15.2 24.6 6.8 20.2 10.2 15.6 1.7 5.1 0.6
SE0Y 100.0 17.3 23.6 6.9 19.5 7.3 25,8 0.0 0.0 0.0
JIs/I1A 100.0 11.3 25.2 4.9 16.7 12.9 24.5 0.9 2.8 0.8
Ch=22 100.0 19.7 23.7 3.1 20.8 13.5 14.2 2.7 2.4 0.0
= 2 100.0 13.8 21.5 5.6 20.1 16.3 9.7 2.0 11.0 0.0
st A 100.0 23.7 31.0 4.3 1.6 9.2 26.1 0.0 1.4 2.6
£ = 100.0 12.1 28.0 7.1 28.5 10.0 9.0 3.1 2.1 0.0
<ASE>
508t 0|8t 100.0 0.0 0.0 4.9 67.6 13.8 5.1 8.6 0.0 0.0
50~1002H& 100.0 20.3 7.8 13.3 49.5 0.0 9.0 0.0 0.0 0.0
100~2002+& 100.0 15.6 25.9 1.2 26.4 13.8 11.7 2.7 2.7 0.0
200~3008+ 100.0 20.3 21.5 6.7 13.1 15.3 16.3 2.4 3.2 1.4
300~4008+ 100.0 13.9 25.5 3.2 16.0 11.9 23.4 2.8 3.4 0.0
400~6008t= 100.0 12.3 15.0 4.3 19.1 21.3 25.3 1.1 1.7 0.0
6008+ O] Ak 100.0 2.4 19.5 6.8 30.6 14.0 24 .1 2.5 0.0 0.0
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[E 5-1] E¢ 08 & & (SH$] : JHHI, %)
e LSX Y=
2 2 A =
52 Za " BAHOE TRFOU s
JHH| M= 02X 2=C 0| ACtH
20154 100.0 15.9 13.2 84.1 100.0 251 74.9
s = 100.0 15.0 12.7 85.0 100.0 5.5 74.5
soe 100.0 19.8 14.8 80.2 100.0 23.1 76.9
<He>
4 X 100.0 30.0 13.4 70.0 100.0 52.8 47.2
of Xt 100.0 15 8.7 98.5 100.0 4.9 95.1
EEN
15~29Al 100.0 11.5 11.2 88.5 100.0 12.0 88.0
30~39Al 100.0 25,2 11.9 76.8 100.0 26.9 73.1
40~49A 100.0 217 13.0 78.3 100.0 28.1 71.9
50~59Al 100.0 19.9 15.6 80.1 100.0 30.4 69.6
B0 0] At 100.0 8.0 13.8 92.0 100.0 29.7 70.3
8510/ 4 100.0 6.2 12.6 93.8 100.0 8.3 71.7
<shaEdg>
==0|5 100.0 8.7 14.4 91.3 100.0 18.5 815
o o= 100.0 22 5 13.6 77.5 100.0 7.2 72.8
=0| A 100.0 16.5 11.8 83.5 100.0 31.5 68.5
<ESHEE>
X ol & 100.0 22 6 14.3 77.4 100.0 50.7 49.3
2O 100.0 8.8 17.7 71.2 100.0 52.3 477
SN L 24 | 100.0 32.0 12.4 68.0 100.0 36.2 63.8
<EQE>
/e 100.0 19.9 10.2 80.1 100.0 36.5 63.5
A8 100.0 16.4 8.9 83.6 100.0 6.3 73.7
NHIA/BHON | 100.0 15.2 12.7 84.8 100.0 7.2 72.8
S0 100.0 25 1 18.2 74.9 100.0 31.8 68.2
IS/ 100.0 33.1 13.4 66.9 100.0 60.9 39.1
ChaLQ 100.0 34.1 15.0 65.9 100.0 40.4 59.6
= = 100.0 0.9 7.3 99.1 100.0 4.4 95.6
s A 100.0 5.1 15.0 94.9 100.0 5.0 95.0
2 = 100.0 16.1 13.0 83.9 100.0 33.7 66.3
<ASEHE>
509+ 0/ | 100.0 10.7 11.9 89.3 100.0 14.7 85.3
50~1008t | 100.0 10.3 14.2 89.7 100.0 40.2 59.8
100~2008H | 100.0 24.8 17.1 75.2 100.0 52.6 47 .4
200~3002t2 | 100.0 40.4 12.7 59.6 100.0 46.5 53.5
300~4002+8 | 100.0 33.3 13.3 66.7 100.0 62.0 38.0
400~6002H8 | 100.0 22 1 13.8 77.9 100.0 52.8 47.2
6008H 0|4 | 100.0 22.9 15.2 771 100.0 68.3 31.7
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[E 5-2-1] 2¢ AT o8 (S : %)
= 2 3 UCH QiCt
2015 100.0 55.7 44.3
£ = 100.0 55.4 44.6
soe 100.0 56.9 43.1
<>
4 X 100.0 55.9 441
Xt 100.0 53.3 46.7
EEN
15~29A 100.0 67.8 32.2
30~39Al 100.0 58.3 417
40~49A 100.0 62.6 37.4
50~59Al 100.0 441 55.9
B0 014t 100.0 44.2 55.8
651014 100.0 40.5 59.5
<staig>
==0|5 100.0 47.0 53.0
o B 100.0 61.3 38.7
EIPN, 100.0 51.9 481
<HSE>
X ol & 100.0 56.7 43.3
@ A 100.0 41.9 58.1
A L 24 100.0 58.2 418
<E Q>
e/ 100.0 51.8 48.2
A2 100.0 58.9 411
A HIA/EHOH 100.0 52.8 47.2
=20/ 100.0 418 58.2
JIS/21H 100.0 58.9 411
ChaLg 100.0 62.9 37.1
= g 100.0 17.3 82.7
st A 100.0 80.0 20.0
2 =z 100.0 54.0 46.0
<ASE>
508H8l 0] ot 100.0 69.3 30.7
50~1008+Rl 100.0 44.4 55.6
100~2009+ 100.0 51.9 48.1
200~3008+€ 100.0 60.3 39.7
300~4008+€ 100.0 57.3 427
400~6008+H 100.0 45.9 54.1
6002+l 0] A 100.0 63.4 36.6
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[E 5-2-2] 2¢HE Rot= 0K (S %)
CH2 AMRIOl
AEFY A I AHE | 2HSHI | JIE0 T
T = b - - A e
=20 e 0D ABA &2 M0l
A 01 A
20154 100.0 50.5 7.8 4.1 37.4 0.2
s g2 100.0 57.2 7.9 2.3 32.5 0.0
5 8 5 100.0 29.7 7.4 9.4 52.6 0.9
<He>
=+ A 100.0 49.9 7.9 3.9 38.4 0.0
(0] I\ 100.0 61.8 6.9 8.3 18.0 5.0
<HZEE>
15~29 Al 100.0 46.5 16.4 0.0 37.1 0.0
30~39All 100.0 61.3 52 2.0 31.5 0.0
A0~49Al 100.0 62.4 3.0 5.2 29.4 0.0
50~59Al 100.0 44.0 10.8 5.7 39.5 0.0
60AMI 0] & 100.0 24.3 57 7.4 60.8 1.8
65A10| & 100.0 6.7 6.0 6.0 81.3 0.0
<shaEg>
SZ0lot 100.0 31.8 7.2 10.1 49.7 1.2
) = 100.0 51.8 8.8 3.7 35.8 0.0
H=0| &k 100.0 60.6 6.5 0.7 32.1 0.0
<ESEE>
A O & 100.0 52.8 8.7 4.1 34.4 0.0
bS] | 100.0 38.6 0.0 3.9 57.6 0.0
2H & R4 100.0 58.8 3.0 5.6 31.7 0.9
<E >
H2/2e 100.0 67.6 6.5 2.0 23.9 0.0
A £ 100.0 69.9 0.0 0.0 30.1 0.0
A Hl A /ey 100.0 43.5 13.7 3.2 39.6 0.0
SEENY 100.0 26.6 6.8 9.0 57.6 0.0
JIs/I1A 100.0 65.1 7.0 0.0 27.9 0.0
S 100.0 57.9 2.4 6.1 33.6 0.0
ES g 100.0 53.4 29.4 0.0 17.2 0.0
st A 100.0 40.0 0.0 0.0 60.0 0.0
£ Exl 100.0 24.2 14.8 10.2 49.3 1.4
<ASE>
5082 0|2t 100.0 39.8 55 22.6 25.1 7.0
50~1002H& 100.0 23.4 0.0 23.5 53.1 0.0
100~2008+& 100.0 44 .6 5.8 3.1 46.6 0.0
200~3008+ 100.0 57.2 3.7 3.7 &5.8 0.0
300~4008t 100.0 63.2 7.4 1.5 27.9 0.0
400~6008t= 100.0 60.7 6.5 2.2 30.7 0.0
6008+ O] &k 100.0 51.5 20.8 0.0 27.7 0.0
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[H 5-3] €F 08 ¥ 8F 3L (B9 : %)
AULCH QiCH
2 g 5 N %; - = = 3ol LA | a8 8 B
A 13 2-3 1-2 3-4 o A oll= OId 2 =0l
olat | 3l 3 3 = DHSCH giCH
20154 100.0 554 100.0 216 361 259 10.8 56  44.6 1000 38.8 61.2
= = 100.0 565 100.0 21.7 366 26.1 11.0 4.6 435 100.0 39.1 60.9
=R 100.0 509 100.0 213 339 250 10.0 9.9 491 1000 37.9 62.1
<Hde>
=\ 100.0 70.1 100.0 12.4 329 322 144 8.1 29.9 100.0 47.2 52.8
o X 100.0 40.4 100.0 38.0 41.8 148 4.4 1.0 59.6 100.0 34.5 65.5
<y gE>
15~29A 100.0 44.6 100.0 28.1 429 257 3.3 0.0 55.4 1000 16.4 83.6
30~39A 100.0 76.8 100.0 20.0 39.3 273 116 1.8 232 1000 54.6 45 4
40~49A| 100.0 73.9 100.0 181 343 30.2 13.1 43  26.1 100.0 48.2 51.8
50~59A 100.0 579 100.0 215 332 224 133 9.6 42.1 100.0 48.1 51.9
60Al 0] &t 100.0 36.1 100.0 22.3 309 22.0 111 13.6 63.9 1000 44.8 55.2
65A 0] A 100.0 30.6 100.0 21.3 331 211 111 135 69.4 100.0 44.7 55.3
<&HEYE>
EZ0|ot 100.0 31.1 100.0 245 298 20.9 9.8 150 68.9 100.0 31.4 68.6
o = 100.0 66.6 100.0 232 363 256 10.4 45 334 100.0 45.7 54.3
CHE0l 4 100.0 716 100.0 181 39.3 29.0 11.8 1.8 284 1000 51.1 48.9
<ESEH>
Aol E 100.0 659 100.0 14.6 329 276 148 10.1 341 100.0 55.6 44 4
b Al 100.0 77.3 100.0 133 326 29.7 194 49 227 1000 623 37.7
2Md & 24 | 1000 67.9 100.0 10.3 325 366 13.7 6.9 321 100.0 51.6 48.4
<FHg>
dE/22 100.0 75.0 100.0 191 395 229 16.3 22 250 100.0 57.3 427
Al 2 100.0 79.7 100.0 165 31.3 412 8.2 28 203 100.0 459 54.1
MHIA/ZHOR || 100.0 654 100.0 21.9 350 252 127 53 346 100.0 53.8 46.2
s20Y 100.0 48.0 100.0 16.4 240 257 104 234 52.0 100.0 48.2 51.8
As/I1A 100.0 88.7 100.0 13.7 39.7 275 15.1 40 11.3 100.0 54.3 45.7
a2 100.0 65.3 100.0 13.0 329 27.8 8.8 17.5 347 100.0 50.6 49.4
e = 100.0 385 100.0 39.8 39.4 159 3.0 1.9 615 100.0 405 59.5
= M 100.0 19.6 100.0 315 454  23.1 0.0 0.0 80.4 100.0 4.3 95.7
2 = 100.0 44.3 100.0 249 351 236 123 42 557 100.0 48.8 51.2
<ASE>
508t=2l DI8t || 100.0 24.9 100.0 86 123 434 174 183 751 100.0 416 58.4
50~1008+2 | 100.0 42.1 100.0 185 357 204 11.7 137 57.9 100.0 57.6 42 4
100~2008+2 | 100.0 625 100.0 153 31.8 246 11.7 167 375 100.0 62.9 37.1
200~3002t2 | 100.0 76.3 100.0 12.8 31.0 33.6 14.6 8.0 23.7 100.0 54.4 45.6
300~4002t2 | 100.0 81.5 100.0 145 357 30.2 13.9 57 185 100.0 61.0 39.0
400~6008t=! | 100.0 869 100.0 13.1 305 342 17.3 49 131 100.0 557 443
6008+ O|AF | 100.0 87.7 100.0 6.1 450 26.1 197 32 123 100.0 726 27.4
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(S : %)

2 = Al UCH gicH

20154 100.0 22.4 77.6
s =g 100.0 22.7 77.3
soR 100.0 21.1 78.9
<HdE>

g X 100.0 23.1 76.9
o X 100.0 19.1 80.9
<HEE>

15~29Al 100.0 30.7 69.3
30~39Al 100.0 25.4 74.6
40~49H 100.0 23.7 76.3
50~59Al 100.0 22.0 78.0
BOAIO] At 100.0 12.0 88.0
B5HI0] A 100.0 9.1 90.9
<stEg>

=Z0|5t 100.0 19.4 80.6
I 100.0 24.3 75.7
=0l 4 100.0 22.0 78.0
<EREE>

X ol & 100.0 17.8 82.2
M 100.0 9.1 90.9
M L 24 100.0 30.8 69.2
<AAE>

ze/zel 100.0 17.9 82.1
AR 100.0 29.2 70.8
A HIA /B 100.0 13.5 86.5
=0 100.0 20.5 79.5
s/ 100.0 30.0 70.0
Sl 100.0 26.1 73.9
Fz g 100.0 20.3 79.7
s M 100.0 29.3 70.7
e = 100.0 17.5 82.5
<ASE>
509t 0|et 100.0 22.8 77.2
50~1008+< 100.0 25.3 74.7
100~2008+He 100.0 25.1 74.9
200~3008H<! 100.0 13.4 86.6
300~4008+2l 100.0 24.4 75.6
400~6008+8l 100.0 22.7 77.3
6008t O] & 100.0 20.8 79.2
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[E 5-4-2] 8% 2FE R5te 02 CERR?
S 2 AEYA H20 i A STHS NI ASHA JIEH
= - " wosl meo | T -
20154 100.0 27.0 68.8 1.3 2.9
=1 g2 100.0 27.8 68.2 1.4 2.6
=5 8 5 100.0 28.5 71.6 0.8 41
<He>
=\ 100.0 27.3 68.6 1.3 2.9
(0 Xt 100.0 25.5 70.0 1.5 2.9
EEN
15~29Al 100.0 25.8 66.8 4.1 8.8
30~39All 100.0 28.9 68.4 0.0 2.8
40~49Al 100.0 23.1 74.5 0.9 1.5
50~59All 100.0 30.3 68.1 1.1 0.4
60AHI 0] & 100.0 27.7 62.5 1.7 8.1
65MI 0] A 100.0 25.4 59.3 2.9 12.4
SEEN
SZ0|ot 100.0 33.6 59.2 1.4 5.8
) = 100.0 29.2 66.0 2.4 2.4
CHE0]Ab 100.0 20.6 77.6 0.0 1.8
<ESHEE>
A O & 100.0 25.5 70.5 0.5 8.8
bS] Al 100.0 12.2 82.5 0.0 5.4
2H & 24 100.0 34.4 62.4 0.7 2.5
<EY>
dE/22 100.0 13.5 86.5 0.0 0.0
At £ 100.0 20.4 76.1 3.5 0.0
AN HIA/EHOH 100.0 20.4 771 0.0 2.5
SEONY 100.0 23.0 72.9 0.0 41
JIs/I1A 100.0 29.4 69.1 0.0 1.5
Ch=22 100.0 45.0 50.7 0.0 4.3
=S £ 100.0 40.5 59.5 0.0 0.0
=l A4 100.0 22.7 54.6 22.7 0.0
£ =l 100.0 33.9 51.3 2.6 12.2
<AEHE>
508t 0|8t 100.0 42 .4 41.3 3.6 12.6
50~1002H& 100.0 40.9 51.5 0.0 7.7
100~2008+& 100.0 46.8 48.5 0.0 4.7
200~3008+ 100.0 28.4 66.5 0.0 5.1
300~4008t= 100.0 29.4 70.6 0.0 0.0
400~6002+ 100.0 6.7 91.7 1.6 0.0
6009+ 04+ 100.0 8.8 91.2 0.0 0.0
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[E 5-5] ARl 22 =& got (S : %)
20|, 012t e o
2= e al o2 H
=TCEES ddsd SE X SESE =a z= B2 st
e 2 o2 ENE Sg S8t
Abed Hereo a0 ol A oz ozom
= sTE 2435 S =y
20154 100.0 9.5 17.8 8.6 23.9 6.4 13.7
s = 100.0 10.3 18.0 30.3 226 6.9 12.0
soe 100.0 6.4 16.9 21.9 29.4 4.5 21.0
<HYE>
94 X 100.0 12.0 17.5 8.5 21.9 7.4 12.8
Xt 100.0 7.0 18.0 8.7 26.1 5.4 14.7
SEELEPS
15~29Al 100.0 10.6 18.3 35.3 15.7 9.3 10.7
30~39Al 100.0 8.6 20.3 30.8 23.6 8.6 8.1
40~A49A 100.0 7.9 215 32.0 223 6.2 10.0
50~59Al 100.0 10.8 18.3 27.0 26.5 4.9 12.6
60O & 100.0 9.4 12.5 20.1 30.7 3.9 23.5
85101 & 100.0 7.8 1.2 17.6 33.1 3.6 6.7
<shaEg>
==0|5t 100.0 9.6 14.2 24.7 257 7.1 18.7
o= 100.0 9.1 18.8 31.3 228 4.4 13.6
EEY; 100.0 10.0 20.9 30.1 23.1 8.2 7.7
<ESEE>
X ol & 100.0 9.6 17.8 3.9 7P 5.4 16.2
2 A 100.0 13.7 16.0 35.6 16.4 2.2 16.0
M 2 24 | 100.0 13.2 20.3 5.4 23.8 4.1 13.2
<EQjE>
/e 100.0 12.4 235 33.6 22.0 2.3 6.2
A2 100.0 7.0 23.4 3.2 25.8 10.2 10.4
A HIA /EHOH 100.0 11.0 15.5 33.8 20.9 8.4 10.5
=200/ 100.0 6.4 10.3 13.6 48.4 4.0 17.2
IS /212 100.0 11.9 21.3 32.3 16.7 7.0 10.9
=] 100.0 15.2 19.5 255 19.3 3.3 17.1
= = 100.0 5.6 15.9 30.6 26.4 5.2 16.4
st M 100.0 9.0 18.4 31.1 15.5 13.7 12.3
2 = 100.0 10.1 15.2 24.9 27.1 3.3 19.4
<ASE>
509+ 0]Qt 100.0 6.0 14.8 1212 37.8 0.0 9.2
50~1002+! 100.0 1.5 15.9 15.3 29.3 3.4 24.6
100~2008H” | 100.0 13.1 11.8 26.9 27.9 4.6 15.7
200~3002+8 | 100.0 14.7 16.2 6.7 253 3.5 13.6
300~4002t8 | 100.0 6.2 23.4 27.3 23.1 7.7 12.3
400~6002+8 | 100.0 11.7 30.2 9.8 16.5 6.8 5.0
600BHR! 0|4 | 100.0 7.1 15.4 37.8 19.6 9.0 11.3
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[E 6-1-1] = EEA!
224
2 g
s | o s 2S M2 L2A0IE | Mo L-2A0Hs
20154 100.0 32.1 33.0 25.0 7.8 2.1
s g 100.0 34.1 33.5 22.6 7.4 2.4
soe 100.0 3.7 31.3 34.8 9.4 0.7
<He>
94 X 100.0 25.9 30.7 30.3 10.1 2.9
o X 100.0 38.3 35.4 19.6 5.4 1.2
EEES
15~29Al 100.0 20.3 31.6 32.1 12.6 3.5
30~39Al 100.0 35.3 35.2 24.2 3.5 1.8
40~49 K| 100.0 38.9 31.8 20.1 7.5 1.7
50~59Al 100.0 40.9 34.2 20.6 3.1 1.2
B0AI 0l A 100.0 28.5 33.1 26.4 10.0 1.9
65A101 4 100.0 5.5 32.4 27.9 1.7 2.4
<szg>
==0l5t 100.0 24.3 33.4 29.6 10.4 2.4
o = 100.0 35.8 31.1 22.5 7.6 2.9
ELPN; 100.0 37.1 35.1 20.4 4.9 0.6
<ESHED>
DI 100.0 32.8 30.8 23.9 9.7 2.8
A 100.0 24.9 30.4 37.9 4.8 2.0
A4 L P 100.0 8.9 32.5 31.4 6.2 1.0
<z=oje>
/e 100.0 43.8 38.5 12.1 4.4 1.1
N2 100.0 37.9 38.5 19.0 3.8 0.9
A HIA/EHOH 100.0 34.6 33.2 22.0 8.1 2.1
=20/ 100.0 15.6 25.3 45.2 13.0 0.9
JIs/213 100.0 oy .2 31.0 33.1 5.9 2.8
SaLrg 100.0 25.8 26.8 34.2 1.5 1.8
= g 100.0 44.3 39.4 13.7 2.3 0.3
s M 100.0 20.4 29.3 32.4 14.2 3.8
2 = 100.0 26.7 29.5 28.9 10.9 4.2
<AEHE>
500+l O] gt 100.0 27.7 22.4 29.2 16.3 4.4
50~1002+l 100.0 24.2 34.4 30.1 10.1 1.2
100~2008+& 100.0 27.5 31.2 29.6 9.7 2.0
200~3002+2 100.0 28.0 35.8 29.5 3.6 3.1
300~4002+2l 100.0 32.9 30.5 25.2 9.1 2.4
400~6008+! 100.0 36.4 29.8 23.6 8.5 1.6
6002+ 0] At 100.0 55.0 28.8 12.8 3.5 0.0
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[E 6-1-2] SZE2HEE 4

ror
gt

583
2 g
CEE | o A @2 LCaoks ot gt
20154 100.0 13.3 29.1 40.7 14.4 2.5
s = 100.0 13.3 29.4 40.5 13.9 2.8
g@ e 100.0 13.0 27.6 415 16.4 1.5
<sgE>
g X 100.0 1.1 24.1 45.1 15.9 3.8
o X 100.0 15.5 34.2 36.2 12.9 1.2
EEER
15~29A) 100.0 9.4 20.7 47.1 17.8 5.0
30~39A 100.0 6.6 30.1 44.4 17.0 1.9
40~49A 100.0 14.4 31.9 39.6 12.4 1.7
50~59A 100.0 20.0 33.9 36.5 8.0 1.7
600l & 100.0 14.6 30.0 37.0 16.4 2.0
6541014 100.0 12.0 27.2 39.0 19.4 2.3
<sgE>
£20/3t 100.0 11.9 26.8 41.9 16.7 2.7
2 = 100.0 15.4 29.6 38.7 12.8 3.5
EIPY 100.0 12.1 31.4 41.8 13.7 1.0
<EREE>
&Il & 100.0 14.1 29.0 38.3 15.2 3.3
@ M 100.0 9.4 28.9 45.6 14.1 2.0
N L 2y 100.0 8.5 28.1 46.0 16.7 0.7
<z eje>
e/l 100.0 16.9 34.9 38.7 7.1 2.4
AR 100.0 10.3 37.4 39.6 11.8 0.9
KHIA /2 o) 100.0 11.9 34.3 37.1 14.3 2.4
=209 100.0 8.9 26.0 44.9 19.1 1.2
Jls/212 100.0 8.9 23.6 50.8 13.8 2.8
GELe 100.0 12.0 20.9 44.4 20.4 2.3
= = 100.0 20.0 37.5 32.4 9.8 0.3
I 100.0 1.2 19.2 49.3 16.4 3.9
= 3 100.0 12.7 22.4 39.3 20.1 5.5
<AEE>
509+l gt 100.0 12.2 18.1 42.3 23.0 4.4
50~1008t 2 100.0 10.5 33.5 38.4 16.5 1.2
100~2008+H2! 100.0 12.8 30.3 35.6 18.9 2.4
200~3008+H2 100.0 11.9 32.5 39.4 13.1 3.1
300~4008+H2 100.0 12.3 27.7 43.5 13.9 2.6
400~6008!& 100.0 11.0 26.2 44.2 16.0 2.4
6002+l 014} 100.0 18.8 28.7 49.2 3.3 0.0
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[E 6-1-3] $ALHS A HS CEERD
HSAE ARSI
2 B
2 e =28 | o s s U2 L-HONE | FE A
20154 100.0 10.4 24.0 42.8 18.7 4.1
s = 100.0 10.7 24.7 41.8 18.3 46
gu s 100.0 9.4 21.2 47 1 20.4 2.0
ER
g X 100.0 9.5 20.0 46.0 19.1 5.4
o X 100.0 11.4 28.1 39.5 18.3 2.7
<oizE>
15~29A| 100.0 7.9 19.2 44.2 21.0 7.7
30~39Al 100.0 6.8 22.6 48.7 19.1 2.8
40~49H 100.0 1.3 26.7 44 1 14.9 3.0
50~59Al 100.0 5.2 31.4 37.0 14.1 2.4
6010144 100.0 10.6 21.2 415 22.9 3.7
6541014 100.0 8.5 19.9 41.8 25.3 45
<&HEE>
=20|5 100.0 8.3 20.9 43.0 23.1 47
2 = 100.0 2.1 22.8 43.6 16.6 48
EIPN 100.0 1.0 29.3 41.6 15.9 2.3
<HRE>
Xl A 100.0 11.7 24.9 41.8 16.9 46
S 100.0 13.3 13.8 51.1 19.9 2.0
N U 24 100.0 4.8 20.2 43.8 29.0 2.2
<HE>
®e2/2e 100.0 13.0 30.6 42.6 11.4 2.5
A= 100.0 9.3 30.1 43.4 16.4 0.7
RN 100.0 12.0 26.5 40.5 17.0 4.0
S0 100.0 5.7 19.8 46.1 26.0 2.4
Jls/2120 100.0 8.4 17.9 54.4 15.2 4.0
SR 100.0 8.1 12.1 53.1 23.7 3.1
= = 100.0 15.1 32.5 35.9 5.1 1.4
s M 100.0 7.2 20.9 44.9 19.9 7.2
2 = 100.0 9.1 18.2 37.9 26.2 8.7
<ASE>
5002l Ogt 100.0 5.0 14.3 39.8 33.7 7.1
50~1002+l 100.0 6.5 27.3 33.3 29.8 3.1
100~2008+2 100.0 8.7 21.4 44.3 21.9 3.7
200~3008+2 100.0 9.7 24.2 44.2 18.3 3.6
300~4002+l 100.0 9.8 25.6 47.6 12.6 44
400~6008+2 100.0 13.6 22.7 43.6 16.7 3.3
6002HR 0] 4¢ 100.0 19.8 21.8 47 1 11.3 0.0
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[ 6-1-4] #Z2HES 93

eSS MEDH|

3 =
e w2is g g2 Leoks Liors
20154 100.0 11.1 26.8 43.6 15.0 3.5
= 2 100.0 11.6 26.7 42.9 14.7 41
g0 e 100.0 9.3 27.1 46.6 16.0 1.0
<HE>
T 100.0 10.3 21.6 46.4 17.0 48
6 X 100.0 12.0 32.1 40.8 12.9 2.2
<giye>
15~29A 100.0 6.9 19.6 45.5 21.5 6.4
30~39A 100.0 6.4 24.4 50.1 15.7 3.3
40~49A| 100.0 9.2 30.5 45.6 1.7 2.9
50~59A 100.0 18.2 32.5 37.9 9.2 2.1
60A 0] & 100.0 13.6 27.3 40.8 15.7 2.6
B65M0] & 100.0 11.7 26.4 41.5 17.3 3.1
<sraie>
=ZE0I5t 100.0 9.9 25.0 43.4 18.3 3.5
2 = 100.0 13.2 26.0 435 13.5 3.8
CHE0| & 100.0 10.1 30.2 43.9 12.7 3.1
<HSEE>
NI S| 100.0 13.0 27.4 41.7 14.5 3.5
o Al 100.0 9.0 22.0 46.1 18.7 4.3
M & 24 100.0 6.3 21.3 48.8 21.3 2.3
<xejg>
me/ne 100.0 13.9 32.0 42.9 8.2 2.9
A 100.0 10.2 28.4 44.1 15.2 2.0
MNHIA/EOH 100.0 10.8 28.1 42 1 14.8 4.2
SEHY 100.0 9.9 28.7 40.0 21.5 0.0
dls/21A 100.0 9.7 20.8 49.8 16.3 3.4
=P 100.0 9.1 17.6 53.2 17.3 2.8
= £ 100.0 15.6 36.0 37.0 10.3 1.2
Sh = 100.0 7.8 20.4 46.9 20.2 4.7
2 2 100.0 9.7 23.0 43.5 16.1 7.7
<ASE>
5002l 0] 0 100.0 6.2 23.0 45.1 21.2 4.4
50~1008+ 100.0 11.7 271 37.6 22.4 1.2
100~20082+H2 100.0 8.6 26.7 45.5 15.4 3.7
200~3002t& 100.0 11.5 23.5 45.5 16.3 3.1
300~4002t& 100.0 13.1 25.4 42 .4 14.8 4.4
400~6008H& 100.0 10.7 24.6 45.8 15.8 3.1
6002HA 0l4t 100.0 16.0 30.0 43.9 8.6 1.5
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[E 6-1-5] S#ZEHES <& &= (91 %)
SagMg I Z0/D|
2 g
] Y w28 | %2 c2As 2 U2 LC2A0HE | ®E L-2orE
20154 100.0 21.2 30.6 33.5 11.8 2.9
£ = 100.0 21.8 31.5 31.6 11.8 3.3
gog 100.0 19.1 26.7 41.2 11.6 1.4
<gE>
¢ X 100.0 16.0 27.8 37.7 14.2 43
o Xt 100.0 26.6 33.5 29.2 9.2 1.5
<eizE>
15~20A 100.0 9.5 23.4 42.9 17.5 6.7
30~39Al 100.0 14.1 31.7 38.2 13.0 3.0
40~49A| 100.0 24.4 31.8 30.9 10.9 2.0
50~59Al 100.0 30.6 36.9 26.0 5.3 .2
60MI0l 4 100.0 26.3 30.5 30.1 11.6 1.5
65MI01 4 100.0 24.1 30.0 31.1 12.8 1.9
<&HE>
=20|5 100.0 20.0 28.9 34.1 14.2 2.9
2 = 100.0 24.0 31.1 31.3 10.2 3.5
EIPS 100.0 19.3 32.2 35.6 10.6 2.3
<ERE>
Xl A 100.0 21.8 33.0 30.0 12.2 2.9
S 100.0 16.9 28.3 40.9 11.9 2.0
2N L 2y 100.0 15.2 28.5 425 13.2 0.7
R
SV E] 100.0 26.8 29.3 32.3 10.1 1.4
A= 100.0 16.9 42.9 28.7 9.5 2.0
AHIA /o) 100.0 22.7 32.7 29.5 12.9 2.2
S0y 100.0 16.4 24.6 42.4 16.0 0.6
JIs/21 100.0 13.0 29.8 43.7 10.7 2.8
S 100.0 21.9 22.7 36.7 14.3 4.4
= = 100.0 34.5 37.5 22.6 4.5 1.0
s M 100.0 8.5 21.0 42.4 22.4 5.8
£ 100.0 19.7 28.2 35.1 11.6 5.4
<ASE>
500kl 0ot 100.0 21.5 24.4 33.5 6.1 4.4
50~1002+ Rl 100.0 19.1 34.7 34.8 10.2 1.2
100~2008+2 100.0 19.7 32.8 31.6 14.3 1.7
200~3008+2 100.0 17.4 31.2 37.5 10.8 3.1
300~4008+2 100.0 21.7 25.7 35.7 14.3 2.6
400~6002+ Rl 100.0 15.1 37.0 33.8 12.4 1.6
6008HA 0l4 100.0 31.3 33.6 27.4 7.7 0.0

¥ EX 1 20158 O==Al AtRIZAL

— 251 —



== 201651 C1A| AIZIZSAL M

[E 6-1-6] #ZEXE A%t &S )
SEAIH ARSI
2 g
e =28 | o2t g 2s orgt ot gt
20154 100.0 8.8 19.8 45.5 19.9 6.0
S 100.0 8.7 20.4 44.5 19.4 6.9
sae 100.0 9.3 17.0 49.5 22.1 2.1
<aE>
X 100.0 8.0 16.6 46.1 21.3 7.9
o X 100.0 9.7 23.0 44.9 18.5 4.0
NCEER
15~29A 100.0 6.2 12.9 48.3 23.4 9.2
30~39Al 100.0 7.2 20.7 45.3 20.0 6.8
40~49H 100.0 7.8 19.8 49.7 16.2 6.5
50~59Al 100.0 12.4 28.5 40.4 15.9 2.8
6001 & 100.0 10.2 18.5 43.9 22.7 4.8
6541014 100.0 8.2 17.0 45.0 24.4 5.4
<stzg>
SZ0/5t 100.0 7.5 17.3 45.8 24.2 5.2
2 B 100.0 10.3 20.6 43.9 17.9 7.3
WELI 100.0 8.5 21.8 47.2 17.1 5.3
<ERHE>
Xl E 100.0 9.5 20.8 44.3 18.9 6.4
Al 100.0 10.8 13.3 46.9 21.3 7.7
=L ERERY 100.0 3.6 15.5 48.5 28.3 4.1
<HY >
ae/2e 100.0 9.3 22.1 47.4 15.9 5.3
A2 100.0 10.1 19.9 48.5 15.9 5.6
Kl A/B ) 100.0 10.9 23.0 41.2 20.8 4.1
s20/g 100.0 7.7 16.8 47.5 26.0 2.0
215/2120 100.0 3.3 18.1 54.4 16.2 8.1
S 100.0 7.4 13.5 47.5 25.4 6.2
= g 100.0 13.6 30.3 37.9 14.1 4.0
s M 100.0 4.9 10.9 52.8 24.3 7.2
£ 3 100.0 7.7 14.5 43.1 24.9 9.8
<ASE>
509+ 0]gt 100.0 5.5 9.9 43.9 32.5 8.2
50~1008+2 100.0 4.8 19.3 40.0 32.5 3.4
100~2008+ 2! 100.0 8.0 17.8 48.2 21.6 4.4
200~3008+ 2 100.0 9.2 20.8 46.9 16.5 6.7
300~4008+ 2 100.0 9.6 17.5 50.5 17.4 5.1
400~6008! & 100.0 7.4 19.2 44.8 20.2 8.4
6008 0l 4} 100.0 11.8 31.1 40.0 13.8 3.1
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[E 7-1-1] &% 520 & 22BN (E91 : %)
=&
_ o _ IE"5]
. o | 28 E 22 | A3 | =2y o e
= 2 M;‘ ME M| A Y | 92 | =X =3t _:1 ::ﬁ JlEt
=2 20 | Ng | o Na | oae | T T
el
20154 1000 7.1 17.1 6.3 9.3 17.0 156  14.0 3.3 102 0.0
£ = [1000 68 184 6.9 91 157 149 140 2.3 11.0 0.0
se2 1000 85 116 41 10.3 224 187  14.0 3.4 7.0 0.1
<He>
4 I 100.0 6.1 165 6.6 120 163 136 156 3.5 9.7 0.0
Xt 100.0 83 17.6 6.0 66 17.7 177 12.3 3.0 10.7 0.0
<HZEE>
15~204 | 1000 65 289 11.8 12.5 9.1 58 108 2.6 11.9 0.0
30~39M | 1000 153 225 86 9.9  10.0 6.0 13.7 .2 128 0.0
40~49M | 1000 58 179 7.7 95 143 114 189 3.7 10.7 0.0
50~59M | 1000 62 115 26 9.4 196 17.3 19.2 5.8 85 0.0
60AIOIA | 100.0 4.3 66 1.7 58 287 329 9.0 2.9 8.0 0.0
65MI01& | 100.0 4.0 5.1 1.7 50 308 36.4 6.7 2.7 75 0.1
SEEN
=Z0|5t | 1000 55 12.4 4.4 9.9 224 250 9.4 3.1 8.0 0.0
o = |1000 76 177 6.3 9.0 160 120 158 4.0 1.4 0.0
Ci=o0la | 1000 85 220 87 89 11.8 88 17.2 2.6 11.4 0.0
<EHSHE>
Xt oA 100.0 5.6 12.0 45 9.0 208 206 153 3.6 85 0.0
2 OM 100.0  13.2 85 6.0 105 138 163 16.2 1.8 136 0.0
M L 24 | 1000 81 150 46 81 195 155 148 3.7 10.7 0.0
<EIY>
M=/22 | 1000 102 230 86 7.2 121 7.0 184 1.6 120 0.0
A = 1000 85 251 83 89 125 7.6 145 4.0 105 0.0
NHIA/BOH | 1000 75 155 4.6 10.6 162 13.0 17.9 0.7 121 0.0
s 100.0 5.2 3.1 1.7 70 296 325 112 2.3 6.4 0.0
JIS/OIA | 1000 7.7 182 48 10.3 108 96 206 4.8 13.2 0.0
g2 | 1000 38 8.4 3.1 105 219 193 167 6.5 9.8 0.0
= = 1000 104 150 48 69 182 185 117 3.9 10.7 0.0
s A 100.0 48 31.3 139 16.4 7.7 5.5 9.3 2.0 9.1 0.0
2 oz 100.0 41 110 5.9 6.6 260 27.9 9.0 2.2 7.2 0.1
<ASE>
508k 019 | 100.0 6.1 4.1 0.5 04  36.0 402 4.3 2.9 3.6 0.0
50~1008t2 | 100.0 4.2 44 05 55 31.6 386 4.9 2.2 6.8 0.2
100~2009+2 | 100.0 6.3 8.0 38 106 222 207 13.4 3.4 116 0.0
200~3008k | 100.0 81 146 5.9 89 157 148 189 3.4 9.8 0.0
300~4008t | 100.0 7.0 177 5.2 121 146 82 176 4.5 13.0 0.0
400~6008t | 100.0 7.4 198 6.6 9.7 125 109 212 4.4 75 0.0
6008t Ol4 | 100.0 7.9 169 10.2 113 128 33 229 1.0 13.6 0.0
% =2 : 20159 O12=Al AF3IZAF
% Ossg
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[E 7-1-2] &% s2i0F & 33AI4 (EH91 : %)
Sl
=5 e - g | 2D
2 = s | =8 M= 224 | A8 | 39 o .
= 2 e | BB EAB | Ng e ooz | =X FR | T o:ﬁ JIE
22 208 | N&E | A& | oAe | T | TE
Hel®

20154 100.0 10.9 208 7.0 80 19.6 127 134 1. 6.3 0.0

£ £ |1000 104 230 7.5 78 184 114 137 6.6 0.0

g®8 |1000 127 117 53 89 244 180 125 48 0.1

<gg>

2 X 1000 9.0 19.9 85 10.1 187 11.6 156 52 0.0

o Xt 100.0 128 216 56 6.0 205 139 11.2 7.4 0.0
<HZE>

15~29K | 100.0 11.1 387 13.9 8.5 8.3 o5 9.8 0.8 53 0.0

30~39M | 100.0 246 229 96 7.3 126 2.6 123 0.5 7.6 0.0

40~49A1 | 100.0 89 221 7.4 85 186 7.2 202 1.3 59 0.0

50~59M | 100.0 87 152 3.8 88 19.0 164 204 1.9 57 0.0

B0AIOI& | 100.0 55 7.1 1.7 7.1 348 281 6.8 1.9 6.9 0.1

65M014 | 100.0 4.0 6.2 1.6 6.5 363 31.9 5.0 1.6 6.8 0.1
<s=EE>

EZ0l18t | 1000 7.9 158 47 8.3 258 229 8.0 0.8 56 0.1

2 & |1000 117 208 76 8.9 189 8.1 159 1.9 6.2 0.0

iEol4 | 100.0 135 269 9.2 6.5 127 57 17.1 1. 72 0.0
<HREE>

X & |1000 86 141 5.1 9.0 249 174 152 3.7 0.1

& M |1000 176 113 6.0 85 16.0 146  16.4 9.8 0.0
SN % 24 | 1000 94 183 58 50 269 122 134 81 0.0
<X|%—H:EI=I>

de/el | 100.0 154 246 103 53 145 42 175 1.1 7.1 00

AL 2 ] 1000 117 344 83 6.3 14.3 42 137 1.3 58 0.0
ANHIA/EON | 100.0  11.9  17.1 4.0 9.1 165 107 222 1.6 6.9 0.0

S0 | 1000 7.2 3.4 1.7 81 325 307 102 1.1 51 0.0
JIs/J1A | 100.0 114 207 5.7 8.4 148 9.3 21.9 1.2 6.4 0.0

&2 | 1000 63 101 5.1 124 259 148 163 1.3 7.8 0.0

F & |1000 168 189 3.8 7.4 199 138 9.8 1.8 7.8 0.0

s M4 1000 81 434 19.2 9.1 5.6 3.0 8.5 0.6 25 0.0

£ = ]1000 50 127 6.2 7.1 328 234 5.2 1.5 6.0 0.1
<ASEE>
508H& 0Igt | 100.0 6.0 40 00 3.3 50.1 29.7 3.1 3.8 0.0
50~1008H& | 100.0 4.4 59 0.0 41 413 352 2.6 51 0.4
100~2008+ | 100.0 7.9 8.7 56 11.0 241 204 113 9.7 0.0
200~3008+& | 100.0 127 165 7.4 7.9 191 105 208 3.0 0.0
300~4002+& | 100.0 10.9 258 6.5 9.7 192 51 17.8 41 0.0
400~6002+& | 100.0 122 249 55 7.3 129 82 19.4 6.5 0.0
6002+ Ol4 | 100.0 8.0 165 14.0 105 14.1 3.5 290 43 0.0
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[E 7-1-3] &% sci0F & B3A4 (421 %)
Gall=Hz
= . - oy | 28I
a2 g s =3t M= BA At3l =9 o e
2 N | AE | EAZ AR A | =X =1t ;‘A :c;ﬁ JIEH
= oF= T
32 1%
2 2ol NP~ NE Ne |y

20154 100.0 3.0 129 55 10.7 141 19.0 146 5.5 147 0.0

g = 100.0 2.8 133 6.2 105 127 188 143 5.5 159 0.0

guR 100.0 38 115 28 11.8 201 195 159 5.8 9.5 0.0

<d8>

¢ X 100.0 2.8 128 46 141 137 159 156 5.7 14.8 0.0

o X 100.0 3.2  13.1 6.5 7.3 145 221 135 5.2 145 0.0
<HIE>

15~29A 100.0 1.4 182 95 16.9  10.1 83 11.9 4.6 191 0.0

30~39Al 100.0 54 220 76 12.6 7.3 9.6  15.1 2.0 183 0.0

40~49A| 100.0 2.4 132 8.1 10.7 95 160 17.4 6.4 16.2 0.0

50~59A 100.0 3.4 75 1.3 10.0 202 182 17.9  10.0 115 0.0

60AIOI& | 100.0 3.0 6.0 1.7 42 213 387 117 4.0 9.4 0.0

65KI014 | 100.0 4.0 3.7 1.9 3.2 240 421 8.8 4.0 84 0.0
<sAH>

EZ0I5t 100.0 2.8 83 4.0 11.8 185 273  11.0 5.6 10.7 0.0

o B 100.0 3.0 142 48 9.2 127 165 158 6.4 17.4 0.0

tHE0l4 100.0 32 168 82 115 108 121  17.4 4.1 16.0 0.0
<EREED>

X ol 100.0 2.1 96 3.8 91 162 242 153 5.7 140 0.0

3 A 100.0 8.6 57 6.1 125 115 182  16.0 3.7 17.7 0.0
A ¥ 24| 1000 66 112 3.4 11.6 11.0 193 16.3 6.9 13.7 0.0
<EHE>

/2l | 1000 47 212 6.7 9.3 9.6 99 194 2.1 17.0 0.0

A2 100.0 52 154 83 1.6 106 112 154 6.9 155 0.0
MHIA/EHOH | 1000 25 136 5.3 123 158 156  13.0 3.9 18.0 0.0

S 100.0 2.7 28 1.8 58 26.0 347 124 5.9 79 0.0
Jls/21A | 1000 35 155 3.7 12.4 6.5 99 192 8.7 20.7 0.0

SR 100.0 0.6 6.4 0.7 81 17.0 250 17.1  13.0 122 0.0

z = 100.0 31 105 59 6.5 16.4 237 13.8 6.2 140 0.0

s o 100.0 1.4 185 8.3 241 10.0 8.0 10.2 3.6 16.0 0.0

£ X 100.0 2.9 89 56 62 178 333 137 3.2 86 0.0
<ASHE>
502+@ 012 | 100.0 6.2 4.1 1.1 1.3 188 529 5.8 6.4 3.3 0.0
50~1002+& | 100.0 3.9 25 1.2 7.3 195 428 7.7 6.3 8.8 0.0
100~2008+& | 100.0 4.3 7.1 1.6 100 19.9 212 159 6.2 13.9 0.0
200~3009H& | 100.0 2.9 124 4.2 101 11.9 195 16.8 4.7 17.4 0.0
300~4002+& | 100.0 2.6 88 3.8 14.7 96 1.7 174 8.5 229 0.0
400~6002+& | 100.0 2.4 145 7.7 122 121 136  23.1 5.9 85 0.0
6002+ Ol4 | 100.0 7.8 173 6.2 121 11.4 32 16.4 2.1 23.5 0.0
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[ 7-2-1] &% 520t 8 SIAHEIA (&2 1 %)
_<7§_=l-
2 g 2z %ﬂflo ol | PHHB | o u HoHQ! -
A gazsn | U | oo aa | BRE | e | SR S| e
AHIA ’;;f = T ReAdA | T | HEAdA -
20154 100.0 29.7 12.9 18.2 20.6 6.8 8.8 6.3 0.0
= 2 100.0 29.4 13.1 17.2 211 7.1 5.9 6.1 0.0
s 8 5 100.0 30.7 1.9 22.5 18.4 5.7 3.9 6.9 0.0
<He>
g X 100.0 30.7 13.2 16.5 22.2 6.1 6.2 5.0 0.1
o X 100.0 28.6 12.6 20.0 18.9 7.5 4.9 7.6 0.0
<HIE>
15~29A 100.0 26.4 16.6 10.5 23.4 13.9 6.4 2.7 0.0
30~39A 100.0 24.8 26.4 1.4 16.8 12.0 4.0 4.4 0.2
40~49Al 100.0 30.6 13.8 14.5 24.7 3.5 5.8 7.1 0.0
50~59A 100.0 31.3 7.2 19.1 25.6 4.2 6.4 6.2 0.0
60A4I0|&f 100.0 33.7 4.7 31.9 13.0 1.9 4.7 10.1 0.0
65AMI10] & 100.0 33.7 4.0 34.3 10.8 1.1 4.4 11.7 0.0
<stEg>
SZ0I5t 100.0 33.1 7.2 25,8 17.6 3.9 5.0 7.8 0.0
1 ES 100.0 28.0 13.0 15.2 24.2 7.6 6.6 5.3 0.1
CHE0l & 100.0 27.7 19.5 13.4 19.6 9.4 4.8 5.7 0.0
<HREH>
Ao & 100.0 32.3 10.5 21.7 18.3 3.3 5.1 8.7 0.1
o Al 100.0 36.7 16.1 18.4 18.1 9.1 0.0 1.6 0.0
M 2 2 100.0 23.1 14.9 17.7 25.8 6.0 7.5 5.1 0.0
<A YE>
/22 100.0 28.1 19.8 14.9 17.9 8.9 4.7 5.6 0.0
At 2 100.0 27.3 15.9 13.2 21.0 8.8 7.8 6.0 0.0
N HIA/THOR 100.0 28.6 16.6 15.8 22.1 6.6 5.8 4.7 0.2
sEOY 100.0 34.5 3.8 29.1 19.2 1.2 1.9 10.3 0.0
As/21A 100.0 31.7 15.0 11.3 24.7 7.2 4.9 5.0 0.0
He=l R 100.0 32.2 5.9 22.1 27.7 3.0 5.3 3.9 0.0
= 2 100.0 30.2 13.1 19.9 16.9 7.2 4.2 8.5 0.0
g P 100.0 30.1 14.2 12.5 24.8 10.7 6.6 1.0 0.0
2 & 100.0 27.7 7.4 26.5 16.1 5.0 7.4 9.9 0.0
<ASE>
508t 0O|et 100.0 24.7 1.8 35.8 13.9 0.0 5.4 18.5 0.0
50~100EH2 100.0 31.0 RS 35.0 15.6 1.1 4.8 6.9 0.0
100~2008+& 100.0 33.8 9.4 22.0 21.4 2.3 8.8 5.6 0.0
200~3002+H 100.0 30.8 14.7 12.5 22.4 7.4 6.7 5.8 0.0
300~4008H 100.0 32.3 15.1 15.4 21.8 5.9 3.2 6.0 0.4
400~6002H 100.0 24.3 16.9 15.2 23.5 7.1 6.3 6.6 0.0
6008+ 0|4t 100.0 32.7 19.6 16.0 18.0 3.0 5.7 4.8 0.0
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[E 7-2-2] &% =ci0F & SXNAHIA (E91 : %)
il
ALl r= Aol s Zoje!
= @ o | ESNE | ol S R I 17 E 2 SONEIE
A * ds 2 E= | sgAba | 200 gaaua | 5% E D gagya | 1
PTIES HIA EPITCIES WEVTIES
20154 100.0 42.7 13.5 17.3 17.1 4.2 2.2 3.0 0.1
= £ 100.0 42.5 13.9 16.2 17.9 4.3 2.1 3.1 0.1
SRR 100.0 43.6 11.8 21.8 14.0 3.7 2.8 2.6 0.0
<gg>
g X 100.0 45.6 12.8 15.6 18.2 3.6 2.5 1.6 0.1
o X 100.0 39.8 14.2 19.0 16.0 4.8 1.8 4.3 0.0
<gilgg>
15~29AM 100.0 41.6 14.6 10.1 21.8 9.3 2.6 0.0 0.0
30~39Al 100.0 34.3 32.9 10.0 12.2 7.6 0.9 1.8 0.4
40~49A 100.0 44.8 16.7 1.2 20.8 0.8 2.4 3.3 0.0
50~59Al 100.0 45.4 6.7 16.0 21.8 3.5 2.2 4.3 0.0
60AI0I & 100.0 45.2 3.6 33.6 8.7 0.6 2.5 4.9 0.0
65A10] & 100.0 44.6 2.2 37.3 8.1 0.6 2.2 5.1 0.0
<sHHE>
SE0|at 100.0 45.5 5.6 25.3 15.4 1.9 1.7 4.5 0.0
o £ 100.0 421 14.1 14.7 20.2 4.5 2.8 1.8 0.1
=014 100.0 40.0 22.5 10.5 18.8 6.5 2.5 2.5 0.0
<B=EE>
I ol & 100.0 45.6 10.6 22.0 14.9 1.2 1.5 4.1 0.2
b Al 100.0 51.2 19.8 16.4 9.0 1.7 0.0 2.2 0.0
A 2 F& 100.0 30.3 19.3 20.2 18.8 3.9 4.4 3.0 0.0
<HgE>
dE/2e 100.0 40.9 22.9 13.2 16.2 4.2 0.0 2.5 0.0
Ab 2 100.0 45.2 18.9 9.3 12.9 6.7 4.0 3.0 0.0
N HIA /20 100.0 41.6 21.3 13.4 17.6 2.0 1.3 2.3 0.4
S80I 100.0 41.6 28 31.1 18.9 1.5 0.0 4.0 0.0
S/ 100.0 48.1 12.9 10.3 17.8 5.8 2.6 2.8 0.0
G=2 100.0 39.6 6.5 21.0 27.8 0.5 3.5 1.1 0.0
= £ 100.0 421 14.8 16.8 13.8 5.9 1.8 4.8 0.0
st A 100.0 47.5 97 12.7 22.3 7.5 0.3 0.0 0.0
5 & 100.0 38.9 7.2 28.6 13.9 2.2 8ol 4.2 0.0
<ASE>
508+3 0|2t 100.0 30.2 1.6 46.2 9.7 0.0 2.9 9.4 0.0
50~1002+& 100.0 36.1 4.1 37.5 13.8 0.4 4.4 3.8 0.0
100~2008+& 100.0 41.8 10.2 18.3 21.6 0.7 3.0 4.4 0.0
200~3002+& 100.0 45.9 17.8 14.3 14.0 3.0 2.2 2.7 0.0
300~4008+3 100.0 47.7 16.4 15.6 14.7 4.9 0.0 0.0 0.8
400~6008t3 100.0 38.8 21.9 14.1 16.0 2.6 2.0 4.6 0.0
6002HA 014 | 100.0 50.1 20.4 8.7 18.9 0.0 0.0 1.9 0.0
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[E 7-2-3] &% =2{0F & SXAHA (&2 : %)
e
Ay os Hop s Fopel
2 = n o wymm | TSN | oS R B L pINEIE -
=== Y s | ZEAHA | S XEAHA | T2 THEAHIA
KA b EPTES THEAHIA

20154 100.0 14.7 12.2 19.3 24.5 9.9 9.3 10.1 0.0

= £ 100.0 14.5 12.3 18.4 24.6 10.3 10.2 9.6 0.0

= 100.0 15.3 11.9 23.3 23.7 8.1 5.5 12.1 0.0

<dg>

=N 100.0 13.8 13.7 17.6 26.7 9.1 10.3 8.8 0.0

(0N 100.0 15.6 10.7 211 22.2 10.7 8.3 11.4 0.0

<Hge>

15~29A 100.0 9.2 18.9 11.0 25.3 19.1 10.8 5.7 0.0

30~39Al 100.0 14.5 19.4 12.9 21.7 16.7 7.4 7.3 0.0

40~49A 100.0 14.3 10.6 18.2 29.2 6.5 9.7 11.5 0.0

50~59A 100.0 15.8 7.7 22.5 29.8 4.9 11.0 8.3 0.0

60Al 0] &t 100.0 19.4 6.1 29.9 171 3.5 7.5 16.6 0.0

65A(0] & 100.0 20.0 6.2 30.5 14.2 1.6 7.2 20.1 0.0

<shE">

=E0|ot 100.0 17.9 9.2 25.7 20.2 6.2 9.0 1.7 0.0

) £ 100.0 12.0 11.8 15.8 28.8 11.0 11.4 9.3 0.0

CHE0| & 100.0 14.4 16.1 16.4 24.0 12.6 7.2 9.2 0.0
<BSFEE>

AP 100.0 16.8 10.5 21.4 22.1 5.8 9.4 14.0 0.0

bl Al 100.0 20.5 12.3 20.8 28.3 17.3 0.0 0.8 0.0
M 2 24 100.0 14.9 9.7 14.8 33.8 8.4 11.1 7.4 0.0

<HAEH>

HZ/2tel 100.0 14.4 16.5 16.7 19.8 13.9 9.8 8.9 0.0

Al £ 100.0 8.7 12.7 17.2 29.4 11.1 11.8 9.1 0.0
MUl A/EOY 100.0 14.3 11.4 18.3 26.9 11.5 10.1 7.4 0.0

S 100.0 25.6 5.1 26.5 19.5 0.8 4.3 18.2 0.0

Jls/I1A 100.0 13.1 17.5 12.4 32.7 9.2 7.6 7.5 0.0

S 100.0 22.8 5.2 23.4 27.6 6.1 7.6 7.3 0.0

= £ 100.0 16.2 11.2 23.4 20.6 8.8 7.0 12.8 0.0

S A 100.0 10.8 19.3 12.4 27.6 14.3 13.5 2.2 0.0

£ & 100.0 13.7 7.7 23.8 18.9 8.5 10.3 17.1 0.0

<ASE>
502+& 0]t 100.0 18.0 1.9 23.2 19.0 0.0 8.4 29.5 0.0
50~1008+H 100.0 24.3 7.4 31.9 17.9 2.1 5.4 111 0.0
100~2008+2 100.0 23.7 8.3 26.7 21.3 4.3 8.6 7.1 0.0
200~3008+& 100.0 14.4 11.5 10.5 31.6 12.1 11.5 8.5 0.0
300~4008t& 100.0 15.2 13.6 15.3 29.6 7.0 6.8 12.6 0.0
400~6008t2 100.0 8.6 11.5 16.5 31.7 12.0 11.0 8.8 0.0
6002HA 0Ol4t 100.0 14.2 18.9 23.9 17.1 6.3 11.8 7.9 0.0
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[E 7-3] TI238 J1A9 AlSIS8E H& (S @ %)
=20
BA Q= exfe Y JUELIE=
. : s S AH=
I = A ABI =90 1] o1} I s JIE
=4 FHOX mEE! ;010 =
Ssil=

20154 100.0 44.6 16.7 8.6 23.4 6.6 0.1

s = 100.0 46.7 14.9 8.2 23.9 6.2 0.1

soe 100.0 35.8 23.9 10.4 21.7 8.2 0.0

<He>

4 X 100.0 44.0 17.7 8.3 515 6.7 0.1

o X 100.0 45.2 15.6 9.0 23.7 6.5 0.1
NEEEN

15~29A 100.0 56.2 12.0 4.8 21.8 5.3 0.0

30~39Al 100.0 44.6 1.3 13.9 27.0 2.5 0.7

40~49 K| 100.0 42.4 16.0 10.0 24.7 7.0 0.0

50~59Al 100.0 411 24.6 9.7 17.9 6.7 0.0

60AI 0l &t 100.0 38.7 18.4 6.9 26.1 9.9 0.0

65A1 014t 100.0 38.2 15.8 7.6 27.0 1.3 0.0
<shEg>

=z0|5t 100.0 43.0 17.3 7.4 24.1 8.3 0.0

o = 100.0 42.4 17.8 8.1 23.7 8.1 0.0

VEIPS 100.0 49.4 14.5 10.8 22.3 2.5 0.4
<HESHED>

X I = 100.0 39.0 19.2 7.7 26.5 7.4 0.2

2 A 100.0 38.8 14.6 10.7 21.3 14.6 0.0
A4 L 2 100.0 45.6 17.1 12.8 17.4 7.2 0.0
<mje>

H2/22 100.0 44.9 19.1 11.1 23.1 1.4 0.4

N2 100.0 50.2 17.0 10.7 19.4 2.7 0.0
A HIA/EHOH 100.0 44.9 17.2 9.9 297 5.3 0.0

=20/ 100.0 44.7 21.2 6.1 22.4 5.6 0.0
JIs/21H 100.0 41.8 17.8 7.4 25.8 7.2 0.0

S 100.0 33.8 17.6 12.1 26.7 9.8 0.0

= = 100.0 39.3 17.3 11.0 25.4 7.0 0.0

= 100.0 56.9 10.8 4.4 21.5 6.5 0.0

2 = 100.0 45.4 15.2 5.4 22.8 10.8 0.4
<AEHE>
500H2l 0] gt 100.0 46.9 11.0 9.0 16.5 16.6 0.0
50~1002+R 100.0 40.4 17.6 7.1 27.3 7.4 0.0
100~2008t! 100.0 40.3 22.8 9.0 20.4 7.5 0.0
200~3008+2! 100.0 36.0 17.4 10.7 26.0 9.3 0.6
300~4002+2l 100.0 44.6 17.8 7.9 22.9 6.7 0.0
400~6008+! 100.0 36.7 221 10.4 26.7 4.2 0.0
6002+l 0] At 100.0 50.4 14.8 10.0 23.6 1.2 0.0
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[E 7-4-1] LOIS0| A= oS Sl @ %)
_ZC_E'I-
= Ql0| _ oA
- 8 5 | 2H=e | el ifm 2z | azs, | MEEF A;;O"Q’fff gg =8 | =o=x |
oe | 2ol - | =A LE] | NHIA | AR 2=
o s tE o3 o=
20154 100.0 31.4 1.8 7.1 446 6.3 0.2 2.8 1.2 46 0.1
= 2 100.0 36.8 1.9 8.8 38.9 5.9 0.1 2.8 0.8 40 0.0
sHE 100.0 20. 1 1.5 3.2 56.4 7.1 0.5 2.9 1.9 6.0 0.4
<4gd4g>
=S’ 100.0 29.9 2.1 8.2 42.8 5.4 0.4 4.5 1.1 56 0.2
o X 100.0 32.5 1.6 6.3 45.8 6.9 0.1 1.6 1.2 3.9 0.1
<stsEY>
=Z=0|5t 100.0 32.5 1.6 6.5 45.6 6.4 0.3 2.1 1.0 40 0.0
i) = 100.0 30.0 2.7 10.0  33.7 7.5 0.0 5.5 2.6 7.3 0.8
CHE0| 4t 100.0 13.6 3.1 10.9 52.4 1.2 0.0 10.0 0.0 8.7 0.0
<BREH>
X oA 100.0 29.0 1.9 6.5 46.2 7.4 0.3 3.2 0. 4.7 .0
& Al 100.0 43.7 0.0 1.7  31.3 2.6 0.0 4.4 1. 1.7 4
SN 2L 2A | 100.0 49.4 0.0 2.8 34.6 9.6 0.0 0.6 1. 1.8 .0
<EgY>
&2/ 100.0 12.1 12.6 4.2  29.4 12.6 0.0 1.0 0.0 8.2 0.0
At =1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AHIA/EOH | 100.0 19.7 2.9 0.0 48.9 6.6 0.0 8.5 0.9 2.5 0.0
sEY 100.0 20.3 0.0 0.6 58.3 7.0 1.0 4.0 1.4 7.4 0.0
Jls/I1AH 100.0 22.5 6.4 7.6 46.8 11.5 0.0 2.6 2.5 0.0 0.0
S 100.0 37.5 6.1 4.4  41.9 2.8 0.0 1.1 0.0 6.2 0.0
=S =2 100.0 36.5 0.7 8.1  43.0 3.5 0.3 2.2 1.9 3.7 0.0
= A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 = 100.0 34.0 1.7 9.8  41.1 7.3 0.0 1.8 0.9 3.1 0.3
<ASE>
5022 0|8k | 100.0 41.5 0.0 4.7 427 7.3 0.0 1.1 1.2 1.5 0.0
50~1008+=2 | 100.0 34.3 1.3 3.4 454 8.2 0.7 2.3 0.7 3.3 0.4
100~2002+= | 100.0 27.8 2.4 9.5 4.9 3.9 0.0 2.5 1.2 7.9 0.0
200~3008t= | 100.0 17.9 5.5 9.8 39.3 1.7 0.0 8.5 0.8 6.5 0.0
300~4002t& | 100.0 4.6 0.0 27.9 471 9.3 0.0 5.5 0.0 55 0.0
400~6002H | 100.0 15.2 0.0 0.0 40.5 19.3 0.0 16.4 0.0 8.6 0.0
6002t 0|4} | 100.0 0.0 0.0 0.0 75.0 0.0 0.0 25.0 0.0 0.0 0.0
¥ EX 1 20158 0=Al AFSIZ AL
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[E 7-4-2] LQS0] A= M= (&9 : %)
129
Q{0 _ oA
2 = y | FRHL | iU mia%:r A2 | A=s j}fjg A;;";f yg e8| wa=mx |
olzie | 2=ol o 2H | A9 N e AHIA NE 2=
%&"g AT I:Hx:l —|Ql' _‘?_;
20154 100.0 34.9 1.8 6.6  48.6 3.4 0.2 1.5 0.3 25 0.1
= =2 100.0 43.5 2.0 8.0 39.4 3.1 0.0 1.5 0.4 2.1 0.0
s Hg 100.0 16.7 1.4 3.7 682 4.3 0.6 1.6 0.0 3.3 0.4
<HEg>
94 X 100.0 33.6 1.9 7.9  46.9 3.2 0.5 2.9 0.0 29 0.3
o X 100.0 35.9 1.8 56 498 3.6 0.0 0.6 0.4 22 0.0
<stsEg>
=Z0|5t 100.0 35.9 1.6 59  49.9 3.1 0.2 1.1 0.3 1.9 0.0
i) = 100.0 36.6 2.9 9.3  33.0 7.3 0.0 3.6 0.0 6.2 1.1
CHE0| 4t 100.0 11.8 2.7 12.7  64.6 0.0 0.0 4.6 0.0 36 0.0
<BREEH>
y D) 100.0 31.6 1.9 6.8 50.6 4.2 0.4 2.1 0.0 2.4 0.0
rS| Al 100.0 54.8 0.0 11.9 288 0.0 0.0 0.0 0.0 0.0 45
2H 2L 2A | 100.0 60.9 0.0 2.2 331 2.1 0.0 0.0 0.0 1.7 0.0
<HAdE>
&E2/2e 100.0 16.1 16.8 0.0 335 16.8 0.0 16.8 0.0 0.0 0.0
At = 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MHBIA/EOH | 100.0 22.1 3.9 0.0 5741 2.1 0.0 7.3 0.0 75 0.0
s20Y 100.0 17.6 0.0 0.9 69.9 4.3 1.4 1.7 0.0 43 0.0
Jls/I1A 100.0 17.7 8.6 6.7 58.8 8.2 0.0 0.0 0.0 0.0 0.0
=3 100.0 47.3 7.0 3.3 393 0.0 0.0 0.0 0.0 3.0 0.0
= = 100.0 40.9 0.5 6.8 45.0 3.5 0.0 1.0 1.1 1.1 0.0
= Al 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
= = 100.0 38.7 1.3 9.7 4338 3.2 0.0 1.0 0.0 2.1 0.3
<ASHEY>
508t 0|2 || 100.0 48.2 0.0 4.4  43.9 1.1 0.0 0.6 0.0 1.8 0.0
50~1008H || 100.0 38.4 1.0 3.4 49.0 3.7 0.9 1.1 0.0 20 0.6
100~2008+=2 | 100.0 29.4 2.7 10.3  48.9 2.8 0.0 1.5 0.0 45 0.0
200~3002t= | 100.0 22.4 6.3 9.6 422 1.4 0.0 8.1 0.0 0.0 0.0
300~4002t& | 100.0 0.0 0.0 37.2 628 0.0 0.0 0.0 0.0 0.0 0.0
400~6002t2 | 100.0 20.2 0.0 0.0 54.0 25.8 0.0 0.0 0.0 0.0 0.0
6002t 0|4+ || 100.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0
¥ =X . 20154 = Al AR R AL
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[E 7-4-3] QIS0 A= odHS (S : %)
282
= S8 g IE2Z | ABIOIAL 2d
2+ = y | FRHL | iU mJ_am A2 | == *;— ;;0"2'7';' a4 =8 | ==X |
olzg | mgol | T _ 2R | a2 | ' en HHIA | Alg 2=
sorm asS =0 o3t .
20154 100.0 20.8 1.8 85 324 148 0.3 6.6 3.9 10.9 0.1
s g 100.0 16.7 1.7 1.3 373 14.4 0.4 6.5 2.2 96 0.0
s g 100.0 30.3 2.0 20 21.0 15.6 0.0 6.9 7.8 141 04
<ddE>
=S\ 100.0 18.8 2.7 8.8 30.3 11.9 0.0 9.2 4.5 13.8 0.0
o X 100.0 22.1 1.2 83 338 16.8 0.5 4.8 3.4 89 0.2
<stEE>
=Z0|5t 100.0 22.3 1.6 8.2 328 16.2 0.3 4.9 3.2 10.3 0.2
n = 100.0 10.2 1.9 123 356 8.2 0.0 11.0 10.4 10.3 0.0
=0l A 100.0 18.8 45 55 15.9 47 0.0 26.3 0.0 242 0.0
<BSKEE>
X o & 100.0 21.4 1.7 55 33.0 17.0 0.0 6.4 3.6 1.4 0.0
b Al 100.0 10.3 0.0 10.8  39.1 10.3 0.0 17.6 5.1 6.8 0.0
M 2L 24| 100.0 14.9 0.0 47 39.0  32.1 0.0 2.3 4.8 22 0.0
<HAdE>
H=2/&e 100.0 0.0 0.0 16.8 16.8 0.0 0.0 33.5 0.0 32.9 0.0
A 2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AH|A/ZHOH | 100.0 12.5 0.0 0.0 245 19.9 0.0 1.9 3.6 275 0.0
s20Y 100.0 28.4 0.0 0.0 235 15.1 0.0 10.9 5.6 16.5 0.0
JIs/I1AH 100.0 37.0 0.0 103  11.0 21.3 0.0 10.3 9.9 0.0 0.0
G2 100.0 8.0 3.4 7.5 498 1.4 0.0 4.3 0.0 15.6 0.0
= B 100.0 23.4 1.0 123  36.8 3.5 1.2 6.0 4.3 1.5 0.0
st M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
(SN 100.0 19.7 2.8 10.2  33.0 19.9 0.0 4.4 3.5 6.3 0.3
<ASE>
508k=21 0|2 | 100.0 21.4 0.0 57 39.0  26.0 0.0 2.4 5.0 0.7 0.0
50~1008t2 | 100.0 20K 2.1 36 347 216 0.0 5.7 2.9 7.2 0.0
100~2002+2 | 100.0 23.1 1.6 71 328 7.4 0.0 5.4 47 17.9 0.0
200~3002t2 | 100.0 4.1 3.3 10.3  30.8 12.4 0.0 9.6 3.3 26.1 0.0
300~4002t2 | 100.0 18.6 0.0 0.0 0.0 37.2 0.0 22.1 0.0 221 0.0
400~6002t2 | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 65.6 0.0 34.4 0.0
6002t2l 0|4t | 100.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0
% =X : 20159 04 Al ALEI R AL
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[E 7-5] d556t= &l Y (2 : %)
3z = 2o
VES 3% & NeiE
S - p] o o (HE, g2, DI
(2X) (427 5) oo =)

20154 100.0 15.4 35.0 49.1 0.5

= 2 100.0 13.3 36.4 49.7 .6

=R 100.0 23.6 29.5 46.7 A

ZER

2 X 100.0 15.6 33.9 50.0

6 X 100.0 15.1 36.2 48.2

NEER

15~29Al 100.0 7.3 43.3 47.9 1.4

30~39Al 100.0 7.9 39.6 52.2 0.3

40~49A| 100.0 9.4 39.6 50.4 0.5

50~59A 100.0 15.4 34.0 50.6 0.0

60AI 0] &t 100.0 31.4 22.3 46.1 0.2

65M10] & 100.0 34.6 19.9 45.5 0.0

<stag>

SZE0I5t 100.0 24.9 29.0 45.7 3

) £ 100.0 11.3 35.6 52.5 e

CHE0l 4t 100.0 8.6 41.8 491 .5
<HREE>

NIV S| 100.0 21.6 28.7 49.4 0.4

Tl Al 100.0 12.1 17.6 70.3 0.0
M 2 2 100.0 11.6 40.7 47.2 0.5

<>

HE2/2E 100.0 7.1 37.0 55.8 0.0

At 2 100.0 6.6 32.1 60.0 1.3
M| A /Y 100.0 11.0 40.5 48.3 0.2

80 100.0 35.0 18.6 45.6 0.8

/1A 100.0 1.7 39.0 49.2 0.0

HelP 100.0 24.4 32.5 43.1 0.0

=5 2 100.0 15.8 35.6 48.0 0.5

g A 100.0 7.4 41.3 49.5 1.9

£ 3 100.0 24.3 30.3 45.4 0.0

<ASE>
508+ D] 2t 100.0 31.3 27.4 41.3 0.0
50~1008H2 100.0 28.0 28.5 42.7 0.8
100~2008+H& 100.0 22.5 31.6 44.5 1.3
200~3008+& 100.0 12.3 27.3 60.1 0.3
300~4008+& 100.0 10.6 38.5 